Improve the Sentences

Directions : A sentence/a part of the sentences is
underlined. Four alternatives are given to the underlined
part whichwill improve thesentence. Choose the correct
altemative and click the button corresponding to it. In
case no improvement is needed, click the button
corresponding to "No improvement".

1. Sheand Dad would has had loved Amit.
(a) has loved (b) have loved
(c) to loved
SS.C. 3FeTs Fe W (1) 20 3FRd, 2017 (193

(d) no improvement

Ngiba el 'has had loved' § 19 WX 'have
loved' &1 WA 3@ 8 R She and Dad, Plural
Noun 2 gafarw Plural Verb &1 R S Brl

2. Someonemust being killed.

(a) have been (b) has been
(c) been
SS.C. JFeT3H e ¥ (F1) 20 37, 2017 (111-78)

TTN (a)

(d) no improvement

N@ifed 9T 'being' § M WX 'have been' &
EPRAS Rl

PIsd H AU TY qrE 'seen' (Verb 'see’ & Third
form) $ IM TR Verb ¥ First form 'se¢’ 1 WA
I =l

5. 1had afeweggs in the fridge, so we need to go to
themarketto buy them.
(a) alittle (b) ew
(c) little (d) Noimprovement
SS.C. s FIe W (BI) 8 37, 2017 (1-9d)
SR (b)

B aERl Adjective 'a Bw' (FB) F WM W
'ow' (8 1) o1 1AM ST R Adjective 'fow' T
3R Bl ¥ ‘P8 I, afew I 3R B & IV,
3R the few &1 ITI B & 'S B ST’ 39 Tg
W g &gl ‘$B’ 3R B - IR B, 98 ' a few’
1 AR M1 ARY AR STel '$B 91 &1 orf 31 dm
X BT qgT 'ow' BT TN BFT ARYI SRAGEE
fow & 951 a ow (T1@0 H T I g8 B) IU@T afew
F 981 ow I M I § A B B gRE A
gl 7 e

6. Mybrother is indifferent about whateverl say.
(a) in (b) of
(c) to (d) No improvement
SS.C. 3FeTsA ¥Ie WM (EI) 8 3FRa, 2017 (193

3. Whyshould we bothered?
(a) bother (b) bothering
(c) to bother (d) no improvement
SS.C. IFeTs Fee W (EI) 21 3R, 2017 (111931

TTx (a)

IR (€)

N@ifhd qEe Preposition 'about' $ XM WX 'to' &
A S B
Adjective 'indiferent’ (ofien follo wed by 'to")

showing no care or concem; uninterested.

Ex. Hewas indiferent to my pleas.

Niihd I Past Tense @1 Verb 'bothered' (Pas-
sive Voice) ¥ %19 TR Present Tense @ Verb 'bother’
(Active Voice) I TR 3frd 3

4. TIabsolutely mustseen him, howevar painful it may
befor me.
(a) saw (b) seeing

(c) see (d) no improvement

SS.C. 3FeTs Fe W (FI) 21 3R, 2017 (1193

TTX (©)

7. Shewasuneasy because she neverbe on aplane
before.
(a) had never been (b) never been
(c) is never been (d) No improvement
SS.C. s FIe W (EI) 18 3R, 2017 (1-9d)

TN (a)

Nifbd a1 'never be' § WIH W 'had never
been' &1 TN 3fAq Bl If® a7 Past Tense H T,
AT Verb &1 9al U 'had never been' SuGh IR
gl
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8. Noone knows how heescaped dash topieces.
(a) being dash
(c) dashed
SS.C. 3FeTsH ¥Ie W (FI) 18 374, 2017 (1-9d)
SR (b)

(b) being dashed

(d) No improvement

N@ifed aEare 'dash' $ 9 TR 'being dashed' &1
i 3 R

11. I had not only helped her by giving hints b ut also

with providing himlinks.

(a) helped not only to her by

(b) helped her not only by

(¢) not only helped her

(d) No improvement

S$S.C. s ¥ W (D)5 3FRd, 2017 (119
SR b)

9. All was surprising to find that h e was not with
them.
(a) was surprised (b) were surprised
(c) is surprised

SS.C. 3FdsT ¥ WM (EI) 17 3R, 2017 (III-93)

(d) Noimprovement

SR b)

N@ifdd qEaY 'was surprised’ $ M TR 'were sur-
prised &1 TAFT Sfad g1 'All' ST AW Singular 3R
Plural S TR ¥ 2T ¥; SRe

Allis well. All are wdl.

All is well thatends well.

All that glitters is notgold.

o9 are ¥ Al BT TN ‘everything' % 3R H Th
THS $ WY H g3 T $9faT Singular Verb &1 WamT
&1 Bl 9w B % 519 ALl 31 AR 'all men' A
'things' A B, @ Plural Verb &7 TN 3_AT 9IRY,
IR o1 "all' o A ‘everything' A1 'whole' A8, T
Singular Verb &1l 31d: 'all ofus knows' TR1T 'all has
gone away' 3R[g dAI g, 919 'all is not yet lost'

NE=

N@ifhd 9@ 'not only helped her by' $ 9 W
'helped hernot only by' & war 3fa Bl 35 W
I © Sl SITST (pair) 6% a8 # UFeh old & <RIl
Conjunction &1 BRI @ §, Correlative FgaTd &l A
g either ..... or, neither...... nor, both ........ and, not
only ........... but also 3NR| ATEH ST¢ TIA G kT H
o6 RIF (position) UX €9 G ey, ®id Mg
2 & T A & ¥R & A fSORT Part of Speech &1
TN 3T 81, Tel TR WFT $ |l |1 Ugeh el eyl
IS T& F1 WIF Noun § Ugel B, I GAX &1 I
Noun & F Ugal 8FI dIRY, Verb A1 Adjective &
gl el S UeR IR TF F1 I Verb & Tl B,
@ TR F RIF 9 Verb B F Ugcl 8F1 AR

12. We has finished our lunchhalf an hour ago.
(a) finished (b) will have finished
(c) had finished (d) Noimprovement
SS.C. ST FIB W (D)5 3R, 2017 (I11-9d)
T (a)

3red § feU U 91 'has finished' & Y9 TN

'finished' (Past Indefinite Tense) T R 3RIT 2

10. Read in orderbecone wise.
(a) to have to be (b) to have become

(c) to become (d) Noimprovement

SS.C. I3 e ¥ (EI) 17 37, 2017 (111-78)

TR (©)

N@ifhd 9@ 'become' F ¥IF U 'to become'
TR 3fd ®I Phrase 'in order to' T Ty g (Prepo-
sition; ©llow by aninfinitive) purpose of; TI™ ‘&
Jewy |

13. Sheis the best and wisest girl in the class.

(a) best and wisest

(b) abest and a wisest

(c) the best and the wisest

(d) No improvement

SS.C. 3Fs ke W (EI) 8 3T, 2017 (11-9d)
TR (¢)

Niidhd I 'the best and wisest' & M TR 'the
best and the wisest' @ IR SRIA R 7= T & IR
9gd ¥ Adjectives @I 'and' §RT ST ST ol I |
P UHIAN 'Degree’ W & ATl §9 a0 H
Adjective & 12T Superlative Degree (the wisest)
FT T A NS 2
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14. Thepeopleof Japan arewiser than America.

(a) wiser than that of America
(b) wiser than those of America
(c) wiserto that of America

(d) No improvement

SS.C. ST ¥ W (EI) 8 3R, 2017 (11-93d)

Ngifdd T 'wiser than America’ & 39 UR 'wiser
than those of Am erica’ &1 TRW Sfad 8 e g &
ST &I Al 31 9GS & Y Comparati ve Degree
F TAN B, A S ARKAT AT GG B WL T
I H G AUl V¥ qr|d] TS AR A avg B
'than' & gd ¥ YW@ ST 8 AR A I 'than' & d1G;
SR¥ The climate of Allahabad is better than that of
(orbetterthan the climate of) New Delhi. Igi &1 =Sl
FI GoFl &1 7§ & Allahabad @1 Climate 3R New
Delhi &1 Climate 3R @81 RN g & 9 Qi #
Allahabad T Climate New Delhi & Climate 31 3%
35T Bl Ife 29 39 9179 91 39 UeR g -

The climate ofAllahabad is better than New Delhi.
@ IR ITH AYg BT RS SR U1 UAT & V=T R
& Allahabad $ Climate & gl &4 New Delhi
(New Delhi & Climate ¥ 7)) ¥ 91 7§ gl 59 9187
31 BR R T uadd Bt

I Yg I B

The people of Japan are wiser than those of (or wiser
than the people of) America.

15. Thechaimman app ointed her asa secretary as she

is efficient.
(a) a secretary (b) as secretary
(c) secretary (d) Noimprovement

SS.C. IS e W (EI) 8 3Fd, 2017 (11193

TR (©)

@i @I 'as a secretary' % UM TR 'secretary’
% 7 3fad Bl The indefinite article'a’ i s not usu-
ally used in the complement ofa sentence when we
want to say that someonegained some position even
though it's the only positi on in the organization. In
this sentence, 'appointed' is used as a verb (it's an
adjective as well) and thus does not take 'as', "to
appoint" does not require (and, in fact, is usually
not used w ith) the prepositi on 'as'. Td ¥ AN 7 34
U &1 el SR A (d) AM 'No improvement'
AT o1 U 3O WRNRT SOR-0Td H fdged () I
| SR AT 2

16. I wishI (was)asuperman.
(a) an (b) have been
(c) were (d) No improvement
SS.C. 3T e WM (EI) 8 3R, 2017 (1193
SR (9

N@ifhd aTFaTer Singular Verb 'was' & %19 TR Plural
Verb 'were' T WM Sfad 81 7@ f& Subject T
Singular Number (V&a@) 7 & Subject-Verb Agree-
ment & FIAFAR Singular Subject & T Singular
Verb 1 & TN W1 ST & URY S A1 H Jaeaay
Subjunctive Mood BM § BRU SR aId A BRI
FA A T (wish, supposition, condition) 31
YHR F G UHS BM & BRYT Singular Subject &
o 1 Plural Verb (Il 'were') &1 TART [5T STQT;
-

I wish I wereaking.

IfI wereyou, I would doit.

I'wish it were possible.

g 9191 # Singular Subject F 3T Plural Verb 'were'
3T TAR GRN B, o & g § |fe 3 O aiferm
(wish) 31 $GT (supposition) F HId UHS B §
Rl gRT oRi9a gl SO 98 ¥ Bl & 6 9/ |
PRI FO FT 9@ ThS BF TR (fact 7&1) Rule of
Agreement &1 Subject R Verb ¥ We®T S — S
P — P &1 99 181 9Tl § MR Singular Subject &
w21 4 Plural Verb &1 TR f&a1 S @

17. Thedoctor has advice him to takeproper diet.
(a) has advised (b) had been advised
(c) was advised (d) No improvement
SS.C. 3T ¥ WM (EI) 9 3FT, 2017 (1I-9a)
TN (a)

ifhd IR 'has advice' & M TR 'has advised'
P TN Sfad ® ®A® has & A Verb & Third

Form &1 TR &1 ST Bl

18. Being a pleasant evening, wewent out for along

drive on a highway.

(a) As apleasant evening

(b) It being a pleasant evening

(¢) With a pleasant evening

(d) No improvement

SS.C. 3T ¥ WM (EI) 9 3FT, 2017 (11-Ua)
SR b)

@i TEaTeT 'Being a pleasant evening' $ IeIM UR
't being a pleasant evening' T TIFT 3fd Bl
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19. We arelooking forward for a positiveresponse

fromyou.

(a) are looking forward to

(b) havebeen looking forward at

(c) should look forward at

(d) No improvement

SS.C. g FIo W (EI) 9 37, 2017 (HI-9d)
TN (a)

N@ifed aEard 'are looking forward for' F M W
‘are looking forward to' &1 TAFT 3T B

Phrasal Verb 'looking frward to' T T - expect
something to happen.

Ex.

Motor traders are_looking forward to a further in-

crease in vehicle sales.

20. He promised to mend his ways.
(a) had apromised to mending

(b) promised for mending

(c) was promised of mending

(d) No improvement

SS.C. 3T el WM (BI) 9 3R, 2017 (1193
SR d)

I H GIR BT AaWEA Tel gl

21. May be they has had afight.
(a) were had (b) was having
(c) were having (d) noimprovement
SS.C. 3FeTgA wIm W (FI) 19 3FRa, 2017 (11198

TTX (©)

N@ifed aEdrd 'has had' $ M TR 'were having' 31
T S Rl

22. Wewouldn't wantthem to think wedoing anything
immoral.

(a) was doing
(c) done (d) no improvement
SS.C. 3FeTs Fee W (EI) 19 3R, 2017 (I1193)
SR b)

(b) were doing

NEiHa I verb 'doing' § M TR GRS fHar
'were' & 12T 'doing' I 'were doing' BT TN 3fad
B RF Subject (we) Plural 7 3

23. Tompretended to not heard athing.
(a) hear
(c) be hearing (d) no improvement
SS.C. IS I W™ (D) 21 3R, 2017 (193
SR (%)

(b) hearing

39 U 31 FegU A §Y HHANT T3 MR (SSC)
« 3 AR STR-UFE (Revised Answer Key) #
T U F1 Py § SR & Te g g AN 9y

TSR T A 3% (Benefit to all) U&H & Bl

24. He must has change clothes during the night.
(b) has changed
(d) no improvement

(a) have changed

(c) have changes

SS.C. 3T e W (BI) 21 3FRd, 2017 (1)
ST (a)

WGiHd aEITeT 'has change' % %I WX 'have changed'
1 TN S 2l

25. 1should has © be with them tonight.
(b) have been
(d) no improvement

(a) has been

(c) been

SS.C. 3isT T W (FI) 21 3FRd, 2017 (11-9d)
SR ()

i IR 'has to be' & ¥ WX 'have been' &

=M Staa 2l

26. He must not to beleft likethis.
(a) being left (b) been lef
(c) be lef (d) no improvement
SS.C. 3T FIH WM (EI) 21 3FRd, 2017 (I1-9d)
S (9

Nifhd IR 'to be lef! & MM TR 'be lefl! I TAM
sfaa =l

27. Theshoes were very expensive;I couldn't afford

tobuying them.
(a) buying (b) to buy
(c) bought (d) no improvement

SS.C. IS FIB W (FI) 20 3FR, 2017 (1193
TR b)

WEHd @I 'to buying' % ¥ WX Verb 'buy'
Infinitive form 'to buy' &1 AN S Bl
To not be able to giveup orjeopardize so mething,

often having to do with a lack oftime or money.

28. Afterthey had finished eating they wentfor a walk.
(a) noimprovement  (b) have finished
(¢) finish (d) willfinish
SS.C. 3FicTs FIe W (1) 20 R, 2017 (11-93d)
SR (a)

IR H GIR T AaEd Tal gl

S.S.C.

(650)

English Language



29. Iwould lovetocome toyour party! Thank you for

invites me.
(a) invited
(c) inviting

(b) invite

(d) no improvement
SS.C. 3FrTsA e W (1) 22 3R, 2017 (11-93)

SR (0)

N@ifed a@dd invites' (Present Indefinite Tense) &
M R Verb 'invite' 1 gerundial orm 'inviting' 1
T Sfa Rl

30. Itmust being quite an exdtingtimeto bealive.
(a) has been (b) have been
(c) been (d) no improvement
SS.C. 3T e WM (EBI) 22 3R, 2017 (1193
SR b)

N@ifed 9T 'being' § M UR 'have been' &
ERRAS ERIY
31. Myboss suggested meto take a off.
(a) that I should takea (b) that I should take an
(c) metaking a
S.SC. SFTE Hee! ST (MIT.S) 19 RFRR, 2017 (1-w¢)
W b)

(d) No improvement

it TR 'me to takea' & ¥IF WX 'that I should
take an' $T WA I Bl Transitive Verb 'take
something off &1 Y 2 To havea particular amount
oftime away from work; to spent time away from your
work; leave; go away; to have a holiday from work on
aparticular day, or for a particular length oftime; stop

working temporarily.

32. Hecomplained of havingharassed by the courtof
law
(a) harassed
(b) been harassed
(c) having been harassed
(d) No improvement
S.SC. FFIBT Heel <SRBT (MIT.S.) 19 ¥R, 2017 (1-w%h)
SR ()

NEifhd Al 'having harassed' (having + past
participle) &% %I TR 'having been harassed' (having
been + past participle) ST TN 3fad 81 Perfect
participles &1 WAFT Active Voice Td Passive Voice
T & fag fear s R

Ex.

He didn't harass the court oflaw. He was harassed by
the court oflaw. Ig Passive Voice TET

Ex.

He said, "I have been harassed by the court oflaw.
We can report this sentence in two different ways :
He said/complained that he had been harass ed by the
court oflaw

Instead ofa that-clause, we can use a participial phrase.
Ex.

He complained of having been harassed by the court

oflaw. (Not He complained ofhad been harassed by
the court oflaw).
Any verb form used afer a preposition should be in
the - ing form. The - ing form ofhad is having.
Ex.
I have been 'cheated' said Aditi.
We can report this sentence in two ways.
Aditi complained that she had been cheated.
Or
Aditi complained of having been cheated.

33. Being a cold day, we cancelled our picnic.
(a) It being a cold day
(b) It having been a cold day
(c) It been a cold day
(d) No improvement
S.SC. SR Hee! SIRPT (MIT.S) 20 ¥R, 2017 (1-weh)
TN (@)

GidHd qTETeT 'Being a cold day' & I TR 'It being
a cold day' ¥ TN 3Ry 3

34. My daughter has a habit of eating home-cooked
food.
(a) picking home-cooked food
(b) bulging home-cooked food
(¢) hoggering home-cooked food
(d) No improvement
S.SC. JFFIET He<! SIRaT (MIT.S) 20 ¥R, 2017 (1-w%h)
SIR @)

I H GIR BT AaEA Ta B
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35. Capabling customers to discover thebest life style
product.
(a) Developing (b) Enabling
(c) Capturing (d) No improvement
S.SC. 3FFIBT Weal ST (MIT.S) 17 %R, 2017 (1-w%h)

FAX b)

GIdHd AT 'Capabling' % %I TR Verb 'Enable’ &t
gerundial form 'Enabling' (373 S, S&TH 911, 9
1) &1 R SR Bl Verb 'enable ¥ A -
'making something possible, especially by giving
someone the skills to doit.

36. I alled you, and youdidn'tpick thecall.

(a) so (b) for

(c) but (d) No improvement
S.SC. 3FeTRT Wed) ST (MIT.S) 17 f&FR, 2017 (1-91)
ST (0)

Y@ifhd Noun 'efect’ (WHd, 3RR) & WM TR Noun

'test' (URRTVT, ST, B, TRET) 1 IR Sfd B

39. I spoke to myall friends and finalised theplan.
(a) my every (b) every my
(c) almy (d) No improvement
S.SC. 3Fieg wiecl ST (MIT.S) 18 RFR, 2017 (1-91)
SR (0)

@it arFaTer 'and' (Conjunction) & 39 WX 'but' 3
T <R B Conjunctions 'and' I 'but' BT YA QI
P (statements) D SIS & o fHar < 313
Coordinating Conjunction &geTd gl 'and' $T TR Q1
M HF (similar statements) @1 SIS+ & fay fe&am
S g, ST4f® 'but’ FT1 TAF 1 AUT @ERT (opposite
ideas) aTdl HF BI AM¥H I & Ty fHam S ®;
M-

I called Ram, but he wasn't home.

37. Thesereipes are delicious, overtly popular and
S0, S0 easy to prepare.
(a) widely
(c) majody

S.SC. IFTET Wee! ST (MIT.S) 16 RFRR, 2017 (1-T)

SR @)

(b) overly

(d) Noimprovement

@it 9T Adverb 'overtly' (without concealment
or secrecy; openly, (GooFged], UdHc) & WM W
Adverb 'widely' (7% w9 ¥, 987 IWP, §I-q3 IP)
% AN S B

38. Inthe aftermath, you will have alitmus effect for

all the people you know.
(a) paper (b) afect
(c) test (d) No improvement

S.SC. ST Wee! ST (MIT.S) 16 R¥FR, 2017 (1-w)
TTX (©)

NI TR 'my all' & I TR 'all my' F1 TR 3fRaa
2l 'my all friends' means that you have something
called 'all friends'. Before a noun with a determiner
(articles, possessives or demonstratives) all and all of
both are possible;_as
I haveinvited all my friends.
All my friends have been invited.
All is used before uncountable and plural nouns.
Ex.

All my children.

All my fiiends.
'All' BT TRFT T determiner & w9 ¥ far gl ALl
FIA@d & 'everyone', 'the complete number or amount'
or the whole'. Weuse it most ofien as a determiner.
We canuse a countable noun or an uncountable noun
afer it.

Ex.
All my friends are away at University.

40. Thehigher the demand, the morethe prices.

(a) great
(c) high (d) No improvement
S.SC. 3Fieg wecl ST (MIT.S) 18 RFR, 2017 (1-91)

(b) the greater

SR (b)

NEifhd aTAMRT 'the more & I WX 'the greater J
LR ERSIERRY
Comparison and contrast are expressed by the use of
the...... the ..... with comparativeadjectives in parallel
clauses. This structureis used to show proportionate
increase or decrease.
Structure : the + compaative adjective + dause + the
+ comparative adjective + clause.

Ex.

The richer o ne grows, the greater one's worries.

The higher you climb, the colder it gets.

S.S.C.

(652)

English Language



41. Wesat on the floorto eat dinner and heappreciate
thefresh food my mother served.
(a) had appreci ated
(c) will appreciate (d) no improvement
S.S.C. 3FgT CHSL (T-1)4 5, 2018 (I-91)
S b)

(b) appreciated

46. Many novelists from the sub-continent has
provided scathing accounts of this period.
(a) have provided (b) have provide
(c) have provides (d) no improvement
S.S.C. 3BT CHSL (TI)8 Ard, 2018 (I-weh)
ST (@)

i TR "appreciate’ (Present Indefinite Tense)

$ WM W 'appreciated’ (Past Indefinite Tense) &
7 3 B

42. We sat there enjoy theview.
(a) enjoyed (b) enjoying
(c) enjoys (d) no improvement
S.S.C. 3BT CHSL (T1)4 5ird, 2018 (I-u)
S b)

V@ifhd ard@E 'enjoy' $ AN TR Verb 'enjoy' d
gerundial form 'enjoying' &1 AN I Rl

43. Thetrickis in keep the flavours simple and freh.
(a) keeping (b) keeps
(c) to keep (d) no improvement
S.S.C. 3Fetgt CHSL (T-I)6 9, 2018 (1-T8)
ST @)

YEifhd qEY 'keep' & WIF WX 'keeping' T TN
3Ifad Bl 'in keeping' &1 TIE@Y B agreeing with or
sharing important qual ities with something.

44. Yes,amazng things has happen with thelaunch
of the intemet.
(a) is happening (b) had happen

(c) have happened (d) no improvement
S.S.C. 3BT CHSL (T1)6 5rd, 2018 (I-u)

TN (©)

Ngiihd aredTer 'has happen' & %I WX 'have happened'
1 TART Sfad B 9% 9197 F1 Subject 'amazing things'
Plural Number # ® S9N ¢ 121 Plural Auxiliary
Verb 'have happened' &1 TaW 3faa g

45. Thus we going back to what might be termed as
old values.
(a) went (b) gone

(c) was going (d) no improvement
S.S.C. 3BT CHSL (T1)8 5ird, 2018 (I-uk)

TTN @)

Eifhd T 'going' & IM TR Verb 'go' @1 Second
Form 'went' & 937 34 2l

g TR 'has provided' & %19 UR 'have provided'
1 7R SRIa Bl 9f& a@d 7 Subject & wY H 'Many
novelists' (plural) & WA a1 71 1 Subject-Verb
Agreement & YR, Singular Subject & W
Singular Verb &I Plural Subject & 12 Plurd Verb
31 TN BT ST g

47. Itmust 'hasstarted' when I waseightornineyears

old when the curse of cursive writing struck me.
(a) have started (b) have start
(c) have starting (d) no improvement
S.S.C. 3Fetgt CHSL (T-I)14 9, 2018 (1-vh)
SR @)

Nifbd aTediel 'has started' $ %9 T¥ 'have started'
% TN S Bl

48. Thestove tolit using a matchstick, each wicklit

individually.
(a) werelit (b) arelit
(c) was lit (d) no improvement

S.S.C. 3FegT CHSL (T-I)14 9rd, 2018 (1-78h)
TR (©)
NiRbd T 'to lit' & ¥ TR 'was lit' &1 TRV S
Bl T2 Infinitive 'to 1it' & T TP [T 'was lit' &7
T 2H TRl

49. Thefootpath had been hijacked by giganticblue-
and-greenbarricades.
(a) havebeen hijacked (b) havebeing hijacked
(¢) had been hijacking (d) no improvement
S.S.C. 3t CHSL (TI) 11 9/, 2018 (1-7%%)
IR d)

IqH H R BT AaFA Tal 2l

50. Needless to say, cooking has become easier now.
(a) is become (b) has becoming
(c) have become (d) no improvement
S.S.C. 3t CHSL (TI) 11 9/, 2018 (1-78h)

TR d)

I H IR B awEd Tal gl
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51. Eithershe orher friends have planning tocome
here.
(a) is planning (b) has planning

(c) are planning (d) Noimprovement

$S.C. 3FdsA wiumx @8 A T ‘Sr) 13 ’RR 2017 (1-ad)
TR (€)

@d aTRRT 'have pl anning' & %19 TR 'are planning'
F1 T RId Bl Subject-Verb Agreement &1 7 g
& ofs M=H-¥=1 Number (@@7) % Nouns 3 Pronouns
@ or, nor, either. ... or M neither ... ..... nor g1 3T
(separate) f3=1 ST, A SaH Plural Nouns or Pronouns
(&t 'her friends') @1 W SIGT § AT Verb Fa-i ol d
91 Noun or Pronoun & ¥R Ug®H &1 il g;
M-

Neither the girl nor her parents are to blame.

3 fa®ed (c) 'are p lanning' &I SR Bl

T H R ¢ JELIHAT el ol T g B A g H
Comparative Adjective (I 'thicker' 9ol ¥ 'thick’)
B AR &A1 RIS (39% ™ B ', 'er, 'more, 'less'),
o g9 U Conjunction 'than' I TN FT 1RY,
from 3T & il TH Syllable & Adjective & 1 'r'
I 'er'’ B qA W 3 3% Syllable F Adjective &

T 'more' Ul 'less' TRMHY Comparativ e Degree 14
SR %; R

Shyam is better than Ram.

54. Shehas worked really hardly and has no issues

with fitnessor her game.

(a) so hardly (b) really hard

(c) real hardly (d) No improvement
$S.C. 3iers wwER @8 8 w6 Sr) 13 R 2017 (-9
SR (b)

52. L you and she are thebestbrains here.

(a) You, sheand I (b) 1, she and you

(c) She, youand I (d) Noimprovement
SS.C. diFersd wumER @8 & 76 Sr) 13 ’RRRR 2017 (198
SR (a)

@b aTFTen ', you and she' $ M R 'You, she
and I' 3T 79 3fad Bl Subject-Verb Agreement &t
IRLE %’ & I T ¥ - Persons $ Nouns I
Pronouns 9gh gU g, O 9e UgeT Second Person
3T 2 3R 99F 91 Third Person @1 3d § First
Person 3RIA 2, 3, 1; 9%

Correct : You, heandI are going.

Incorrect : I, you and he went there

Incorrect : I and you are fast friends

Correct : You he and I went there

Correct : Youand I are fast friends

e :

A IR B JRE A A 3 DR B S, A
W 3RV BI gfte W AWM First Person @ Il Sl
Nl %; SRY

Tand he are guilty.

NEifhd TR 'really hardly' & %9 WX 'really hard'
F1 WA ST B T& 'really' Adverb ¥ R 'hard'
adjective & %0 % Ugeh &l The problem with 'hardly’
is that it looks like an adverb (quickly, slowly) formed
from an adjective. But hadly is not the adverb ofhard.
Hard can be both an adjective and an adverb.

Ex. Diamonds are extremely hard stones.

55. You arerequested to be through the safety tips
and follow thesamewhile usingit.
(a) to been over (b) to went throughout
(c) to go through (d) No improvement
SS.C. dFersT TR @8 & 76 Sr) 13 fRRR 2017 (19

SR (¢)

I ATRIRT 'to be through' & I TR 'to gothrough'
BT TN 3 31 Verb 'go through' &1 &Y & undergo;

search through or examine methodically.

53. Blood is thickerthan water.

(a) then (b) when

(c) more than (d) No improvement
SS.C. 3FrrsA wREER (8 & w8 Sr) 13 RB&= 2017 (1-93))
SR d)

56. We are hope you find the process ex tremely useful
and convenient.
(a) hope you (b) are in a hope
(c) hoping (d) No improvement
$S.C. 3Fds wiumx @8 8 T ‘Sr) 13 RWR 2017 (1-9d)

TR (a)

ifhd T "are hope you' $ 39 WX 'hope you'
31 TN S 2l

S.S.C.
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57. The government was planning but I not sure

whether it will happ en now.

(a) ITwillnot be (b) Tam

(c) won't I be (d) Noimprovement
$S.C. SiFers TR @8 8 T 3Sr) 13 &R 2017 (a8
SR b)

Nifhd el T $ ¥ UR 'Iam' &1 WA SR 2

58. It was atobe asister conpany of ABC Group of
Companies.
(a) is a concerned
(b) was ato be twin sister
(c) is a sister concem
(d) No improvement
SS.C. s wmER 08 8 T ‘Sr) 13 fRR 2017 (1193
SR (¢)

giidhd aTedTeT 'was a to be a sister company' $ I
TN 'is a sister concem' &7 TR 3 2l 'sister concern'
I 9T & a company which is owned by the same
parent company as another company one parent
company can have one or many subsidiaries, which
all are sister companies to each other i dgdrdn
eer |

59. Theobjedive of the gameis to be the first one to

rae from startand end.

(a) start to end (b) start an end

(c) startover end (d) Noimprovement
SS.C. s wemmR @' A T Er) 13 &R 2017 (I-ad)
TR (a)

Nifbd a1l 'start and end' % YIH X 'start to end'
%7 TN S Bl Idioms/Phrases 'from start to end' &
AT B~ from beginning to end.

60. Theplayer who has throw the highest number

begins the game.

(a) who has throw (b) who throws

(c) who had thrown  (d) Noimprovement
S$S.C. 3FdsA wiumx @8 8w ‘Sr) 13 ’RR 2017 (1)
SR (b)

Y@d aTRRT 'who has throw' & %19 TR 'who throws'
1 AN Bl Subject-Verb Agreement & AR
I Subject THaTT (Singular) H &1, & THS A
Singular Verb (I&f 'throws') &1 TAF I

61. The bundle of coins were the only source of

information for them.
(a) The bundles ofcoins were the only source
(b) The bundles ofcoins were the only sources
(c) The bundle of coin was the only source
(d) No improvement
$S.C. 3iers wwER @8 A w6 Sr) 14 R 2017 (119
SR (a)

Eifbd I 'The bundle of coins were the only
source' $ M TR 'The bundles of coins were the
only source' 1 WM IRIT 2l dfd lida arearer J
Plural Auxiliary Verb 'were &1 TR a1 R gl 31
Subject - Verb Agreement & FRIMHER $HFT Subject
'bundle' (singular) % <4 'bundles (plural) FT AT

62. Nosooner do the phone ring than he was out of
home.
(a) did the phone rang (b) did the phone rings
(¢) did thephone ring (d) No Improvement
SS.C. 3iersT TR @8 ‘& 76 Sr) 14 R¥RR 2017 (119
T[T (©)

@ifhd T 'do the phone ring' & 1M WX 'did the
phone ring' &1 R E I e I I oot B o ol S | |
Adverb 1 Adverbial Phrases Hardly, Rarely, Scarcely,
No sooner I Never 3% I URY 81, O 9197 H AU
Auxiliary Verb &1 TR f&a1 ST g @RI 996 I3
Subject &I TR B gl 31 TgT 'do the phone ring' 7
9T 'did the phone ring' &1 TIF 3T BFTI

63. Twomore employeeswill be hiring by the company.
(a) be hiring (b) will be hired
(c) willhire (d) NoImprovement
$S.C. 3¥Fers TwER @8 ‘8 7 ) 14 &R 2017 (11-93d)
SR (b)

NEifhd aredi® 'will be hiring' (Future Continuous
Tense) & %I TR 'will be hired' &1 TI1 3T Bl

64. This modem furnitures will besold in the main
market.
(a) modem furniture will be sold
(b) modem furnitures will be selling
(¢) modem furniture will be selling

(d) No Improvement
SS.C. 3is weumR @8 A T Sr) 14 /R 2017 (11-9J)
X (a)
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NiHd e 'modern fumitures will be sold' & woI9
T 'modern furniture will be sold' & Ta7 Ifrd Bl
f179d: $B Nouns U & ™a1 Plural Form &l &
TN 3HOIY 's' A 'ies' RMHN S72 Plural (Igad) a1
3YE (incorrect) HMT STl gl 3 “W@iihd dTddRI H
Noun 'furnitures' 3RJg AT Bl TG "furnitures' b
oI "furniture’ &1 T3 ST AT

Note:

Ife VA Nouns &1 Plural Number ¥ %1 &R &1, @
I Ugol items of, articles of, pieces of I kinds of
IS BT TAFT F=AT A1

Ex.

I have s everal items of furniture.

65. Myboss have being given mea lot of work.

(a) was being given  (b) is being given

(c) havebeen giving (d) NoImprovement
SS.C. diFersd TR @8 & 76 Sr) 14 ¥R 2017 (11981
R (¢)

Y@ifhd I 'have being given' & IF WX 'have
been giving' (Present Perfect Continuous Tense) &1

T SR 2

68. Heea keep a eveon his son.
(a) kepta eye (b) keep an eye
(c) keeps an eye (d) kepta eyes

$S.C. 3iers wwER @8 ‘A w6 Sr) 14 RER 2017 (1198

[TX (©)

WEifhd I 'keep a eye' $ M UX 'keeps an eye
1 7arT 3fua R1df& a/@a H Subject 'Heena' Singular
Number # g, 31: Subject-Verb Agreement & R
IS Subject Singular Number # &1, @ Verb Singular
Number # 8F1 afRT 3R IfE Subject Plural Number
g, O Verb Plural Number ¥ g1 =IRTI 3d: Plural
Verb 'keep' & I WX 'keeps' F1 WIN 8 AMRY| a5
H 9% vrex 'eye vowel ‘e’ (R H'a1") ¥ URH I —1R
S Article & Rules $ IR &1 Article 'a' &
IO 'an' &7 WIRT STerd BTl

69. Why is your working goingon?

(a) Howis (b) Whatis

(¢) When is (d) No Improvement
$S.C. 3iers TwER @8 ‘A w6 Sr) 14 R 2017 (119
WX (a)

66. I wander about the stars up in the sky.
(a) wander for
(b) wonder about
(c) wander in

(d) No Improvement
SS.C. 3iFarsA wemmR @8 A T Er) 14 &ER 2017 (1193
SR (b)

i TR 'Why is' $ 9 TR 'How is' &1 TN

Sfra Bl

N@ihd @Y 'wander about' $ WM WX 'wonder
about' (RR¥T BM, Iadafea 891 &1 WFT Sfd B

67. Goto theright and ke@ ashaip left turn you will
reach the place.

(a) takea sharp leff turn
(b) do a sharp lef turn
(c) make a sharp lef turn

(d) No Improvement
SS.C. s weumR (8 A T Sr) 14 &R 2017 (1I1-9d)
TR (a)

i TR 'keep a sharp lef turn' & I TR 'take

a shamp left turn' a1 A SR 2l Ifyou turn sharp

lef or right, you make a sudden change of direction to
the lef orright.

Ex. You turn sharp right at the crossroads.

70. Packyour bags and come with me.

(a) Keep your bag

(b) Have your bag

(c) Unpack your bag

(d) No Improvement
$S.C. 3iers wwER @8 A w6 Sr) 14 KRR 2017 (119
SR d)

A H GIR I AaWFA ol gl Phrase 'pack your
bags' BT T@I g~ prepare for one's imminent departure;
to leave a place whereyou have been living, usually
after an argument; prepare to leave a place

pemmanent ly, especially afer a disagreement.

71. For the first time from 2009, fans in Pakistan

may have a reason to celebrate.

(a) first time affer (b) first time since

(c) first time along (d) NoImprovement
$S.C. ez wuER @8 & T Ir) 13 R 2017 (1ad)
W (b)
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Nifhd T first ti me from' $ M TR 'first time
since' T TR ST B Preposition 'since’ Td 'from'
I 2T BISRY '’ B § I 3961 AN Point of Time
F | {63 S 7l IRg $H SR I8 § P 'since
RN &9 Past Time 31 S & fou B ® iR gafog
9T ¥ Present/Past Perfect a1 Perct Continuous
Tense &1 YA Bid gl fd 'from' &1 TAFT F9T Tenses
$ e I SR gl

72. Gayle's call-up follows a relaxation in Cricket
West Indies criteria in ordery to be eligible for
selection.

(a) in orderto be (b) from orderto be

(c) ordering (d) NoImprovement

SS.C. s wemmR @8 A T Sr) 13 f&RY 2017 (1-ad)
TR (a)

Y@ifehd I 'in orderdy to be' & IIM UX
Subordinating Conjunction 'in orderto be' T TRl
3fed 8l we use'in order to' with an infini tive orm of
a verb to express the purpose of something. It

introduces a subordinate clause.

73. The patriots had a comp aratively modest start,

scoring as much 38in thepowerplay.
(a) scoring only (b) scoring enough
(c) but scores (d) NoImprovement

SS.C. s wemmR @8 A T Sr) 13 f&RY 2017 (1-ad)
TR (a)

N@ifhd T 'scoring as much' § M WX 'scoring
only' ¥ T¥A 3T =l

74. No sooner after she was jailed for her conviction
on corruption charges, they began taking keen
interest in her
(a) No soon afer (b) Soon afer

(c) Sooner afer (d) NoImprovement

S$S.C. 3FasA wiumx @8 8 T ‘Sr) 13 ’RR 2017 (19d)
SR (b)

75. Asking stock exchanges to examine possible
lapsesin their corporate governance.
(a) to testing (b) examining
(c) forexamining

SS.C. 3z wemmR @8 A T Sr) 13 &R 2017 (1-9d)
s d)

(d) No Improvement

I H GIR BT AaEA Ta gl

76. He isaKkilling combination of 1ooks and talent.
(a) isakiller (b) is akilled
(c) was akilling
$S.C. 3iFersT ¥uER @8 A T Ir) 13 &R 2017 (1-9d)
SR (a)

(d) No Improvement

i aTETe "is a killing' & I WX s a killer &
TR SRId & When aperson says akiller combination,

heis saying that it is an amazing combinati on oftwo
things together.

Ex. Wine and cheese area killer combination.

77. Theproject is running behind scheduleforaround
three years.
(a) in around (b) at around

(c) by around (d) No Improvement

$S.C. 3iFersT ¥uER @8 A T Ir) 13 f&FRR 2017 (19

WX (©)

Eifhd T for around' $ M U 'by around' &
RN e B

78. While themosquito which spreads chikungunya
and dengue, breeds on fresh water.
(a) breeds at
(b) breeds in
(c) breeds above
(d) No Improvement
SS.C. 3is wmmR (O A v Sr) 13 &R 2017 (1-9d)
S

i a1l 'No sooner afer § ¥IF W 'Soon
afer &1 TAM SRT 2FT JET 'soon' Adverb T, SN
Conjunction 'afer &) TSI ybe B Vel 2

Nifhd aTedel 'breeds on' % MM TR 'breeds in' &
T 3R 2| Tl Preposition 'on' & WM W 'in' Y§
TRIFT 2T

S.S.C.
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79. Theseincidents tend to pick-up post monsoon,
there could be urgent need to focus on preventive
measu res.

(a) there is an

(b) there was an

(c) there could havebeen an

(d) No Improvement
$S.C. AT wumR @8 8 W Sr) 13 fRR 2017 (1-9d)
SR (a)

Nifhd a1l 'there could be' & %I TR 'there is an'
P A S Rl

80. Asurprisingly high number of casesof the flu are

being seen this year.

(a) being taken care  (b) being witnessed

(c) being shown (d) NoImprovement
S$S.C. 3iFas wmmx @8 A T ‘Sr) 13 ’RR 2017 (19d)
SR (b)

N@d TR 'being seen' & ¥IF TR 'being witnessed'
F1 T SR 'l T8 Verb 'witnessed' (VHITPR @)1
g T R

81. Looking my bad mental condition, I went forward

forhelp and encouragement.

(a) Watching my bad mental condition

(b) Finding myselfin bad mental condition

(c) Seeing my bad m ental condition

(d) No improvement
$S.C. diFersA wuER (8 8 w6 Ir) 14 ’ERR 2017 (19
SR (b)

IGidd arETeT 'Looking my bad mental condition' %

WM I¥ 'Finding my selfin bad mental condition' &1
ER S ERi

82. Meditation have been the most eff ective way of
boosting concentration level.

(b) Meditation has been
(c) Meditation will be (d) Noimprovement
$S.C. diFersA wuER (@8 & w6 Ir) 14 ’ER- 2017 (19d)

SR (b)

(a) Meditation was

NEihd arEE "Meditation have been' % M9 UR
'Meditation has been' &1 WIFT 3fId Bl Subject-verb
Agreement & fRIAR FfH Noun 'Meditation'
Singular Number (T&aeH) ¥ g, 31: $9¢ A1 Plural
verb "have $ I TR 'has' &1 UIFT 2FT TRYI

83. Balanced diet comprises of water, roughageand
other nutritional value.

(a) Comprises water

(b) Comprises o fthe water

(c) Comprised ofwater

(d) No improvement
S$S.C. 3Fds wiumx (8 ‘A T ‘Sr) 14 fRR 2017 (1-9d)
SER (a)

Y& ITEIRT ‘comprises of water' & IF TR
'comprises water' & TAF IFIT Bl Verb 'comprise' &
IR 'of BT TAFT el &A1 STl gl

Ex

My name comprises 5 letters.

The farm comprises ten cows, threehorses, five sheep
and four pigs.

The library comprises (not comprises 0f) 500000 books
and manuscripts.

The play comprises three acts.

Collins, Merriam Webster & 38R 'comprised of &I
T dr I 2 % 'comprise of Ud 'comprises of
I 9@ § W Fegy B T & SR T MM
(SSC) &1 fawe (d) A 'No Improvement' 3RIfd
'comprises of water @1 Igl SIX AFIE oI & 7ok Bl
9 U P Fal IX [AH (a) AM 'comprises water’
B AR

84. One of the major drawback of cleanliness drives
is less action and more talks.

(a) One of the major drawbacks of cleanliness
drives is
(b) One of the major drawbacks of cleanliness
drives are
(c) One of the major weakpoint of cleanliness
drives is
(d) No improvement
$S.C. 3iers ¥uER @8 A T Ir) 14 &R 2017 (19d)
R (a)

I aIRIRT 'Oneofthe major drawbadk ofcleanliness
drives is' & M TR 'One of the major drawbacks of
cleanliness drives is' &1 T SR & 939 & & <«
IF B JRG H TR 'One of 31 WIFT o1 11 2, <A1
TG A Singular Verb &1 RN f&a1 S Bl < St
P AN 98 & W H & T gL A 6 Wi
Plural Verb &7 W3R 831 ST &; SRF

One ofthe diseases thatkills children is Malaria.
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Malaria is one ofthe diseases that kill children.
"One of the" & TN & fou AWM WR=T &
One ofthe + Plural Noun + that/who etc + Singular/
Plurd Verb
31 Phrase "One ofthe" & &2l @ Plural Noun &
RINT %1 SR §1 18T 9% Verbs & Singular 3®rar
Plural Form ¥ Ug<h @ & U g, I8 QU1 F0H
(statement) $ Subject (A9¥) W AR o= g ™
Singular Subject & foT Singular Verb <1 Plural
Subject & faT Plural Verb.
Ex

Sweet is one ofthe few flavours that appeal to me.
'that' verb 'appeal' F fa7 Subject &1 HRI & g1 g I
g 'that' 918 # 'flavours' (Plural Noun) @1 b H%
gl ®l o Ugl Plural Verb 'appeal' &1 ER?FT?]@' 2l
The alarm is triggered when one ofthe criminals tries

to escape.

39 9173 H "one criminal" Singular Noun 2l "whotries

to escape" verb 'try' ¥ fog Subject ¥ w9 Y g gfav
IgT Singular Verb 'tries' &1 TIFT 76 Bl

85. He was dressedin bright clothes for the funeral.

(a) plain clothes forthe funeral

(b) bright cloth forthe fineral

(c) bright clothes for the funerals

(d) No improvement
$S.C. diFersA wuER (8 8 w6 Ir) 14 ’ERR 2017 (19
TR (a)

N@ifhd 9T 'bright clothes for the funeral' & woIH
T 'plain clothes for the funeral' & TN 3T Bl
Adjective 'plain' & T & lacking pattems especially
in colour; simple.

86. He distributed the candies between thechildren.
(a) candies in the children
(b) candies for the children
(c) candies among the children

(d) No improvement
$S.C. 3FasA I @8 91 T ‘Sr) 14 ’KRR 2017 (19d)
TR (€)

3R 'among' T I B B ‘]I W 3MAG & /'l gHforw
'between' ST TIFT &1 ARKAT A axGah & W a1 Sire
2, <l 'among' &1 RN ‘T RARKAT A ARG 3MeH’
3 fou 3 < Bl

87. Herconmpanion was her daughter and son-in-law.

(a) Her companions was

(b) Her companion is

(c) Her companions were

(d) No improvement
$S.C. 3Fers wuER @8 & T Ir) 14 R 2017 (19
$TR (¢)

@ifhd T "Her companion was' & 9 GX 'Her
companions were' &1 WA 3T Bl Subject-Verb
Agreement & AR a1 A &1 N S Nouns I
Pronouns &1 'and' ¥ SiIeT WX Plural Verb (I8l
'companions were') 1 TA &1 Smr Bl frm g %
Singular Subject % W Singular Verb Td Plural

Eiihd aredter ‘candies between the children' $ 3T
TR 'candies among the children' &1 TN Ifad Bl
Preposition 'between' Td 'among’ T S a1 I B
I ¥ TINg 'between' & JI B T BT gl $E’

Subject & Y Plural Verb &1 TIFT B e B

88. Herespects all religion, he is aliberalist.
(a) heis a teacher (b) he is secular
(¢) heis aastronomer (d) Noimprovement

SS.C. 3 wemmR (8 A T Sr) 14 &R 2017 (1-9d)
SR d)

dHd arFdm he is a liberalist' g YA @ I A
H guR @ Eeasal 1&gl

89. Wehave buy vegetablesfrom the market.
(a) bought
(c) are buying (d) Noimprovement
$S.C. 3is wiumx @8 A T ‘Sr) 14 fWR 2017 (19d)
SR (a)

(b) buying

Eifhd T 'buy' (Present Indefinite Tense) & wIH
TR 'bought' (Present Perfect Tense) &1 WIF 3fad 3
RifG I ¥ IR 6 A B H QU1 BN G 94 THC
&1 <l B

90. Acertain amount of mystic exudes his own charm.

(a) mysticity (b) mysticism
(c) mysticly (d) No improvement
SS.C. 3z wemmR @8 A T Sr) 14 fR 2017 (1-9d)

SR (b)

S.S.C.
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YEifed eI 'mystic' (Adjective) & M TR Noun
'mysticism' (RERAR, FHIAE) F1 TR 3T B

91. The burglar broke in Mr. Mehta's house last
night.
(a) broke open
(c) brokeinto

(b) broke through

(d) no improvement
$S.C. sifFerga C.P.0.S.1. 5 s, 2017 (11-43)

SR (¢)

@id TRt Phrasal Verb 'broke in' % %I TR 'broke
into' T WA Sfrd Bl Phrasal Verb 'break into' &1
T3 B~ To enter (a house, etc.) illegally, esp. by force;
esp. in order to commit a crime (also break in); A

ISISEaR KN SERE g9 3T

92. No sooner he had returned home then his

grandp arents fdt h appy.
(a) did hereturn home than
(b) he had returned home than
(c) had he returned home when
(d) no improvement
$S.C. 3ifFarga C.P.0.S.1. 5 e, 2017 (11943
SR (a)

@ifhd 1T "he had returned home then' & %I TR
'did he return home than' &7 W3IFT SRI9 Bl 7R B &
IE Adverb A1 Adverbial Phrases hardly, scarcely, no
sooner 3T W IS I1Fd TRY B ¢ o 967 ¥ Ugol
Auxiliary Verb (I 'did )& WO F%1 & SHG 918
Subject &1 A AT ST ¥ SR

No sooner did the thief see the police than he run

away.

U6 =1 %M B & Neither $ 91 nor @1 TIFT BT g,
or & el @I either & 91§ or UYch &Kl & nor Tall
T UK both & 15 and 3T 8, as well as &1 T
though LI yet @l T BT € but I TN hardly
AR scarcely $ 916 when I bebre QT § than &
3} no sooner & 91§ than AT § when -&I; ¥
She is neither good nor bad.

It is both good and cheap.

Hardly had the train leff when he arrived.

93. Ayesha purchased the very good of all the suits
kept in the shop.
(a) the most good (b) the best

(d) no improvement

$S.C. sifarga C.P.0.S.1. 5 Jars, 2017 (11-93)

SR (b)

(c) the very better

@i TR 'the very good' § IIM TR Adjective
I Superlative degree 'the best' &1 TIFT o Bl TeT
eae &1 f& Superlative degree &1 WM &1 3 3%
IRKAT A TG & A {631 SIRT 8, QIS A Tl $9
Degree ?Wﬂ'oféﬁmmgﬂaﬂﬁwﬁ[%,
'than' & gIRT T, A

Heis the wisest ofall.

He is the best ofall.

94. Thetrain left before she reached the station.
(a) would have lef (b) has had left
(c) had left (d) no improvement
$S.C. sifarsa C.P.O.S.1. 5 Jas, 2017 (1193
SR (¢)

Nifhd T 'left' (Past Indefinite Tense) & I U
'had left' (Past Perfect Tense) &1 T ST g e
& Past Perct Tense &1 TIF 99 R § &1 =1RT
9 Past ¥ $ad T &1 BRI GG g7 7l 9 AT 4
Past Tense # & &R TAIC &1 32 &l I& o 14 U
T B V8 § SUP Verb & fIT Past Perect 3R o1
T FE B del 3 &6 Verb $ T Past Indefinite
Tense &1 YA T STFT T1RY; SRF

She_had reached the station befre the train came.
The train had arrived before I reached the station.
Note:

Past Perfct Tense $ W Past Indefinite Tense &
AN RRTTHUT 331 ST 81 Th Clause H Past Perfect
Tense & TN TR H Past Indefinite F11 ST W
El‘c‘ﬁ’cliﬁ’cﬂ% %GHPastTenseﬁﬁWWgQﬁ,
R TP B Tgel WA 3T BT 3R N1 SN 91,
Ao M B el R & Verb & AT Past Perfct Tense
F AN T GER B AT B F Verb § fAU Past
Indefinite Tense 1 AN T B AMRY, <HI o $
forw Past Indefinite Tense 3RIAT Past Perfct Tense &1
eI, SRF

He had reached the station bebre the train came.
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The train had arrived befre he reached the station.
39 ]FI B 98l § Ugol TG B dd B & Verb &
T Past Perect &1 @I 915 ¥ T BN dTd 317 &
Verb & T Past Indefinite Tense &1 TN Yg =l I
o S S BRT $ Verbs & T $aeT Past Indefinite
Tense 37T Past Perfct Tense 1 TART &1 /1 gIal
@ A I IYE B O, SRE

He reached the station befre the train started.

He had reached the station befre the train had started.
SIRID ISTEx0N H Ugel dad ¥ S § dRIf & Verbs &
g Past Indefinite Tense & WM §H g I I
e H SIS BRI & Verbs & T Past Perfect Tense
FT TAN g ® S I g Bl

98. Kunalhas donenothing from yesterday.
(b) through

(d) no improvement

(a) since
(c) after
$S.C. 3iferga C.P.O.S.I. 3 Jas, 2017 (I1-9Q)

WX (a)

NGifd TR Preposition 'ffom' & %I WX 'since 3
T SRId Bl 'since TH 'from' S 1 JF A’ B &
PRI 596 AW Point of Time $ A B 2l 59 SF #
IR TZ B & 'since T TIF $I Past Time I Thd
B $ 10 aT ® el "rom' I TAF TN 'Tenses' &

BRT gl

95. Myopinion for thisfilm is thatitwill buythe Oscar

Award.
(a) on (b) about
(c) to (d) no improvement

$S.C. sifFerga C.P.0.S.1. 5 a8, 2017 (11-943)

SR (b)

IGIHd AT for' M UR Preposition 'about’ &1
ER S ERi

96. Shedoesn'thesitateto do whateverher husband
does.
(a) would do
(c) shall do
$S.C. sifarsa C.P.O.SI. 3 a8, 2017 (1143

(b) did

(d) no improvement

Suad()

dHd I 'does' H IR B raEA Tal Bl

97. Theteacher was angry with Rahul as he had not
done the homework.
(a) from
(c) on

SS.C. el C.P.O.S.L 3 9[TE, 2017 (1198)

(b) at

(d) no improvement

Suad()

B qIEm ‘with' § gUR $ Mawadd el gl
'Angry with a person' g RIFT B

99. The boss has instructed all of us to finish the
projectby tomorrow, isn'tit?
(a) didn't she? (b) hasn't she?
(c) has she? (d) no improvement
$S.C. sifamg C.P.O.SIL 3 Jais, 2017 (1193
SR (b)

@i T isn't it?' % I WX 'hasn't she?' W
RN S B I8 a1 Question Tag UrT TR anerRa
Bl A positive statement is ©llowed by a negative
question tag; question tags are short questions at the
end of statements Tf& 3@ ¥ 'has instructed' (Present
Perct Tense) $1 TAF URH H gar 2l 3/ Question
Tag # 97 'has' TIT 'not' &1 TR BT

100. Garima h as her meal at three, when she has it,

she goes off tosleep.

(a) when she will haveit

(b) when she has had it

(¢) when shewill have had it

(d) no improvement

SS.C. 3if-ierrs™ C.P.O.S.L. 3 9eE, 2017 (11

TR (b)

@ifhd T 'when she has it' & 9 U 'when she
has had it &1 WA IFQ g

has had is a present perfect tense.

has is used as an auxiliary verb for the main verb had.
had is the past participle for the verb has.

We conjugate verbs in the Present Perfct Tense as-
Has + Past Participle form ofverb

Ex. Rahul has had heart surgery.

S.S.C.

(661)

English Language



101. No sooner Isaw the lizardthanI ran away.
(a) Assoon as I saw
(b) No sooner I had seen
(c) No sooner did I see
(d) no improvement
$S.C. 3ifergd C.PO.SI. 1 Jaus, 2017 (11-9d)
TR (©)

it ardaTeT 'No sooner I saw' & 39 TR 'No sooner
did I see o1 WRAFTSRAT 2l o T & IR 9IS 999 59
Adverbs I1 Adverbial Phrases (hardly, rarely, scarcely,
no sooner Il never 3NT) JTRY &I, A T H FIHLH
Auxiliary Verb &1 RN féa1 ST 8, deava Subject
BI; SR¥

No sooner did the thief see the police than he ran
away.

3 9188 # 'No sooner I saw' F IS 'No sooner &
99 Auxiliary Verb 'did' 7RI 3@ 92aid Subject '
T4 Verb 'saw' & 99T Present Tense &1 Verb 'see' 3
WM g€ BFT

102. Rohit did many mischiefs.

(a) committed many mischief
(b) made many a mischiefs
(c) mademuch mischiefs
(d) no improvement
$S.C. sitemgd C.P.O.SI. 1 a8, 2017 (11-943)
SR (a)

@ifhd T Phrasal Verb 'broke away' & &IF TR
'broke up' F1 TN ST 8 Phrasal Verb 'break up' @l
AT B (ofa gathering or collective) disband; end;
when a meeting or gathering breaks up or when
someone breaks it up, it is brought to an end and the

people involved in it leave, A ' S&HamT'|

104. Reena cannot put forth with her nasty fellow.
(a) putin (b) put out
(¢) putup
$S.C. sifars C.P.O.SL 1 Jas, 2017 (1193

[TX (©)

(d) no improvement

VEifhd AT’ 'put Porth' (ST BF) § WM W
Phrasal Verb 'put up' (W&, 9RA <A1, g4 H<)
T TAFTSFAd Bl Phrasal Verb 'put up' 1 I3 - put
up with somebody or something; ifyou put up with
something, you tolerate or accept it, even though you
find it unpleasant or unsatisfactory; tolerate; endure;
to abide or endure someone or something that one
finds unpleasant, inconvenient or annoying; to accept

an unpleasant situation or person without

complaining.

¥gifhd arRie 'did many mis chiefs' & 19 TR
'committed many mischiefs' &I A Sfed @l Verb
'commit' BT T - to do; perform; perpetrate;

Ex. tocommit an enor.

105. Thekid jumped with delight on seeing the joker
at the circus.
(a) dud

(c) clown

(b) ruffian

(d) no improvement
$S.C. sitemgs C.P.O.SI. 1 a8, 2017 (11-93)

¥ (©)

103. The police broke away the concert as it turned

violent.

(a) broke through

(b) brokeup

(c) broke off

(d) no improvement

$S.C. sifarsd C.P.O.SL 1 Jas, 2017 (1143

SR b)

NGidd AT joker' (WAERT, fage®, foaiforn) & wore

TR 'clown' (Tagu®, F9w@RT) w1 WM 3faq 21 Jokerand
clown are considered to be the same, but they are not,
as they differ in their functions. Usually, 'jokers' make

fun ofothers or someone else, while 'clowns' make
fun of own self

106. Sunil didn't pay any heed to his superior's
instructions, I did neither
(a) nordid I (b) neither didn't 1
(¢) Teitherdid (d) No improvement
$S.C. 3ifFerga C.P.O.S1. 7 s, 2017 (1943
SR (2)
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@i qEid 'Tdid neither & @19 R 'nor did I' @1
A Ste Bl 3w ® 3 3fe 9re3 A neither § fo @
'nor' & TRAW f&ar T 81 3N 9 'nor' W o5 clause
YRY & Y1 &1, A 16 H [ Auxiliary Verb (836
o) 1 TR R SO, GeIeEd Subject BT WRE
Hedid not interfere, nor did 1.

He has never seen me, nor does he hope.

107. The Arabian Nights have been written by Edward

William Lane.

(a) are being written

(b) has been written

(c) have written

(d) No improvement

$S.C. 3iferga C.PO.SI. 7 Jaus, 2017 (1-94d)

SR b)

WGihd @ 'have been written' $ M WX 'has
been written' &1 TIFTSRIT 2| Subject-Verb Agreement
1 TTF B & IS 919 31 Subject 681 < <afs &
M 21 SRmal f6d gWe &1 e (title) B, @ SES
fau Singular Verb (I8 'has been written') 1 TN
& ST § @i S TF (name) 1 ¥NE (title) W TS
(one) BT I¥g BT 981 2T &; R

Arabian Nights is a popul ar book.

The United States of America is a great country.

Igl 'Arabian Nights' TH Jxde 1 -4 gl

108. Ashina hesitated to listen to whather eldersister

wassaying.

(a) hesitating to listen to

(b) hesitates in listening to

(c) hesitate listened to

(d) No improvement

$S.C. 3ifFarsa C.P.O.SI. 7 Jas, 2017 (1-943)

SR (d)

A H PR B AaeFd T8l gl

109. Nitin assured Ankit that he would look at his work

while he was on leave.

(a) would overlook (b) would lo ok after
(c) will look (d) No improvement
$S.C. sifFerga C.P.O.S1. 7 s, 2017 (1-9d)
SR (b)

b e 'would look at' & I UR 'would look
afier’ 1 A SRIG 21 Phrasal Verb 'look affer &1
T 8- to be responsible for something; to be
responsible for dealing with something; to pay
attention to; concem oneselfwith; to be in charge.
Ex.

Who is looking affer the department while you are

away.

110. When the weatherwas cdd, I wear monkey cap.
(a) When weatheris
(b) When the weatheris
(¢) While the weather is

(d) No improvement

$S.C. 3ifFarsa C.PO.SI. 7 Jas, 2017 (1-9d)
SR (b)

A I "'When the weather was' & 9 TR
"When the weatheris' 1 T3 SR 2l I8 9168 UH
B (complex) a9 21 IS SHH Subordinate Clause
Present Indefinite Tense ¥ g 3% S9! Main C lause
9 Present Indefinite Tense ¥ BT 12Tl 'When the
whether is' g TRIFT 2

111. BeforeIl me Sakshi, [ had had abad opinion of her.
(a) have had (b) had
(c) did have (d) no improvement
$S.C. 3iferga C.PO.S.I. 2 s, 2017 (193
SR @)

A H PR BT AaRFA T8l 2l

Had Had is the past perfect form of have when it is
used as a main verb to describe our experiences and
actions. Weuse the past perfect when we are talking
about the past and want to refer back to an earlier
past time. 9 UHR $I1RT H bebre, afer, already, by
the time SG &1 AT &A1 S 81 had had @1

contracted form 'had' ¥l
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'Have' @I present perfect form 'have had' RG]
'Have' @I past perect form 'had had' RG]
(had + Past Participle form ofhave)
We can use "had" as an auxiliary verb in the past
perfect tense, because "had" is the past form of
"have".

Sub + had + past participle
Ifyou want to make the past perfect form of the verb
"have", this means youneed to use the auxiliary verb
("had") with the past participle, whichis "had".
Ex.
Before he had had a chance to apologize, they

dismissed.
Afer she had had a good night's sleep, she flt

marvellous.

By thetime I was 25, I had had five different jobs.

112. The girl told her teacher toexplain the passage.
(a) said to her teacher
(b) asked her teacher
(c) called her teacher
(d) no improvement
$S.C. siferga C.PO.S.I. 2 e, 2017 (1-43)
SR b)

N@ifhd T 'told her teacher' & J9 WX 'asked her
teacher 1 AN IRIA B| &1 'The girl told herteacher
to explain the passage' (Indirect Speech) % IR 'The

girl asked her teacher to explain the passage' (Direct

Speech) &1 TN T&HATT BRI

113. It will take four hoursto walk across thecaves.

(a) over
(b) through
(c) between
(d) no improvement
$S.C. 3ifargd C.PO.S.I. 2 s, 2017 (143
SR b)

it ITETRT Preposition 'across' & %I WX 'through'
P TIFT SRIG 31 T&T Preposition 'through' 1 qcad g~

to lead someone through an opening, arch, doorway,

etc. M "% I

114. WhenlI livedin KanpurI was gaing formovieonce

a week.

(a) used to go

(b) had gone

(c) went

(d) no improvement

SS.C. 3iferga C.PO.S.I. 2 s, 2017 (I-9d)

SR (a)

@ifhd T 'was going' (Past Continuous Tense)
F I TR 'used to go' 1 TN I Bl Verb 'used to'
EF[W‘TWPastTenseﬁg‘lefm TRl &
fore a1 S g S o a5 § =fed 7 8- € 'used
to' is only for past states/actions that don't happen
now - we can't use it for the things that still happen
now. Also, 'usedto + infinitive' should notbe confised
with 'be/get used to + 'ing' form.

frm ® 16 {681 amed (habit) SRIAT 319 & IRIR
BN P 9 Tdc I b o1 Past Tense ¥ 'used to' &
TN R ol U¥g S MR R Present Tense H 'use
to' AT Future Tense ¥ 'will use to' &1 TA <&l a1
ST Bl 81 a1 ‘He used to come (I8 RN BT )
A YE B, WY ‘T8 3T IRl AT’ &1 3gde ‘Heuses to
come’ TR ‘Ig AT WM’ B 3fars ‘He will use to
come’ IFYE I SN Present Tense ¥ & 31 A
UdHe B P o Indefinite Tense BT TN &I g AT
NI %; R
He comes.
Note:
'Used to' @I Negative 'used not to' B g9 & 'did

not use to'.

115. Abhishekwas goingto thechurch then Neha came

on to meet him.

(a) when Neha was coming

(b) before Neha was coming to

(¢) when Neha came to

(d) no improvement

SS.C. 3if=ielig C.RO.S.1. 2 e, 2017 (1)

$TR (¢)

Niibd a1F 'then Neha came on to' & TF UY
'when Neha came to' &1 TRW 3R 2

S.S.C.
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116. As soon as I arrived in home, I knew that

something was wrong.
(a) arrived by home  (b) amrived home
(c) arived my home  (d) Noimprovement

SS.C. A T W (R 2 RicdeR, 2016 (1-9d)

Eiidhd aredier "arived in home' & M WX 'arrived
home' & AN Sfad Bl 9@ ¥ 'arrived' & TrEE@
Preposition 'in' &I TN SIS AT T § e
Verb 'arrived' '8 g B MR W 1 I Bl

117. Unfortun ately Idid not p ass in the examination.
(a) 1did not pass over
(b) 1did not overcome
(c) 1did not pass
(d) No improvement
SS.C. 3Tz e W (EI) 2 R, 2016 (1)
TR (0)

@b arFaTer '1did not pass in' & I R ALRUGY
'T did not pass' @ TN 3faa B 'T did not pass' &
TeIR Preposition 'in' &1 TN R 2l

118. His powerful desire broughtabout his downfall.
(a) His wishful desire
(b) His desire for power
(c) His eager desire
(d) No improvement
SS.C. IS T W (R 2 RicdeR, 2016 (1-9d)
S b)

120. An education in handling moneywould imply the
ability to oversee the consequences of over-
spending or overborrowing.

(a) foresee

(b) overlook

(c) overvalue

(d) No improvement

SS.C. 3FeTs Fe W (EI) 2 R, 2016 (1-d)
TN (@)

Gihd aTAEE 'oversee (FRIETT 3-1) § WM W
foresee' (GRERMN Y&, YEGAN AN & TN S
gl

121. Sunita's sister had ribbons on her hair.
(a) in (b) over

(c) through (d) No improvement

$S.C. A FIe WM () 8 RicaR, 2016 (1)

TN @)

Eifhd 1T Prepositon 'on' § I WX 'in' (H) &1
AN 3R 2

122. She has an ability for Mathematics.
(a) attitude (b) aptitude

(c) altitude (d) No improvement

SS.C. 3FeTs ¥Ie W (FI) 8 RidsR, 2016 (1)

TR (b)

i ardameT 'His powerful desire' % 95T 'His desire
for power' I TR I Rl

119. Ramesh laid in theshade of a treebefore he could

walk further.
(a) lied (b) lay
(c) lain (d) Noimprovement

S$S.C. IS FIa6 wWRA (EI) 2 RicdeR, 2016 (19
FI b)

NEfFd IR 'laid' $ Y9 W Intransitive Verb 'lie'
9T Past Tense 'lay' @1 A 3RT 2

i aTETT Noun 'ability' (IR, S&Td) & I TR

aptitude' (MM, I9d, B, gop@, o) o
RN 3 Bl

123. I was impressed of it.
(a) by
(c) for
SS.C. 3is ¥ W (ED) 8 Ricdar, 2016 (1)

(b) on

(d) No improvement

TN @)

Gifdd 1T Prepositi on 'of' & ¥ WX 'by' &1 TN

Sfaa 2l
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124. Only high officials have access with the President.
(a) to (b) for
(c) from (d) Noimprovement
S$S.C. 3FcTs ¥Ie W (FI) 8 RdaR, 2016 (1)
SR @)

NEiida aredie Preposition 'with' & I WX 'to' &
RN SR ®1 'access' & AT Preposition 'to' T TN
&1 ST B 'access (approach) to' g WAF Bl

125. No other snakeis aspoisonous as this one.

(a) are as poisonous as this one

(b) is more poisonous as this one

(c) is poisonous than this one

(d) No improvement

SS.C. 3FeTs Fe W (FI) 8 RidaR, 2016 (1)
AN d)

A H IR T G Tal 2l I F b AT
'as poisonous as' &1 WANT Degree of C omparison &
I Y& A I WA B

126. Ex cept him, no one could answer the qu estion.
(a) Exception ofhim
(c) Exceptfor him
SS.C. 3FeTs Fe W (EI) 2 RidwR, 2016 (1193
TTX (©)

(b) Exceptinghim

(d) No improvement

Efa aTeIRT 'Except him' & ®IF Preposition "Except
for him' 1 YW Sferd & a1 9190 'not including or

excluding' Brm Bl

127. The common fruitfly is technically called as

129. Though very young, she has asense of flyinghigh.
(a) imagery (b) imaginary

(c) imagination (d) No improvement

SS.C. 3FaTsA ¥e W (FI) 2 RdeR, 2016 (119

TR (©)

Eifhd T flying high' $ 9 R 'Imagination'

(T9H, Fog) &1 W S R

130. The greatest thing in the style of writing or

speaking, is tohave a use of metaphor.

(a) knowledge

(b) command

(¢) need

(d) No improvement

SS.C. 3iFeIsA wIe W (EI) 2 RidsR, 2016 (1-93)
TTX ()

B AT 'use' F M TR Noun 'kno wledge' 31
T SR 2

131. Salman and the other actors drove through the

forest.
(a) in (b) over
(c) among (d) No improvement

SS.C. 3T FE WA (BI) 4 R, 2016 (1193
FaR(d)

"drosophila"

(a) called

(c) known as

SS.C. 3FeTs Fe WW (EI) 2 R, 2016 (11-9d)
SR ()

(b) known by
(d) Noimprovement

Nifbd I 'called as' $ WM W 'known as' &
TR e =l

128. Give the tickets to whomever comes first.
(b) whichever
(c) whatever (d) No improvement
SS.C. 3FdsT ¥ WM (ED) 2 RideR, 2016 (I-ad)
SR @)

(a) whoever

Y@ibd IR 'whomever & M U= Comp ound
Relative Pronoun 'whoever o TRA IRId 2

A H GIR G AaWFA Tl gl el I@da T
A Preposition 'through' & TAM 3R Bl

132. You will not succeed unless you don'tworkhard.
(a) will not work hard
(b) should work hard
(¢) work hard
(d) No improvement
SS.C. 3FeIsA FIe W (EI) 4 RideR, 2016 (11-9d)
SR ()

Nifbd 9Eae 'don't work hard' & M W 'work
hard" &1 T SfRIA § 371 Double negative Pl

g5eh Q1Y 3T STe|
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133. My friend has a toothache and cannot eat
something.
(a) anything
(c) edibles
SS.C. 3FeTs Fe W (EI) 4 R, 2016 (113
TUX (@)

(b) things

(d) Noimprovement

@i arRIe 'something' & ¥IF UX Pronoun
'anything' & TN 3T Bl

134. Africais in the South of Europe.
(a) by the (b) to the
(c) over the (d) Noimprovement
SS.C. 3FdsT ¥ WM (ED) 4 RideR, 2016 (-9
SR (b)
Gihd G 'in the' & ¥H TR 'to the' &1 WM IR
H
135. EitherLata or Malahave d one it.
(a) Neither Lata or Mala has done it

(b) Either Lata or Mala has done it
(c) Neither Lataor Mala have done it

(d) No improvement
SS.C. 3FeTsH ¥Ie W (FI) 4 RideR, 2016 (193
TN (b)

Nifhd 9197 "Either Lata or Mala have done it' &
M WX 'Either Lata or Mala has done it' & TR Sfed
B33 e BIR or, nor, either ......... or T neither.......
nor' & §RTGI AT ¥ 318F Singular Nouns A1 Third
Person % Singular Pronouns &1 3feFT (Separate) f&ar
S, < Singular Verb (I8f 'has') &1 T&N Bl S Bl

136. Themore they earn, more they spend.
(a) The morethey earn, the more they spend

(b) More they eam, the more they spend

(c) Morethey eam, more they spend

(d) No improvement

SS.C. 3T el WM (BI) 10 sy, 2016 (193)
TUX (@)

Nifhd T3 'The more they earn, more they spend'
F JM T¥ 'The more t hey earn, the more t hey spend'
o A sfa 8 Co mparison and contrast are

expressed by the use of'the' ........ 'the' ....... with

comparative adjectives in parallel clauses. This
structure is used to show proportionate increase or

decrease.

Structure :-
The + comparative adjective + clause + the +

comparative adjective + clause

137. The offerings were placed on thealter.

(a) on the altar (b) onthe steps
(c) on the platform
SS.C. 3Tz Fe W (D) 10 RieR, 2016 (1)

TN @)

(d) No improvement

Nifhd a1 'on the alter' % YT TR 'on the altar’ &1
TN ST B UeE 'Alter’ F1 T BET B 99,
gRqdT; Jafd g 'Altar’ &1 A BT & da); dional;
il

138. Really speaking, no manis perfect.
(a) Strictly (b) Slightly

(d) No improvement

(¢) Vaguely
SS.C. 3 T W (EI) 10 RiieR, 2016 (1-9d)
TR @)

Gihd qrEaTeT 'Adverb' 'really' (a¥ge:, FaH; :¥937)
F XA W 'Strictly' (THEH Tl BF1)F TAF 3 =l
'Strictly speaking' &7 A - THEH Fel BHI; IR<E
H, 9 Y I, SAMGR] ¥ &1 9 ; According to

the rules.

139. Mankind does not know this.
(a) do (b) had
(c) is (d) No improvement
SS.C. 3Tz Fe W (D) 10 RieR, 2016 (1)
IR d)

I H IR H MTRFA & 2l Noun 'Mankind'
(AT 3 WAG ) UH Abstract Noun gl S¢ 121
Singular Verb 'does' 1 TN SR Bl

140. Practically every part of the coonut treeis used

by man.
(a) each (b) most
(c) any (d) No improvement

S$S.C. 3FeTs ¥ee W (T4) 10 ReR, 2016 (1-9d)
TR ()
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17 H GoIR I MGl el ol Distributive Adjective
'each’ 31 AN ad &1 A1 &1 3 A4S AR A1 A<l
F I B ® SIEb 'every' B WM Q1 ¥ AF F A
(I 7 9 AT G ), VG AT F AT B
SIS

141. The rain brought more respite from the heat.
(a) much respite (b) most relief

(c) severe drought (d) Noimprovement

SS.C. 3FdsT ¥ WM (EI) 6 RideR, 2016 (1T

TTN @)

EiThd aTedTeT 'more respite’ % ¥ TR 'much respite’
T TN SRd Bl T 'more’ $ 9IRS Ist orm
'‘much' 1 TRAM 3R 2

142. Navinderand his wife departed for London by Air

Indiayesterday.
(a) to (b) towards
(c) toward (d) No improvement

SS.C. 3FeTsA Fe WW (EI) 6 R, 2016 (1103
TR d)

I H GIR I SMaWEA ol 2l 'departed for' @
Y - TRIF )T

143. He speaks sofastto be understood.

(a) very fast to be understood

(b) too fast to be understood

(c) too fast that he cannot be understood

(d) No improvement

SS.C. 3FdsT ¥ WM (E) 6 RideR, 2016 (1T
S b)

ifhd I 'so fast to be understood' F IMH TR
'too fast to be understood ¥ YA AT Bl SUS
gRaRiawu BFT- He speaks too fast to be understood.

144. 1 and my p arents live together.

(a) Me and my parents

(b) My parents and I

(c) My parents and me

(d) No imp rovement

SS.C. IS I WM (EI) 6 RicdeR, 2016 (-9
SW b)

NEifhd 9@dd 1 and my parents' & IH W "My
parents and I' &7 a1 3fek g1 g1 U8l Third Person
31 Pronoun AU¥did  First P erson @1 Pronoun Ugh

BRI

145. Will you tell me who did accompany you to the

airport?

(a) when did accompany you

(b) who must be accompanied you

(c) who accompanied you

(d) No improvement

SS.C. JFesA FIe W (EI) 6 RideR, 2016 (I1-9d)
TR (©)

Y@iihd arE® 'Who did accompany you' (Past +
Present Tense &1 U® ¥ WAFT) & M TR 'who
accompanied you' (Past Tense) &1 TIF SR gl

146. Thetribe lived with different customs.

(b) by
(d) Noimprovement

(a) on

(c) through

SS.C. 3Tz e W (BI) 1 ReR, 2016 (1)
ST (b)

Eifhd T Preposition 'with' & 39 TR 'by' &
T SRrd Bl live by FTATRIR- 'to ©llow a particular

beliefor set ofprinciples.

147. Dumbfounded by theacaisafion, he could offerno
serious defence.
(a) correct (b) certain
(c) severe
SS.C. 3T e WM (BI) 1 REeR, 2016 (1193

IR ()

(d) Noimprovement

I H GIR BT AaEA Ta Bl

148. Ramu never males atleasta century each time he
plays cricket.
(a) seldom (b) forever

(c) always (d) No improvement

SS.C. 3iFeIsA wIe W (EI) 1 RideR, 2016 (11-93)

TR (0)

YEiThd aredier Adverb 'never' (F9 &1, s TR) &
M TR Adverb 'always' (89eT) &1 WIFT SRIa Bl
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149. Heis givento gambling and drinking.
(a) given away (b) givenin

(c) given up (d) Noimprovement

SS.C. 3iFds ¥ WM (ED) 1 RideR, 2016 (-9

TTN (©)

@ifhd AT 'given to' $ M UR Phrasal Verb
'given up' (1S S T 1) F TAF IR B

150. I would soon walk than stand in the cold waiting

for the bus.
(a) hardly (b) longer
(c) sooner (d) Noimprovement

SS.C. IS I WM (ED) 1 RicdeR, 2016 (-9
TTX (©)

NGThd aTeTeT 'soon' & %M IR Adverb 's ooner’ (¥,
i) B R S R

151. Anyonewishing to enrollin the programmeshould

send in thereapplications before the end of this

month.

(a) send in her application

(b) send her application in

(c) send in their applications

(d) No improvement

SS.C. 3FeTsA ¥e W (FI) 7 RideR, 2016 (1193
SR (0)

iidhd IR 'send in there applications' & I TR
'send in their applications' &1 TN Sfod Bl @i
IR H TGh 'there' (T8T) F WM W 'their' (ST,
) T WA B

152. Do you mind meleaving this payment until next

year?
(a) I (b) my
(c) mine (d) Noimprovement

S$S.C. A FIH W (EI) 7 RicdeR, 2016 (119
TUR b)

Y@ifhd 9@ 'me' (Objective Case &1 Pronoun) &
M TR 'my' ((Possessive Case &1 Pronoun) &I TAFT
3Ifa =l

153. As you grow older; you will find that theseall

difficulties may be overcome by patience.

(a) these all difficulties may overcome with
patience

(b) all these difficulties may overcome through
patience

(c) all these difficulties may be overcome with
patience

(d) No improvement

SS.C. 3FieTs ¥Ie W (FI) 7 RdeR, 2016 (1193

SR (0)

GiThd aTFTeT 'these all difficulties may be overcome
by patience' % 9 TR 'all these difficulties may be
overcome wit h patience T RN Sk B

154. Sita didn't so far as blink when she heard she had
won thescholarship to Cambridge.

(b) as far as

(d) No improvement

(a) so much as

(¢) as good as

SS.C. 3T T W (EI) 7 fideR, 2016 (-9
SR @)

NiRbd a1 'so far as' § WM TR 'so much as' &1
TR Sfe Bl

155. When the architectwon a prizein a play-writing
conpetition his friends ad mired his universality.
(a) durability
(c) respectability
SS.C. 3FeTs Fe W (EI) 7 R, 2016 (11193
SW b)

YEifhd I universality' (AT § WM TR
Noun 'versatility' (FIar i1 ardT) &1 TAM SR

(b) versatility

(d) No improvement

K

156. The interview came alive by satellite from
Hollywood.
(a) cameas live (b) came live
(¢) cameup live
$S.C. AT FIB WM () 1 RicsR, 2016 (193

FAR (b)

(d) No improvement

Nifbd a1 'came alive' & IH WY 'came live' &1
TR SR Bl T ‘alive' & 99T 'live' TM oid’ Bl
ERRREE
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157. Therewas little he could do to save his battered
reputation.
(a) salvage (b) wreck

(c) destroy (d) Noimprovement

SS.C. A FIH W (ED) 1 RicdeR, 2016 (-9

TTN @)

161. Themajority of the rain-fed Indian rivers, either
dry up, or become trickle after the monsoon.
(b) atrickle

(d) No improvement

(a) thetrickle
(c) an trickle
SS.C. 3FeTs FIe W (1) 29 7R, 2016 (IT1-9ad)
SR b)

YA T 'save’ F IAF TR Verb 'salvage (I&T
AL, TIF, &I A =) 31 WA S 2l

158. Itis much too important to bemade a joke of.
(a) too much important
(b) too many important
(c) very much important
(d) No improvement
SS.C. s FIB W (EI) 1 RideR, 2016 (19

Siad(i)

A H IR BT AFA Tal gl

99 ® & 'much too' (Adverb) & UZald Adjective
(It 'important') &1 TAN {6 ST ® 516G Adverb
'too much' & 91 Noun &7 TIFT Ban Sam Bl

159. If he wants farther help, send him tome.
(a) further (b) much
(c) best (d) Noimprovement
SS.C. 3T e WM (BI) 1 RieR, 2016 (1193

TTX ()

Nifhd T farther 'far’ &1 Second form $ RIH TR
"farther' (3fAR<H, IR 31fI%) F1 TR S B

Ngidhd AT 'trickle' (848 <UGH) F WM W 'a

trickle' (SIRHA W) &1 WA S Bl

162. His appointment as wach is yet another feather
in his wing.
(a) featherin his hat
(c) featherin his cap

(b) badgein his hat

(d) No improvement
SS.C. JFeT3H e ¥ ()29 37, 2016 (111981

ST ()

i Tl feather in his wing' % ¥ TR Idioms/
Phrases 'feather in his cap' (an action that you can be

proud of, a symbol of honour and achievement) &1

T Sd Bl

163. The greater the demand, higher theprice.
(a) the high (b) a higher
(c) the higher (d) No improvement
SS.C. JFels el W (FI)29 3FRd, 2016 (193
TR (0)

YEifhd aTFTeT "higher' & %I TR 'the hi gher' &1 TR
Sfad 1 T8 'Comparative adjective' &1 TIF el B
Structure :-

the + comparative adjective + clause + the +

comparative adjective + clause.

160. He jumped on the lake.
(a) in the (b) into the

(c) onto the (d) Noimprovement

$S.C. AT FIB W () 1 RdeR, 2016 (1)

@ifhd T 'on the' & WM WX Preposition 'into'
P YIFT SRIT Bl - I GeR & 20 H 799 A W
Preposition 'into' FT TAFT f&F < &I

164. Both of them have not apologized yet.
(a) Neither of them has
(b) Any of them have
(¢) None of the two

(d) Noimprovement
SS.C. A FIH WM (EI)29 3T, 2016 (11193
TN @)

NiThd a1F 'Both oft hem have' & Y9 WX 'Neither
ofthem has' T TRFT IRIT 2
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Directions : In these questions, a sentence is given
apart ofwhich may need improvement. Altematives are
given in (a), (b) and (c) below which may be a better
option. In case no improvement is needed, your answer
is (d):

1. Hisdetemrmination wasnot shook by what people
said.

(a) was not shaked

(c) was not shaking  (d) was not shaken

S.S.C. WgE TR IHvs (10+2) WG udem, 2015
SR d)

(b) No improvement

Nifhd a1 'was not shook' $ M TR 'was not
shaken' (Past Tense - Passive Voice) &1 R S Bl

2. Icannot barelywait formy birthday party.
(a) Ibarely wait (b) No improvement
(c) Ibarely cannot wait (d) I can barely wait
S.S.C. 9gE TR Iavs (10+2) W uiem, 2015
SIR @)

i aTFTT ' cannot barely wait' & %I TR 'l can
barely wait' & TIFT 3fad Bl 'cannot barely' &1 TN
qET F TH AT g A Double Negative S UG F S
SURS IS

3. Theobservatory building is situatedin a remote

comer of the mo.
(a) Noimprovement (b) close
(c) distant (d) far

S.S.C. I TR JFosH (10+2) WRIY e, 2015
TTN @)

IqHE H GIR BT AT Tal 2l

4. Ifyvou would have seamn_him perform in the London

Olympic Games, you would have b een thrilled.
(a) Had you seen him perform
(b) No improvement
(c) Ifyou havehad seen him perform
(d) Had you been seeing him perform
S.S.C. T TR JFos (10+2) WRIY wiet, 2015
TTN @)

YEIHd T B THA (a) A TRRNT FAT SRRGN
gl =M g f& I 'If' Clause Past Tense # 21, 91 3T
Clause % Sub. + would have + v* &1 31T B ST g
Rule— (If+ S + had + v3), (S + would have + v3)

I (Had+ S + v3), (S + would have + v?) @ TaFT 2T B

5. Where areyou coming from?
(a) do you come from
(b) you arecoming from
(¢c) wereyou from
(d) No improvement
S.S.C. BRegd (G.D.) 9k, 2015
SR d)

T H YR I JEIHAT Fel ol g a1F Interro gative

2l

6. Years ago, I met a man which was Presidentand
Chairman of theboard of a company.

(a) Whose (b) Who
(¢) Whom (d) No improvement
S.S.C. TRead (G.D.) T¥E, 2015
SR (b)

Niihd a1l 'which' ST f& Ue Relative Pronoun g,
F WM TR IR IR § F®ib FH 7 6 Relative
Pronoun 'which' &I TR Hael %] (thing) AR SFaR
(animal) % fow 2R T 3R 'who' TIT 'whom' &1 TIFT
$ad aRh (man) F forg fHar mar Bl 3T g7 'which'
P WM WX 'who' I R_W 3T 2

7. Covering thirty kilometers in thirty minutes are

nota great distance using a brand new car.

(a) is not a great distance

(b) is no distance

(c) aren't a great distance

(d) No improvement

S.S.C. TRead (G.D.) T¥E, 2015

SR @)

YEiihd IR F M R 'is not a great distance' &
A 3fed Bl W ¥ 6 3 are &1 Subject 318 VW
Noun =1 SRRy fAR=a weights, measures, amount 1
distance (FT9-dre, TRHATO, FH A gNI) I 9= B, A
Plural 38 TX 1 U9 Subject & AT Singular Verb
(FE 'is not a great distance') ¥ WA BRI Bl
e faded (a) &1 WM Sfa Rl

8. Both of them aregood, but this is the best of the

two.
(a) much better (b) No improvement
(c) good (d) better

S.S.C. ¥geh TR JBvs (10+2) wHF v, 2015
SR d)
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G AT 'best' & W W 'better FT TIAFT I
T Fifb <1 a3 A ARRA F forg Comparati ve Degree
B U AT AN S Y e § fou Superlative
Degree o1 T B e R

9. I'mreally sorrybutI haven't got much money

myself.
(a) No improvement.

(b) I'm really sorry but I not have much money
myself
(¢) I'm really sorry I havelesser money myself
(d) I'm really sorry but I have very ftw money
myself
S.S.C. 9Fwh AR Iavs (10+2) R uie, 2015
TUx (@)

A H R BT AFA Tal gl

10. Hesaid, 'Let the show begins'
(a) 'Letthe show to begin'
(b) No improvement.
(c) 'Let's the show begin'
(d) 'Let the show begin'
S.S.C. 9Fh gRR IJBvs (10+2) WRIF uia, 2015
AR d)

WGHd I F W TR 'Let the show begin' &1
TR SRid 'l 'Let' U6 TR 6 verb (T5a1) © AR 96
TZATd 9180 H Verb # Infinitive form (I bare infnitive)
F1 YA T SUGH &l 59 TSR U Tad g

Let+ somebody/something (or objed ©rm of Pronoun)

+ bare-infini tive-ofverb.
3 fawe (d) W SO ¥
'Let the s how begin'

IqHE H GIR H Maeaa el 2l 'hanker afer &

C ’
e B =ed N

13. TItis notdifficultto forgivesomeone who says sorry.
(a) is apologising (b) Noimprovement
(c) apologises (d) is asking sorry

S.S.C. Wg® TR JFusY (10+2) W udiam, 2015
TR (©)

NEifhd aTEm 'say sorry' § M WX 'apologises'
(g7 #iw) @ WM S R

11. Themuseum's collection includ es artefacts dated
back to prehistoric times.
(a) dating back to (b) datebacks to
(c) dateback to (d) No improvement
S.S.C. Ugwh gRR JBus (10+2) WT uden, 2015
AN d)

I H GIR B aaa el 2l 'dated back to' Y=g

T B

12. A greedy man always hankers after money.
(b) runs afer
(c) wanted (d) greeds after
S.S.C. ¥gh gRR IBUS (10+2) WK gdem, 2015
SR @)

(a) No improvement

14. OQOursis a joined family.
(a) join (b) joint

(c) jointed (d) No improvement

S.S.C. Wg® TR JFusI (10+2) W e, 2015

WX (b)

YGidhd arede joined' F XM WX Yjoint'  (Adjective-
ARG, geh, dfad) 1 TR ST R

15. Be quick othawiseyou would miss the train.

(a) otherwise you will
(b) No improvement
(c) otherwise you could have
(d) otherwise you will have
S.S.C. ¥gh TR JFvS (10+2) WK 9, 2015
SR @)

Eibd AT’ ‘otherwise you would' & M WX
‘otherwise you will' &1 7 3o gl

16. Hesummarily dismissed whathisson told himin

a fit of rage.
(a) Ina fit of rage he summarily dismissed what

his son told him.
(b) Whathis son told in a fit ofrage he summarily
dismissed.
(c) He summarily dismissed in a fit ofrage what
his son told him.
(d) No improvement
S.S.C. ¥g® TR JFusY (10+2) TR uem, 2015
TR @)
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YEiHd I G I TR QG (a) H a1 771 9@ In
afit ofrage he summarily dismissed what his son told

him. gg WA

17. Each and everyone of you are guilty of somecrime

or theother
(a) Each and each of you are guilty
(b) Everyone are guilty
(c) No improvement
(d) Each and everyone of you is guilty
S.S.C. g gRR IFUS (10+2) W g, 2015
AR d)

N@ifhd 91T 'Each and everyone of you are guilty'

$ JM T 'Each and everyone of you is guilty' &
A 3K Bl Tl Singular Verb 'is' 31 TRIF g &l

18. Letyou and I go together
(b) me

(d) mine

(a) No improvement
(c) my
S.S.C. IFh gRR v (10+2) WRII 9, 2015
ST b)
BT ATFR T F I W 'me’ F1 TN Ierd 2l
TP Prepositions 3N Transitive Verbs %Wj Objective
Case (Accusative Case- Jg 'me') B TN BT ST ©
Nominative case &1 -gll

19. There weretimes in his life when he struggled
foronesquare meal a day.

(a) he struggled with one square meal a day.
(b) No improvement.
(c) he keeps struggling for meals.
(d) he struggled one day for food.
S.S.C. 9gwh gRR v (10+2) Wi adiem, 2015
SR (b)

I H IR BT JaeF el gl

20. Rani has ompleted hergraduation fromareputed
university last year.

(a) completed (b) No improvement
(c) was completed (d) had been completed
S.S.C. Igw TR IFvs (10+2) WK 9, 2015

TTN @)

21. The terrorist as well as his accomplices waskilled
in the encounter.
(a) was being killed  (b) werekilled
(¢) Noimprovement (d) havebeen killed
S.S.C. U™ TR JFusY (10+2) W udiem, 2015

TR (0)

IF H IR BT I@aTHal Tel gl 9 B 6 IR Subject

'as well as' & RT s B (I3 &Y T &), Ao Verb
$ Number 3R Person WM Subject & 3R RN

&1 ST Bl o/ I § GuR 6 SeIEdl el gl

22. The Councillor behaves as if he is the Chief

Minister:
(a) has been (b) were
(c) Noimprovement (d) was

S.S.C. ¥gh TR JFvS (10+2) W g, 2015
xR (b)

TR AT 'is' F I TR 'were' I TN IR 2
g 91a9 Subjunctive Mood TR STEIRT & SRIT aTed
A DRI FeaT (wish, condition, supposition) &1 Hid
& M TR Singular Subject & foig 91 Plural Verb 31
TN 631 S gl o e A 'were! 1 TRIN

Sfaa 2l

23. Inspite of agehe is my senior.

(a) Heis my senior, in keeping with his age.
(b) Heis my senior in regard of his age.
(c) No improvement.
(d) In respect ofage, he is my senior.
S.S.C. U™ TR JFvsI (10+2) W uiem, 2015
IR @)

YEifHhd aT® $ XM UR 'In respect of age, he is my
senior' Y& WIFT g

24. Howmany countryare therein Europe?

(a) country are there on
(b) countries are theirin
(c) No improvement
(d) countries are there in
S.S.C. Ugwh TR JFusV (10+2) W udem, 2015
IR @)

Nifdd a1 'has completed' (Present Perfect Tense)
F I TR 'completed' (Simple past) I TN Sfad Bl

NEifhd arRIY ‘country are there in' % ITH W
'countries are there in' &1 TRW 3T 2
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25. TheSutlg has changed its path.
(b) line
(d) journey

(a) course
(c) No improvement
S.S.C. gh gRR IBUS (10+2) WK ger, 2015
SR @)

30. Sheis willing to hdp you.
(a) wilful (b) willingly
(c) wilfully (d) No improvement
S.S.C. ¥ TR JFusY (10+2) W v, 2015
IR d)

i T 'path' F M R 'course' (TATE, ST )

% AN S B

26. Themedicine mustbe take by you.
(a) takes (b) No improvement
(c) taken (d) taking
S.S.C. gh gRR JBUST (10+2) WM gdem, 2015
TR (©)

I H IR T Ml ol 2l 'willing (Adjective)
31 W Tg SuGh @l 'willing' 31 dITE R IR,

$Tg P, SYH, Sl

31. Hundreds of children aredeaf bom every year.

(a) deaf are born every (b) every born are deaf
(c) are born deaf every (d) No improvement
S.S.C. ¥gh TR JBus (10+2) wHF v, 2015
TR (©)

Vi T 'take' F M WX 'taken' (verb ¥ third

form) I AW 3fad Rl

27. Westayed in Mumbai in fivedays.
(a) for (b) with
(¢) Noimprovement (d) at
S.S.C. IFh TRR IJBvs (10+2) WRIY e, 2015
SR @)

JGHd qMaY 'are deaf born every' & UM WX 'are
born deaf every' g T Bl 'born deaf T IETT B-
SO e

WGIHd ATEITRT 'in' &% ¥IF YR Prepositi on 'for' &1 TR
SIECR

28. She had relized that shehad seen him before.
(a) had been realized (b) realized
(c) has realized (d) Noimprovement
S.S.C. IFh TRR IBvs (10+2) WRIF e, 2015
S b)

Y I 'had realized' (Past Perfct Tense) &

M WX 'realized' (Simple Past) &1 7ad 3 gl

29. Beingill, he came to work.
(a) Hecame to work and fll ill
(b) Despite coming towork, he was ill

(c) Inspite ofbeing ill, he came to work
(d) No improvement
S.S.C. gh TRR IBUS (10+2) WK gder, 2015
SR (0)

Eif$d 919 & IIF TR 'Inspite ofbeing ill, he came to
work.' g A 2 'Inspite of U® Preposition gl
9% Y% 1 1 U Noun 3R1dT Verb & -ing form &1
W & S gl

32. Theuniversity asked him toreturn b adk the funds

allotted for the project.

(a) to bring back the funds

(b) to return the funds

(c) to settle the funds

(d) No improvement

S.S.C. C.P.O. w3gT, 2015

IR b)

Nifbd a1 'to return back' $ YIF WX 'to return
the funds' g& T Bl

33. Helearnt thelesson with great care.
(a) carefilly (b) with care

(c) Noimprovement (d) carelessly
S.S.C. C.P.O. 9%, 2015
TN (@)

Y@ifhd 9IEd 'with great card ¥ M WX Adverb
‘carefully’ (STFYAH, T FIHR) F TAFT IFRIT Bl

34. No one cared for theboy after his father died.
(a) took care ofthe boy afer his father died
(b) took the boy for care afier his father's death
(¢) Noimprovement
(d) cared for the boy since his father died
S.S.C. C.P.O. 938, 2015

TN (@)

IEIfhd aTY § RIF TR 'took care of the boy affer
his father died." g A Bl
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35. He insisted to go with me.
(a) insisted that he should go
(b) insisted upon going
(c) agreed to go
(d) No improvement
S.S.C. C.P.O. w3, 2015
TUx ()

40. Sheis very eccentric woman.
(a) Impatient (b) Noimprovement
(d) Generous

S.S.C. C.P.O. 9¥ET, 2015

(¢) Unusual

¥R (b)

I H GIR B! AAREA Tal gl Uk 'eccentric’ F
@Y BT & wal, ko |

it aTFaTe tinsisted to go' & I WX 'insist ed that
he should go' @1 {E SRa Bl

36. Thehawksaid thatthepigeonsand dove are meat
birds.
(a) meek birds

(c) No improvement

(b) weak birds

(d) meet birds
S.S.C. C.P.O. 9%, 2015
WX b)

Nifhd T 'meat birds' % I TR 'weak b irds' &1
T S B

37.

The workers should have been more meficulous.
(b) Precise
(d) Punctual

S.S.C. C.P.O. u3eT, 2015

(a) Committed

(c) No improvement

TN (©)

I § IR B MIa Tal &l 'Meticulous' ¥E I
T B B e, T, $9d |

38. I was angry at myself for making such a big

mistake.
(a) with (b) about
(¢) Noimprovement (d) on

S.S.C. C.P.O. 92T, 2015
TTX ()

Y@ifhd gAY "at’ & WM WX Preposition 'with' @
RIS ® 'angry at something; angry with a person'.
Y& TI9 BT Bl

39. Tortureand traumahas madeher a mental patient.
(b) Lunatic
(d) Mad

S.S.C. C.P.O. w3, 2015

(a) No improvement
(c) Mania

TTX (@)

faFeT (a) WEI Bl 9@ H GIR BT SaHdT & ol T
Mutual 3R Lunatic G9I &1 3%1 4 HH &l

41. Thechickens in his farm are fatted up nicely.
(a) are fattened (b) are fattening
(c) are fattying (d) No improvement
S.S.C. C.P.0. 93T, 2015
SR (b)

YGhd IRIY 'are fatted’ F M W 'are fattening'
(Present Continuous Tense) ¥ TIW Sfad =l

42. Water and soil pollutants find their entry intothe
bodythrough ingestion of contaminated water or
food.

(a) Noimprovement

(b) digestion of contaminated
(¢) passage of contaminated
(d) injection of contaminated
S.S.C. 9gh FRS WRE (Tier-T) usier, 2015
TR @)

R AR H QR $I IS o 8l I 'ingestion’

P TG & IS

43. It'shigh time thatyou go home.
(b) went
(c) gone (d) No improvement
S.S.C. 9gwh RS wRI (Tier-T) Tdier, 2015
IR b)

(a) are going

I T 'go' B Verb 'went' ¥ URRANT F=AT
S Bl M a8 © & 59 9@ Itis high time, It is
time, It is about time ¥ TR T § o subject F 91§
Verb &t Second Form &7 YRIFT [T ST =1 3T a1ed #
Verb 'go’ & M WX 'went' &1 WIFT 3fad BRI

44. Drinking tea is an English habit.
(a) tradition
(c) convention (d) No improvement
S.S.C. 9gh FRe WRE (Tier-T) Tdier, 2015
SW b)

(b) custom

A qTETT Thabit' & %M TR 'custom’ (Well, S,
R, Rarsr, 9R) &1 7 3Raa Bl

S.S.C.
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45. Mumbai is famous because of its tex tiles.
(a) for (b) at
(c) in (d) Noimprovement
S.S.C. 9gh FRe WRE (Tier-T) usien, 2015
TN @)

Y@ifhd g 'because of & IM WX Preposition
"for' 31 WA IR T

46 Helives farfromthestation.
(a) off the station
(b) No improvement

(c) along way from the station
(d) away from the station
S.S.C. ¥gw FRe WRIA (Tier-1) 9diem, 2015
TUx ()

Nifhd TRl 'far from the station' & Y9 TR 'for off
the station' &1 WA =@ Ml Phrasal Verb 'far off '
BT a9 g distant, away, far, remote in time or space;

I R, IgI R

47. They spoke aboutthe weather.
(b) said
(c) Noimprovement (d) talked
S.S.C. Igh FRe wRE (Tier-T) Tien, 2015
AR d)

Y@ifhd aTEE 'spoke’ F M W 'talked' T TN
3Ifa B

48. Mr Mukherjeeknows ten languages, isn'tit?
(a) Noimprovement
(b) hasn't he
(c) doesn't Mr. Mukherjee
(d) doesn't he
S.S.C. 9gh FRe WRE (Tier-T) uien, 2015
AN d)

(a) expressed

50. He is wanting in a little conmon sense.
(b) lacks
(c) is laking in (d) needs some
S.S.C. Ug®h FRe WRIA (Tier-1) adiem, 2015
SR (b)

(a) Noimprovement

NGifd T 'is wanting in a little' & %I TR 'lacks'
(41, 3r9m@) @ WM S R

WG AT isn't it' % ¥ UR Question Tag U
MRS aTE-a=ag 'doesn't he' &1 TN IR 7l b
e H Subject Singular ¥ 3 I U Singular

Verb 'doesn't he' &1 TRFT g 2

49. Thesecond pigeon flew just as the first pigeon
hadflown.
(a) one had done (b) had done

(c) Noimprovement (d) one had flown away

S.S.C. Igh FRe WRE (Tier-T) usien, 2015
TTX ()

@ifhd T 'pigeon had flown' $ M WX 'one had

done' (Past Participle) &1 T 3T B

51. Theold manhas acquired ex perience through age.
(a) got experience
(b) developed experience
(¢) Noimprovement
(d) experienced
S.S.C. Igh FRG WA (Tier-I) Tdian, 2015
T (0)

I H GIR BT AaEA Tal 2

52. Thenotorious criminal went to the policeto goto

prison.
(a) surrendered himself bere the police

(b) gavehimselfup for the police
(c) No improvement
(d) submitted to the police
S.S.C. ¥gh FRE wWREA (Tier-I) wdan, 2015
SR @)

NPT IEIY S YA R 'surrendered himself bebre
the police.' Y& TIRT 2

53. 1 didnot seeyou for along time.
(a) have not been seeing
(b) No improvement
(c) have not seen
(d) saw
S.S.C. Wg®h Fe WRIA (Tier-1) adiem, 2015
FTX (0)

g aredier 'did not see’ % MM TN 'havenot seen'
s TN Bl Past Tense &1 WA 'action' $ FIE BF
& R H BI1 ST Bl TgT Present Tense &1 A ThS
Bl Vel § FORre1 Uy Past Tense ¥ 1 g1 TH Rorfay o
Simple Present Perfct Tense &1 TN 3T Bl

54. The practice of starving the children in order to

curediarrhoea also aggravates the situation.
(b) starve children
(c) starving children  (d) starving child
S.S.C. Igh FRG WREA (Tier-I) wdan, 2015
TR (¢)

(a) Noimprovement
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N@iftd aredid ‘starving the children' & I W
'starving children' I IR Bl 'starving' (Adjective)
P I B ' FRIER|

55. This news is toogood to be true.

(a) Noimprovement
(b) so good that it cannot be true
(c) so good that it should be true
(d) cannot be true
S.S.C. ¥g® FRe WRIA (Tier-1) aiem, 2015
TTX (@)

IR H GIR B AaEA Tal gl @i IHRF 'too
good to be true' @1 T B almost unbelievable, so
good as to be unbelievable; not to be believed or
likely to be real.

56. The glass figurine that was being shown in the

storewindow appealed to me.
(a) that was advertised (b) No improvement
(c) that was on display (d) that was exhibited
S.S.C. Igh Fe WA (Tier-) wien, 2015
SR (0)

i aTFaTeT 'that was being shown' & I WX 'that

was on display' I« TA9 Bl T Past Continuous
Tense T TRAFT ST &l 2

57. Wedo not bdieve in adual policyof theconpany.
(a) Noimprovement (b) in these dual
(c) in this dual (d) onthese dual
S.S.C. ¥g® FRe WRIA (Tier-1) aiem, 2015
TR (0)

TdHd aTFIRT 'in a dual' § I R 'in this dual' IE
T 8l 9% I 'policy’ Singular Number # Bl 37
faFed (c) Td (d) &1 &1 Bl 'a dual' o1 7AW g T
B 1Ryl

58. Shesaid that she wasglad tobe herethatevening.
(a) to be there (b) No improvement
(c) to come here (d) to havebeen here
S.S.C. ¥gw WRe WRI (Tier-I) aiem, 2015
SR @)

Niihd IIETET 'to be here' & I WX 'to be there' &1
e 3fId Rl 9B f&a r 9@ Reported Speech #
Bl 3/ 'here' &1 URTH 'there H BT

59. Heis soméhow tallfor hisage.
(b) rather
(d) many
S.S.C. ¥ FRe WRIA (Tier-1) adiem, 2015
SR b)

(a) much

(¢) No improvement

NiTbd aTFEIET 'somehow’ & YU WX Adverb 'rather’

Y€ WM B 'rather I ARUY - ' TRTGHd, =gl

60. If hehas timehe will tdephone.
(a) would (b) No improvement
(c) might (d) could
S.S.C. ¥gh FRe WRIA (Tier-1) adiem, 2015
SR (b)

A H IR I TG ol gl 'If he has time'
Future Possibility @1 ¥1d T&c 21 ¥a gl 31 a8 Y&

K

61. Hemet European lady atthe conference who works
foran NGO.
(a) an European lady at the conference who works
for an NGO
(b) aEuropean lady who works oran NGO, at the

conference
(c) European lady who works for an NGO at the
conference
(d) No improvement
S.S.C. ¥gh FRE WRIA (Tier-1) adiem, 2015
SR (b)

VEGiidhd aredY & XM UR 'a European 1ady who works

for an NGO, at the conference’ I IR 2

62. 1took my mother somegrapes when she was in
hospital.
(a) Ibrought my mothersome grapes

(b) Ttook some grapes for my mother
(c) Ttook formy mother some grapes
(d) No improvement
S.S.C. 9gh FRe wRI (Tier-T) Tdier, 2015
SR b)

NEifhd 9@dY & R™IF TR ' took some grapes for my
mother' g T B

S.S.C.

(677)

English Language



63. She insisted on shewas innocent.
(b) insisted that
(c) insisted with (d) Noimprovement
S.S.C. ¥g® ¥Re WRIA (Tier-1) adiem, 2015
SR (b)

(a) insisted on that

Nifhd a1 'insisted on' % YMH TN 'insisted that'
g WA R

64. If I will getan opportunity, I shall attend the

seminar.
(a) shall get (b) got
(c) get (d) No improvement

S.S.C. Igh FRe wRE (Tier-T) Tsie, 2015
TR (©)

Gidd ATl 'will get' (Simple Future Tense) % %I
TR 'get' (Simple Present Tense) &1 TAW 3fad &l

65. We met yesterday, haven't we?
(a) didn't we? (b) hadn't we?
(c) isn'tit? (d) Noimprovement
S.S.C. ¥g® FRe WRIA (Tier-1) adiem, 2015
TTX (@)

68. Theworldis being faced with a crisis.
(a) confronted (b) facing
(c) in front of (d) Noimprovement
S.S.C. Igh FRG WREA (Tier-I) wdan, 2015
SR (b)

V@i T 'being faced with' $ I TR 'facing'
(P BRAT) @ TRET SRa Bl

69. Shecould not help butlaugh.
(a) laughing (b) but laughing
(c) laughter (d) No improvement
S.S.C. Igh FNG WA (Tier-I) Tdan, 2015
TR (@)

A AT 'but 1augh' F I TR Verb 'laugh' @1 -
ing' Form 'laughing' (gerundial) & TRFTSRId gl
can't help
can't bear
can't stand
can't imagine

Subject + + vi(ing form) &1 TN

B & I
396 S ¥ 'but' BT YIFT &I BT Bl

3 'but laugh' & 39 TR 'but laughing' &1 TN

Sfaa sl

YGifbd aTed 'haven't we' & Y9 W 'didn't we' (Simple
Past Tense) &1 TIFT IfId R Fife am@d I Past Tense

FI 9@ UdHe 8 Vg gl T a1 Tag Question W
areRa Rl

66. Youmust endure what you cannot cure.
(a) prevail
(c) sufer (d) Noimprovement
S.S.C. 9gh FRe WRE (Tier-T) e, 2015
AN d)

(b) accept

A H IR DI MARFA &l 2l Verb 'endure’
ATy g AFHE], A, g6 el

67. Hedoes notlaugh, norhe smiles.
(a) nor hedoes smile (b) neither he does smile
(c) nor does he smile (d) Noimprovement

S.S.C. 9gh FRe WRE (Tier-T) usien, 2015
TN (©)

i TEATT 'nor he smiles' & ¥IM TR 'nor does he
smile' &1 TRF SR B 99 & & AR 9199 ¥ 'neither’
?ﬁ‘ﬂ’iﬁ 'nor' 1 TN T TR _{3[ @?W’nor‘@-{@[‘s‘
'Clause’ IR g3l B, A1 are § Ugel Auxiliary Verb
AT § dUdrd Subject @1 AW BT Bl KT S
FIRFFAR nor does he smile' F1 1AW I 2

70. The others shook their heads and made vague
noisesof approval.
(b) nodded
(c) hung (d) No improvement
S.S.C. Igh FNG WM (Tier-I) Tdian, 2015
SW b)

GiThd areder 'shook' F %I WR 'nodded' (RR feir,
T A W TP BT FT IRE SR Bl

71. Both the teams played the gamefaidy.
(a) fairly played the game
(b) played fairly the game
(c) played a fair game

(a) turned around

(d) No improvement
S.S.C. IgP e Wk (Tier-) T, 2015
TR (©)

WEifhd T 'played the game hirly' & M W
'played a fair game' &1 WIM 3T Bl

72. They were beingcommand ed to wait till the signal

wasgiven.
(a) givencommand (b) commanded
(¢) command (d) No improvement

S.S.C. Agh s wWRE (Tier-I) wdan, 2015
SR b)
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dHd AFIRT G WM R 'commanded' 1 R Yg
2l 'Command' <1 Th ¥ WAT action & 7 f&
Continuous action| 3i: Ig1 ¥ Simple Past Tense &1
7 3faF ® I & Past Continuous Tense 31l 3%
fageu (b) Sfad SR =l

73. Theclimate of Shillong is somewhat like Kohima.
(a) as Kohima (b) asKohima's
(¢) like Kohima's (d) Noimprovement
S.S.C. ¥g® FRe WRIA (Tier-1) aiem, 2015
TTX (©)

Nfde ared®l 'like Kohima' $ M TR 'like Kohima's'
F1 AN SRA gl J8l 'Kohima' U6 w19 & W gl
'Kohima's for/g™ 3 'Climate o fKohima' &7 91 2id1 2l
I I (c) Wel SR &l

74. 1 hope you will be able to steer ahead of the
antisocial elements.

(a) steer out (b) steer clear
(c) steer free (d) Noimprovement

S.S.C. Igh Fe WK (Tier-I) T<ien, 2015
TN (b)

NGIfdd qEY 'carry the effuents' $ 9 UR 'carries
the efluents' &1 A7 SRT 2 ?jﬁ? 'River Singular
Noun gl 3W: Subject-Verb Agreement & FFGAR
Singular Verb &1 IR g9 <12 SR Bl

78. Theblue whale was thriving in all of the wodd's

oceans until theturn of the century, at which ime

they became h unted to the point of extinction.

(a) Theblue whae was thrivingin all ofthe world's
oceans up until the turn oft he century

(b) Blue whales werethriving in all of the world's
oceans until the turn of the century

(c) At the turn ofthe century, blue whales were
thriving in all ofthe world's oceans

(d) No improvement
S.S.C. 9gh RS wRI (Tier-T) Tdier, 2015

SR (b)

Eifhd 9T 6 IF TR 'Blue whales were thriving

in all ofthe world's oceans until the turn ofthe century’

€ WA B

N@iidhd aredteT 'steer ahead' & M WX 'steer clear
P TAFTSRIT Bl 'steer clear FT TEYI B 'to stay away

from; avoid'l

75. Heboweddown atthealtar.
(a) in front of the altar (b) nextto thealtar
(c) befre the altar (d) No improvement
S.S.C. ¥g® FRe WRIA (Tier-1) adiem, 2015
AN d)

AT H GuR 1 MaeEadl &l ol

76. We havebeenretradng our steps to thelog cabin

ten minutes ago.
(a) had to retrace (b) have to retrace
(c) will be retracing (d) Noimprovement
S.S.C. ¥gwh FRe WRIA (Tier-1) adiem, 2015
TTX (@)

i aRId 'have been retracing' (Present Perct

Continuous Tense) & Y9 TR 'had to retrace' (Simple
Past Tense) T a7 SR Bl

77. River Damodar in West Bengal carry theeffluents
from the Durgapurindustrial complex for miles.
(a) carries the efluents (b) carries the efiuence
(¢) carried the effluents (d) No improvement
S.S.C. Wgh WRe WRE (Tier-) wdien, 2015
TUx ()

79. I was struckby his singular app earance.
(a) struck by his single appearance

(b) had stricken his single appearance
(c) struck by how he singularly appears
(d) No improvement
S.S.C. ¥g®h FRE WRIA (Tier-1) adiem, 2015
IR d)

I | GIR HI3MTeIE T8l gl 'Singular F1 TR B~
'Unique, Strange or Odd' @_@l -

1. He had a singular appearance.

2. The singular appearance of the man caught his

attention.

80. John decided to go to the Advocate General todear

his name of the accusation.
(a) to clean his name (b) to cleared his name
(¢) to wash his name (d) Noimprovement

S.S.C. ¥gh e W (Tier-) T, 2015
SR d)

JIRRT H GaR B aHl Tal 2l J@d I "o
clearhis name' &1 @ 2- prove someone (or oneself)
innocent; to prove that someone is not guilty of a

crime or misdeed; to prove that someone is not guilty

of'something.
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81. He could notbe able tothinklogically becauseof
his illness.
(a) cannot be able (b) was not able
(c) can be unable (d) Noimprovement
S.S.C. ¥g® FRe WRIA (Tier-1) adiem, 2015

FAX b)

giihd areder 'could not be able' & %M TR 'was not
able' g TARTB] 'could' &1 TRIT SR & 'was able to'
gafoy g9a T Adjective 'able’ &1 TAW & &M
Bl

82. Many aman have died of cance
(a) Noimprovement (b) havedied from
(c) have been dying of (d) has died of
S.S.C. Igh FNG WA (Tier-11) adier, 2015
AN d)

NEiiHd arEaer 'have died of & I TR 'has died of
s wr el e Many a/an 3N more than one
F AT 9 Singular Verb $T TIFT f&31 ST 8; SIRE

Many a man was killed.

More than one boy was absent.

83. What does agonise me mostis not this criticism,

butthetrivial reason behind it.

(a) Noimprovement (b) agonises me most

(c) most agonising me (d) most agonised me
S.S.C. Igh FNG WA (Tier-11) 9dier, 2015

Wi e 'does agonise me most' $ I U
'agonises me most' & WA I & Tg Simple Present
Tense & WM g 2l

84. Theold car thumped alongover the stony road.
(a) crawled (b) No improvement
(c) creaked (d) chugged
S.S.C. Igh FNG WA (Tier-11) adier, 2015
SR d)

@it T "thumped' & I WX 'chugged' (B
BF IR gY ) BT AR SR R

85. My father has been advised to relu ce smoking.
(b) reduce down
(c) cut down (d) lowerdown
S.S.C. ¥gh FRE WA (Tier-11) adter, 2015
SR (9)

(a) No improvement

NEifhd qEd reduce’ (FH A1) F M TR 'Phrasal
Verb 'cut down' (BSII BT, AHT FH F1) B TN
3faa Bl

86. Mysister does not know whether tomomrowcanbe

aholiday for her.
(a) whether tomorrow is a holiday for her

(b) whethertom orrow will be aholi day for her
(c) No improvement
(d) whethertomorrow is a holid ay to her
S.S.C. 9gh FRE WA (Tier-1I) adiem, 2015
SR d)

IEifHhd Y 'whether tomorrow can be a holiday
for her' & I TR 'whether tomorrow is a holiday to
her' &1 TRIFT S FT 1M 'whether' & 21 'will' 31
TN eI Bar S Bl

87. Sincerity is always appreciated.
(a) Noimprovement (b) enjoyed
(¢) enhanced (d) waited
S.S.C. ¥gw WRe WRIA (Tier-11) T, 2015

TN @)

IR H IR I AAWFA T8l gl N@ifed qreaid
'appreci ated' (AT, MHR) & TAFT 3fIT Rl

88. Listen atention towhat I say.
(a) attend (b) attentive
(c) Noimprovement (d) attentively
S.S.C. Igh FNG WREA (Tier-11) 9diem, 2015
IR d)

Eifhd aTFTeT "attention' (Noun- &9, FHRINT) & wIH
‘attentively' (Adverb- SMYI®, &IF ) & 7AW 3o
2l

89. Nosooner had he reaching the station than the

train began tomove.
(a) Nosooner did he reaching the station than the

train began to move.
(b) No sooner had he reach the station than the
train begins to move.
(c) No sooner had he reached the station than the
train began to move.
(d) No improvement.
S.S.C. Igh FNG WREA (Tier-11) 9diem, 2015
SR C)

Nifbd aT® % ¥IF TN 'No sooner had he reached
the station than the train began to move' gg TIFT 2l

S.S.C.
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90. Heartfeltprayer to God will always have ex pected

95. Ifthe room had been brighter, I would have been

results.
(a) No improvement
(b) have desired results
(c) have amazing results
(d) have good results
S.S.C. Ug™h Fe WRIA (Tier-1T) Tdem, 2015
IR b)

Y@ifhd @ 'have expected results' § UM W
'have desired results' 31 A7 34T Bl have $ 915
Verb & Third Form &1 S3RT a1 <irar 2

91. I want to admit in auniversityin the US.
(a) enter (b) No improvement
(c) go (d) enroll
S.S.C. Ugwh FNeG wRIA (Tier-1T) Tdem, 2015
IR d)

NEhd ATt 'admit' & ¥ IR ‘enroll' (A fora,
™ fogF) & WFT Sfia R

92. Iwas greatlyshocked by the mostruthless murder.
(b) shocking
(c) loathsome (d) gruesome
S.S.C. ¥gh FRE W (Tier-1I) 9diem, 2015
SR @)

WGidhd arEaeT Adjective 'ruthless' (%%, i, Fea)
F UM W Adjective ' gruesome' (F3U, A, d149)
31 7y s R

(a) Noimprovement

93. Thesun willnot rise beforean hour.

(a) rise in an hour (b) arise in an hour

(c) Noimprovement (d) rises for an hour
S.S.C. Ug™h FNe WRIA (Tier-1T) wdem, 2015

TIN @)

Nifhd Tl 'rise bebre an hour' & ¥IF WX 'rise in
an hour' &1 WY 3fq Bl

94. Hehas composed ab eautiful song.
(b) penned
(c) jotted down (d) No improvement
S.S.C. Igh FRG W (Tier-11) adiem, 2015
SR d)

(a) written

I H IR I MTEHA Tl 2l Verb 'composed' 31
I 2 o, <=, Wa & <= e

abletoread for awhile before goingto bed.
(a) Had the room been brighter
(b) No improvement
(c) Iftheroom was brighter
(d) Iftheroom are brighter
S.S.C. Jgh FNG WA (Tier-11) adier, 2015
TR ()

Nifhd a1 Ifthe room had been brighter' & %I
TR 'Had the room b een brighter & T 3fed

96. TheLouvre, a museumknown to everyone in the

wond, is in Paris.
(a) aworld-renowned museum
(b) aglobally known museum
(c) Noimprovement
(d) aworld-fimous museum
S.S.C. ¥gw Fe WRIA (Tier-11) Tian, 2015
IR d)

IEifhd T 'a museum known to everyone in the
world' & M TR 'a world-fimous museum' & TIFT

K

97. Ahand pump is veryeasy to work and itcanbe

fitted in every house.
(a) can be fits
(b) could be fitting
(c) can be fitting
(d) No improvement
S.S.C. Jgh FNG WA (Tier-11) adier, 2015
IR d)

R T H IR B SaTHGA T B

98. They havenotand canotbe in thegood b ooks of the

coach because they lackdiscipline.

(a) have not been and can never be
(b) have not and can never be
(c) Noimprovement
(d) have not and can never been
S.S.C. Jgh FNG WA (Tier-11) adier, 2015
SR @)

NiPd 9T 'have not and cannot be' § IUF TR

"have not been and can neverbe' ¥ T 3T 2
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99. Honesty is moresuperior than rides.

(a) Noimprovement (b) superior to
(c) far superior than  (d) moresuperior to
S.S.C. ¥gwh e WRIA (Tier-11) Tdam, 2015

BN b)

@i IR 'more superior than' $ ¥ WX 'superior
to' & TRIN 3fHT B 'Superior to somebody or

something'. &1 TN BT gl

100. She is annoying that herfatherhad not aceepted
her suggestion.
(a) had to annoy (b) was to annoy

(c) was annoyed (d) Noimprovement

S.S.C. WY FG WRIA (Tier-11) adier, 2015
TR (©)

@ifdd areare Yis annoying' (Present Continuous
Tense) & I WX 'was annoyed' (Past Simple) &1

A SR 2

104. The train is running late time.
(a) after (b) behind
(c) off (d) No improvement
S.S.C. ¥gw FRe WRIA (Tier-11) Tdian, 2014
WX b)

WEGITH T ate' F XM TR 'behind' (I97 I O8)
31 W 3fd Rl

105. When the party ended, the band packup its

equipment and left.

(a) will pack up

(b) will have packed up

(¢) packed up

(d) No improvement

S.S.C. 9gh FRE W (Tier-1I) adiem, 2014

TR (0)

101. This mater admits no ex cuse.
(a) admits to (b) No improvement
(c) admits of (d) admits for
S.S.C. WY FRE WRIA (Tier-11) adter, 2015
TR (©)

Ngffhd arERT 'admits' F I TR Phrasal Verb 'admits
of (YoTsw BFI, JTANT <) BT WRINT S 2

102. He was a failureat artbut his last piece was so
beautiful thatno onecould believehe h ad painted
it.

(a) indeed a masterpiece !
(b) breath taking enough to be unreal
(c) No improvement
(d) very realistic and unbelievable
S.S.C. ¥g® FRe WRIA (Tier-11) Tdam, 2015
TTX (@)

i aTETeT "pack up' F M WX 'packed up' (Past
Tense) &1 a9 S 2

106. I made a lecture.

(a) will make

(b) gave
(c) would make
S.S.C. Igh FG WK (Tier-11) adiem, 2014

SWR b)

VEifhd TR 'made’ F I UR 'gave F WA IRIA

(d) No improvement

Bl

107. They prevented me from danger.
(a) was preventing (b) were preventing

(c) protected (d) No improvement

S.S.C. ¥gw Fe WRIA (Tier-11) Tian, 2014

TR (0)

YEihd aredY F M WX 'indeed a masterpiece @
EPRASIESR

103. Thecriminal was hung to death.
(a) Noimprovement (b) hunged
(c) hanged (d) hang
S.S.C. Wg® Fe WRIA (Tier-11) Tam, 2015
TN (©)

i TR 'prevented' & I WX 'protected’ (&l

BT B R ST B

108. The room is smoky.
(a) by smokes (b) filled with smoke
(c) with smokes (d) No improvement

S.S.C. Igh kB W (Tier-11) adiem, 2014
IR D)

i aTEaTT 'hung to death' & %M TR Verb 'hanged'
(WA <) & WAN 3T B

NEifhd TR 'smoky' & I TR 'filled with smoke'

& TN S Bl
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109. I really enjoyed the way the fashion show was
executed and I also very much liked its theme.
(a) its theme conveyed
(b) and the executing ofthe fashion shows theme
(c) Ireally liked its theme
(d) No improvement
S.S.C. Ug™h FNe WRIA (Tier-1T) Tdiem, 2014
TR ()

Nifhd RIS B W X 'was executed and its theme
conveyed' g = B

S.S.C. Igh FNG WA (Tier-11) 9dier, 2014
TR (0)

NiRbd 19T 'a smallernumber of' & ¥IF TN 'a ow'

(Adj- IB TH, FB) 31 T I 2l

113. Thechairs will be disposed in an auction.
(a) Disposed off (b) Disposed of
(c) Dispose towards (d) Noimprovement
S.S.C. Jgh FG WA (Tier-11) adier, 2014
SWR b)

110. Ronald mightfail thetest, in which point he'd re-

sitit nextyear
(a) Ronald might fail the test, in whichtime he'd

re-sit it next year.
(b) Ronald might failed the test, in which point
he'd re-sit it next year.
(c) Ronald might fail the test, in which case he'd
re-sit it next year.
(d) No improvement.
S.S.C. Jgh WG W (Tier-11) 9diem, 2014
SIRb)

giihd areater 'dispo sed' & %M WX 'disposed of (to
sell) @1 A ST B

114. The Chief Minister has promised to commit his
department to a renewed effortto clean up the
environment.

(a) administration
(b) departmental
(c) workers
(d) No improvement
S.S.C. ¥g® FRe WRIA (Tier-11) Tdian, 2014
ST @)

fa@ea (b) # a1 T I WM gE B

111. He saw looking through the wind ow, the beggar

standing right there.
(a) Hesaw thebeggar looking through the window

standing right down there.

(b) He, looking through the window, saw the
beggar standing right down there.

(c) Looking through the window, he saw the
beggar standing right there.

(d) No improvement

S.S.C. Ug™h FNe WRIA (Tier-1T) Tdiem, 2014
TR (0)

Y@ifdd @i $ WM W 'Looking through the

window,he saw the beggar standing right there.! g
T 2

112. Only asmaller number of students participatedin
the 15" Augustcelebration atschool.

(b) little

(d) No improvement

(a) constricted
(c) a ew

i aTETeT 'depart ment' $ M IR 'administration’

(v &1 WAF Sfad Bl

115. Both himself and hisrelations will beinvited.
(a) you (b) she
(c) he (d) No improvement
S.S.C. ¥g® FRe WRIA (Tier-11) Tian, 2014
TR (©)

YEiihd arediel "himself' (Reflexive Pronoun) & X

TY Personal Pronoun 'he' &1 TR SR Bl

116. AsI amsuffering fromfeve sogrant me leave for
two days.

(a) and grant me (b) please grant me

(c) grant myself

S.S.C. Jgh FRG WA (Tier-11) adier, 2014

TR (b)

(d) Noimprovement

YEGiThd aTeTe 'so grant me' % M UR 'please grant
me' 1 WM Sfd @ 9% 9@ 7 Conjunction (As =
because) Tgel I AT g, SAAY f&A1 3T Conjun ction

(s0) &1 TART Sfd ==l Bl

S.S.C.

(683)

English Language



117. A man'’s lifeis divided to four stages.
(a) into (b) as
(c) of (d) No improvement
S.S.C. Jgh FNG WA (Tier-11) adier, 2014
SR @)

N@ifhd aFTT H Preposition 'to' $ M W 'into'
RN SRIT ®l 'divided' $ 91§ Preposition 'into' 3
R I Bl

118. On saw themother, the child smiled sweetly.
(b) On having seen

(a) On seeing
(c) On seen (d) Noimprovement
S.S.C. Igh FNG WRIA (Tier-11) aier, 2014

TTN @)

IGifdscl <MeRIe 'approached to us' W WM TR

‘approaching towards us' & T¥W 3fad gl

122. There wereso many children at the party that it
was hardly impossible to keep acount.

(a) hardly possible for keeping
(b) hardly impossible keeping
(¢) hardly possible to keep
(d) No improvement
S.S.C. Igh FG WA (Tier-11) adiem, 2014
TR (©)

Nifhd T Thardly impossible to keep' & I UR
'hardly possible to keep possible' & 2l Preposition

'to' BT UM BA ST B

@it TR 'on saw' $ &AM UY Subject F H/U H
Verb ¥ Gerundial form 'On seeing' &7 WAFT I8 U=

JUGeh gl

119. The three dau ghters divided the propertybetween

themselves.
(a) for (b) to
(c) among (d) Noimprovement

S.S.C. Igh FNG WA (Tier-11) adier, 2014
TR (©)

WGHd aFTT H 'between' F I U Preposition
'among' 1 TAFT SRIT Bl 'between' FT TIAFT &I fRHaAl
T RPA % oI BN T B & 'among' FT TIRT T

¥ e fRpAT A aRgAT & faT WA T R

120. He did not giveme some books.

(b) any
(d) No improvement

(a) more
(c) much
S.S.C. ¥g® Fe WRIA (Tier-11) Tdiam, 2014

WX b)

YEifhd TR 'some' & WIF WX Adjective 'any' S
TR 3fed eFT Fifd Negative Sentence H 'some' &

M TR 'any' &1 WAN B ST B

121. Wesaw one tiger approached tous.
(a) approaching to us
(b) approaching us
(c) approaching towards us
(d) No improvement
S.S.C. Igh FNG WRIA (Tier-11) udier, 2014
TR (©)

123.1 am the secretary of the sports club since its
formation five years ago.
(a) was (b) have been
(c) had been (d) No improvement
S.S.C. Wgh ¥RE WA (Tier-11) adiem, 2014
SWR b)

VEifhd IEY 'am' $ XM TR 'have been' 1 TN
IRId Bl I I1R Present Perfect Tense ¥ BFII o
I B Ay g ' was appointed as the secretary of
the sports five years ago and it continued up until

now.

124. Sunil was acting strange when I saw him.
(a) strangely (b) stranger
(c) more strange (d) No improvement
S.S.C. 9gh FRE WA (Tier-11) adiem, 2014

TN @)

Eifhd TR Adjective 'strange' $ ¥ UR Adverb
'strangely' (SRAEIRYT WU 3, 3FTd 1 ) HITAN Sfd
H
125. I'shall not go unftl I aminvited.
(a) till (b) whether
(c) unless (d) No improvement
S.S.C. Igwh I W (Tier-11) adiem, 2014
TR (©)
NEiTdhd aredie until' M WX 'unless' FT TAFT Sfod

2l The Adverb clauses of condition are introduced

by the subordinating conjunctions like whether,

unless, until, till etc.
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126. The toddler has ahabit of throwing tantrums.
(a) expressing emotions
(b) expressing frustrations
(c) expressing happiness
(d) No improvement.
S.S.C. ugwh gR Fvs (Tier-11) wdiem, 2013
AN d)

I H IR Bl FaRFA Tal =l throw tantrums 1

I B AR Tdhe Bl

127. He absented from themeeting.

(b) absented himself

(d) No improvement.
S.S.C. g gR v (Tier-11) Tdiem, 2013

S b)

(a) was absent

(c) took absence

S.S.C. ugwh gRR @vs (Tier-1T) wdiam, 2013
IR D)

YGihd aTeaTe & %M 1R 3% (b) obs olete (3Wafewd,
Y FT W IfRAT Bl

NEihd IR $ WM U f3Fe (b)'absented himself
F1 TN SR R I H SIBT TAN Reflexively
f&ar ST 2l 9 Verbs Y ¢ OFe Tvad Reflexive
Pronouns 3% I &Y ST §; SI¥- absent, avail,

pride, plume.

128. The concert will start when thecondu ctor comes.

(a) when the conductor arrives
(b) when the curtain has been raising
(c) when the audience will armrive
(d) No improvement.
S.S.C. g gR Jvs (Tier-11) Tiem, 2013
TTX (@)

NERd AT $ ¥FF TR fa% (a) 'when the conductor
arrives' 31 TR SRIT 2F11 Ig N Complex Sentence
F Adverb Clause (Time Clause) 31 TN g1l g fora
o ¥ & aR o § = 9w § A, A, i |
A e $ if SRIAT when dTal WM 1 Simple P resent #
AR @Q El Simple Future Y foRaT B; SR¥ I shall go
with you, when you return.

Example of Adverbial Clause - when ?

130. You ought todo your homework oughtn'tyou?
(a) shouldn't (b) mustn't
(c) ought (d) No improvement.
S.S.C. g gRR JFUs (Tier-11) aiern, 2013
IR d)

qE Y RS2 & TS & B 'ought to' Special
Verb FgeTdl 8l I8 I8 TR Question Tag & ®©Y #
Tgad 2l The form of question tag should be in
agreement with the subject and the verb in the

statement.

131. A thing of b eauty is joy forever.
(a) is the joy
(c) isajoy (d) No improvement.
S.S.C. g TR JFus (Tier-11) adten, 2013
SR (0)
@A I F ITF TR ASEH () 'is a joy' I TN
Sfad 8rFTl TR § WU ¥ Igd ufid SERl aRd @
IIfe® Hfd John Keats B faal 'Endymion' 3t TRTHG
UfEd gl
132. Thelittle boy fell from the roof.
(a) fll below the roof
(b) 1l down the roof
(c) £ll off the roof
(d) No improvement.
S.S.C. 9gwh gRR I@vs (Tier-1T) Tiem, 2013
ST (©)

(b) is joyous

NEifhd ATAER $ I ) a6 (¢) 'fll off the roof
BT TR S BRI 'Rl % e 'off B TR A ST
g 9% 'rom' @l

The flowers will bloom when springs arrives.

129. Theair-conditioner has made ceiling fans a little

raundantin today's wodd.
(b) obsolete
(d) No improvement.

(a) superfluous
(c) extinct

133. Because thatthere wereheavyrains the lake was
flooded.

(a) Because of the

(b) As there were
(c) Sincethere was (d) No improvement.
S.S.C. ¥geh gRAR WBUsI (Tier-11) adien, 2013
SR b)

NEifhd I F IH WR A6 (b)'As there were'

T Skd grl
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134. The thieves ran away in a blackcar.
(a) fled
(c) jumped away (d) No improvement.
S.S.C. ugwh gR v (Tier-11) wdiem, 2013
TN @)

(b) escaped with

¥ 'made' F G infinitive (to + verb) F1 TG 'to' BT
(hidden) YgdT & 31: YEihd I % WIH W A (a)
'made us weep (not made us to weep) I TRFT 3

BRI

NEhd IR F R R fAdey (a) 'fled F1 TN
Ifea grml

135.1 don't understand why did you not call melast

night.
(a) why had you not call
(b) why you didnot call
(c) whynot did you call
(d) No improvement.
S.S.C. g gR v (Tier-11) Tdiem, 2013
ST b)
YEifdd areate & @M U 9% (b) 'why you did
not call' BT TAFT Ifd R RS verb A Ul subj ect
1 TN g TRl

136. What she said is not correct atall.
(a) incorrect (b) not incorrect

(c) correct (d) No improvement.
S.S.C. Wgwh gR Jvs (Tier-11) wdiem, 2013
SR d)

| a1 ¥ g 1 srawmwar 9 3 |

137. Myunclecouldn't rise up fromhis bed no more.
(a) any farther (b) any further
(c) any more (d) No improvement.
S.S.C. Igwh gR IHvs (Tier-11) Tdiem, 2013
TR (©)

YT IRIT ¥ IIF W 'any more' &1 IRIRT Sfd g1
ared ¥ 'Couldn't T4 'no more! & U Y WFT M U
9% Double Negative a1 G 31 STl

138. The train rolls along the track.
(a) rumbles (b) rattles
(c) ripples (d) No improvement.
S.S.C. g gR Jvs (Tier-11) Tiem, 2013
TTX (@)

NEhd 9E WM TR 'rumbles' (TSTSHI) B TR
w8 2l

140. Everybody was alarmed with the news of his

murder
(a) on (b) after
(c) at (d) No improvement.

S.S.C. Igw gRR I@us (Tier-11) e, 2013
TR (©)

Gihd aEdd & I TR Preposition 'at' 31 TIFT IYg
BT

141. The greatest fear which is scarin g of the world

today is global wamming.
(a) which had scared of the world
(b) that scared o ff the world
(c) that scares the world
(d) No improvement.
S.S.C. 9w gRR I@vsI (Tier-1T) uiam, 2013
TR (©)

B ITAER F WM W fAFe (c) 'that scares the

world' T T FE1 B

142. Anyone interested in computer programming can
find a job in contemporaryindustry if you learn
the basic programming languages, such as
COBOLand FORTRAN
(a) by studying (b) by the study of
(c) ifhe would learn  (d) No improvement.

S.S.C. g gRR JFUs (Tier-11) aiern, 2013

TTX ()

VEifhd I & ®IF IR g (a) 'by studying'
TR ST BTl

143. Anxietyand othersuch emotions areknown tobe

unhealthy to thebody.
(b) detrimental
(c) damaging (d) No improvement.
S.S.C. 9w gRR v (Tier-1T) wdiam, 2013
SR (b)

(a) dangerous

139. His miserable condition made us wept.
(a) madeus weep (b) madeus to weep
(c) madeus towept (d) Noimprovement.

S.S.C. g AR AHvs (Tier-1T) Tiem, 2013
TR @)

NEhd 96 & %M WX 'detrimental’ (3@, g1F@R)

1 AN Sferd 2R

144. The Portsmouth Summer Art Festival is theonly
placein New Hampshire where wearefortunatdy
seesuch diverse tales all in one place.

S.S.C.
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(a) we are ableto fortunately see
(b) we are fortunate to see
(c) we are fortunate to seeing
(d) No improvement.
S.S.C. ugwh gR Fvs (Tier-11) wdiem, 2013
SW b)

NEhd IR § ©F R fd$eq (b) 'we are fortunate
to see’ &1 TAFT SR BRI

145. Hespeaks not only English but Hindi as well.
(a) aswell as Hindi (b) Hindi too
(c) also Hindi (d) No improvement.
S.S.C. ¥ gRR JFus (Tier-11) adier, 2013
ST (©)

f&=1 T 9@ Compound Sentence 3| S IR UHR &
Conjunctions (Cumulative, Altemative, Adversative
IR Illative) FT TAFT ¥ a0 &l JgT SIS Ia aTdl
I 'cumulative' conjucntion 'not only —— but also'
1 TN SO BETl ST NEihd aIRiY YN UN
'also Hindi' &7 WART Sfd 8FMI I8 'not only' & 91
Noun (English) 3maT ¥ S9fa¢ 'but also' § 91§ 0
Noun &1 ER?PTgSﬂT e f73m g 3 3T 'not only' A1
Noun 3T g o 'but also' & d1& 1 Noun & TgF
BT, Verb &1l S TR I 'not only' F 918 Verb
M1 T, o 'but also' & I1€ W Verb & MW, Noun
el
146. His powerful desire broughtabout his downfall.
(a) his intense desire (b) his desire for power
(c) his fatal desire (d) No improvement.
S.S.C. g gRR JFusT (Tier-11) adier, 2013
SR (b)
VEifhd @R & W@ W a9 (b) 'his desire for
power' &1 TIRT &l BRI
147. My opinion of the play is that it will win the

National award.
(a) opinion to

(b) opinion about
(c) opinion on (d) No improvement.
S.S.C. g gRR JFUs (Tier-11) adier, 2013
W b)

Nifhd I & oI1 9¥ & (b) 'opinion about’

31 AT S gl
148. His opponentwas toostrong, Ram had to except

T RIS F I IR ¥R 3% (a) accept’ (R

PR I TAFT ST BE

149. Cowands die many times beforetheir death.
(a) Cowards beforetheir death many times die.
(b) Cowards beforedie many times their death.
(c) Cowards many times die beforetheir death.
(d) No improvement.

S.S.C. AR e, 2014

IR ()

PR B e H NEihd a9 H GER B ST

T R

150. Isawa bloatof hippopotamus.
(a) 1sawa bloat ofhippopotami.
(b) Isaw a flock o fthippopotamus.
(c) Isawa flock ofhippopotami.
(d) No improvement.

S.S.C. RAmmex e, 2014

SR b)

NG aTRTeT S ®IF TR 'Tsaw aflock ofhippopotamus'
31 TR SR Bl

151. The constable asked to the man what he was doing

atthe shop-window.

(a) The constable asked the man what, at the
shop-window, he was doing.

(b) The constable asked the man what he was
doing at the shop-window.

(c) The congable asked what, at the shop-window,
the man was doing.

(d) No improvement.

S.S.C. RAmmex i, 2014

TR b)

YEGhd AP G IF R fAFed (b) I TR Sfad
BN 98 Indirect Speech faded (b) Br

152. Bye, Sheila see you sometime.

(a) later (b) soon
(¢) never (d) No improvement.
S.S.C. RARgR Ui, 2014
TR (@)

VEIhd IEY 6 ™IF TR 'later (91§ H) F1 7N 3fd
BT

153. He told me that he wants tohave a talk with me.
(a) he wanted

defeat. (b) heis wanting
(a) expect (b) accept (c) he has been wanting
(c) confess (d) No improvement. (d) No improvement.
S.S.C. RARR uier, 2014 S.S.C. RARgR Ui, 2014
W b) ST (@)
S.S.C. English Language
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VEihd aER F WWH R fA6A (a) 'he wanted' I
Wi 3T 8l

154. I am confidant of winning the competition.

(b) confidential

(d) No improvement.

S.S.C. AR Tdian, 2014

(a) confidence
(c) confident

FTR (©)

TR AR ERA B
That is its name.

e H It's (It is 31 short form) F a9 Its (Possesive
Case &1 Pronoun) &1 WIFT Sfd 2Tl

VEifhd oG F IH TR W fIFe (c) 'confident'
ERUISICERN |

159. He gaveme a ten -rupees note.
(a) ten - rupee (b) tens - rupees
(c) tens - rupee (d) Noimprovement.
S.S.C. AR (I ’M’ ud ‘') udiem, 2014
T ()

155. The decent fromthe mountain p eak was slow and
painful.
(a) descent (b) decline

(d) No improvement.

S.S.C. AR Tdien, 2014

(c) decrease

TIN @)

VEifhd I & W TR IS 9% (a) descent (S,
SR, BT, ATV & WA Iy grml

156. Notonly the masterbutalso the servants was sad.

(a) is (b) were
(c) where (d) No improvement.
S.S.C. Ao uxier, 2014
S b)

A TRRT G A W GRS $I1 'were' 31 TN
Sfad 8l M ® & af <1 Subject 31 Notonly ...
but I not only ........ but also S ENT SISl 9™, o
vetb $ Number 3 Person 3iftH Subject $ 3R
TYad Y ST &l b I8 9IS aTaT Subject Igadd #
T, 3 RS A1 'was' & WM W ‘were' 31 HAM
STgHR &l

157. The cattles aregrazng in the field.

(a) cattle is (b) cattle are

(c) cattles were (d) No improvement.

S.S.C. AR gdien, 2014

BN (b)

NEifhd qEd F UF R [@EFA (b) cattle are FT TIRF
Sfed BTl I8 9) 'cattle' @ 9IFT Noun of M ultitude
F U H BT T A A WERG BT ‘are' UZF I
S|

158. That is it's name.
(a) Thatis its name.

(b) Thatname is its.

(c) Thatnameisit's. (d) Noimprovement.
S.S.C. R (I’ ud ‘') udiem, 2014
TUx (@)

VG e $ I TR @6E (a) 'ten - rupee’ H TAN
Sfad = AR ® & I Definite Numeral Adjective
3R Noun & Hypha (-) R Siedx U6 Compound
word SR 91, & Hyphen & 97 3T aT1dT Noun W
Singular (T&a) BRIl TeFam@ ¥ W DefniteNumberal
Adjective 'ten' T 'rupee’ @ Hyphen (—) R SII<aR
% compound word (ten - rupee) 1 AR | T& Plural
Noun'ten' ¥ Y& % §19u& Singular Noun 'rupee’ &1
TRIFT 2, ’rupees'Eﬂ:Fgfl a2 5 U e §
Hyphen (-) Y& U% §94 91§ 34 ard Noun Singular
I&d 8 Ty Hyphen (-) & 87U 38 Noun Plural 1
S g

SR+ You have twenty rupees.

160. It seemed he waspossessed with a demon.

(a) It seemed he was possessed by a demon.
(b) It seemed he was possessed o f a demon.
(c) It possessed he seemed of a demon.
(d) No improvement.
S.S.C. WA (I A/’ wd ‘<) udlem, 2014
ST @)

SRICIRAG G I
It seemed he was possessed by a demon.

161. Her parents always impressed herin her studies.
(a) trained (b) taught
(c) encouraged (d) No improvement
S.S.C. =R (I J/W’ Td S’) Tem, 2014
SR (0)

YEifdd arete § %M u¥ f3F (c) 'enrouraged'
(dicwfgd =) &1 WAF Sfaa gl

162. You should carry an umbrella as because it is

raining.

(a) You should carry an umbrella because it is
raining.

(b) Because it is raining, you should carry an
umbrella.

(¢) The rain is the because as you should camry an
umbrella.

(d) No improvement
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S.S.C. AR (I A" wd ‘<) udlem, 2014
TN @)

S.S.C. wArmR (I '/’ wd ‘<) udlen, 2014
TR (0)

TR AR ERA B

You should carry an umbrel la because it is raining.

W a7 WA 917 fIFe (¢) BFT- The company
has emplovyed two hundred people.

163. Jameel was instructed to complete the task by
Monday.
(a) Monday (b) Until Monday
(c) Upto Monday (d) No improvement
S.S.C. AR (I W' wd ‘=’) udlen, 2014
AR d)

IR H PR D J@IHA Tl 8l el W 'by Monday'
F1 RN TR g @b T by F TN & a9y ® &
SHId R g § 6 a8 9wa 21, O Monday & Ugel
3R1dT Monday a@ 31T feiRa odr o o <l

164. The conduct of many students arenot whatthey
should be.
(a) The conduct ofmany students is not what they
should be.
(b) The conducts of many students are not what
they should be.
(c) The conduct ofmany students is not what it
should be.
(d) No improvement
S.S.C. AR (I A’ wd ‘<) udhem, 2014
TN (©)

TSI 919 WRT &~ The conduct of many students is
not what it should be.

165. The ships sank and all his passengers were
drowned.
(a) all her passengers (b) all its passengers
(c) all their passengers (d) No improvement
S.S.C. AR (I W' wd ‘S’) udlen, 2014
TR (©)

i TR % XM WX fa&ed (a) 'all their passengers'
%1 IR Sfad grml R 2 fe Ship, Train AN Countries
% 99 Feminine Gender 9 Wd gl safow aed o
Ugerd Ships' (Noun-Feminine Gender) & forw
Possessive Case Pronoun 'their' &1 TIRT SARES] REI

166. Twohundred p eoplehave been employed by the

company.
(a) Two hundred people are employed by the

company.

(b) The company employed two hundred people.

(¢) The company has employed two hundred
people.

(d) No improvement

167. He is senior than me.
(a) to (b) by
(c) over (d) No improvement
S.S.C. WA (I A/’ wd ‘<) udlem, 2014
SR @)

B T F XM R fd$eU (a) Preposition 'to' &
T Sferd gl 9B Adjectives, Latin ¥ fow w2
g8 Latin Comp aratives &gl STl &l Senior, Junior,
Prior, Posterior, Supetior, Inrior, Anterior 311& $ Ugel
'more' 1 'less' BT TN -T2l SR §, 3719 9IS Preposition
'to' BT TAM BT B, 'than' &1 F Tl

168. Your previous project was only failed b ecause you
did not persevere yourself in it.
(a) failed only because you did not persevere.
(b) failed only because you did not persevere for
it.
(c) only failed becauseyou did not persevere.
(d) No improvement
S.S.C. Igw S wRE (Tier-1), 9iem, 2014
TTX ()

WE qreg A=A aa gel-
Your previous project failed only because you did not
persevere.

169. This crime makes a man liable fortransportation

till his life.

(a) to transportation to life

(b) for transportation for life

(¢) to transportation for life

(d) No improvement

S.S.C. Igw FhS wRE (Tier-1), 7diem, 2014

TR (©)

NEITHd I F I TR AHA (c) 'to transportation
for lif' 1 TANT 3T BN 3 AT I TR BRI-

The crimemakes aman liableto transportation for life.

170. 1 don'tthinkmany people will beabletoattend the
meeting tomorrow. I, butfor one, have to bein

Chennai.
(a) so for one (b) rather for one
(c) for one (d) Noimprovement

S.S.C. ¥ga & WRI (Tier-1), asien, 2014
TR (0)

NEifhd IEY & ®IF W) 3G () 'for one' 1 TN
3Ifa grml
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171. Myyvisit to my family are afewand farbetween.

(a) fw and a far between
(b) fw and far between
(c) fow or far between
(d) No improvement
S.S.C. JgT G WA (Tier-T), adiem, 2014
ST b)

S.S.C. 9g® G WRE (Tier-T), adiem, 2014
TR (b)

V@ifdd areare & M R fdwe (b) 'have much
sympathy' & TIN Fel BN T Fel a6 TRa
Rl

I'have much sympathy with you, my fiend.

NG T TR %I TR Bhd (b) 'few and far between'

My visits tomy family are few and far between.

'few and far between' & IR 2R & W IERTA IR

172. There friend ship will not last through long time.
(a) last through a long time
(b) last through
(c) last long
(d) No improvement
S.S.C. g S WA (Tier-1), 9diem, 2014
FTR (©)

VEifhd I F M TR f9F (¢) 'last long' I1 TIRT
St BrTl 3 eI I AREA BRI
Their friendship will not last long.

173. All these articles arekeptin a tin box to prevent

from spoiling of damp in rainy season.

(a) preventthem from spoiling by damp

(b) prevent them being spoiled by damp

(c) preventthem from spoiling ofdamp

(d) No improvement

S.S.C. g RS WA (Tier-1), 9diem, 2014

WX b)

176. Thebank managerwas given a holiday and sohe

resolved to go forhitch-hiking.

(a) with hitch-hiking

(b) for the hitch-hiking

(¢) hitch-hiking

(d) No improvement

S.S.C. Jgw RS WRE (Tier-T), 9diem, 2014

TR (©)

b e & R WX fdFe (c) 'hitch-hiking' &1
TR SR 21 'hitch hike' $1 TR0 21 & AR W Jod

AR AGR IR HRAT|

177. Our big iron gate jingles on its hinges as it is

opened.
(a) clangs (b) grates
(c) bangs (d) Noimprovement

S.S.C. Jgw S wRE (Tier-1), 9iem, 2014
TR (b)

EITHd TR F XM WX fade (b) 'grates' (RRBRFT;
TS &1 WIFT T 2l o el ardd grl-

Ourbig iron gate grates on its hinges as it is opened.

VR TEIRT $ M IR WHE (b) 'prevert them being
spoiled by damp' & TR S B

174. Although other p arts the world 20 per cent of the
farmareais owned by women, in India women own
less than 7 per cent.

(a) Ifin other parts of
(b) However some parts of
(c) While in other parts of
(d) No improvement
S.S.C. g S WA (Tier-1), 9diem, 2014
TR (0)

V@ifhd A § M W) fdFe (c) 'While in other
parts of a1 A Sfd gl

175. 1 had more sympathy with you, my friend.
(a) havemore sympathy

(b) have much sympathy
(¢) had much sympathy
(d) No improvement

178. Wave after wave suirounded the tower.
(a) engulfed (b) circled
(c) encircled (d) No improvement
S.S.C. ¥y gAY AevsH (10+2) WA g, 2014
SR @)

IGHd AR (surrounded) F M W fIFeT (a)
'engulfed' (8% o, I TR &P o) FT IR 34 2

Ex. Aboat engulfed in the waves.

179. Itis quite tough to declre which candidate will
win the presidential election.
(a) predict
(c) portend (d) Noimprovement
S.S.C. g g Aevsd (10+2) W g, 2014
TR ()

(b) augur

A qETT (delcare) & ¥ UR AHH (a) 'predict’
(omHr A1 qd e o, Afqaen) 31 wiE SR B

S.S.C.
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180. Transcoding has one of the items in the new
syllabus.
(a) is oneof the items
(b) has one of the item
(c) is one of the item
(d) No improvement
S.S.C. 9ga TR IevsN (10+2) W uiem, 2014
SR @)

VEifhd ar@Ee & M R 9@ (a) 'is one of the

items' &1 TIA S Bl

181. She does not tell lies, doesn't she?
(a) isn't she ? (b) does she?
(c) didn't she? (d) Noimprovement
S.S.C. IgH TR JFos (10+2) WRIF e, 2014
ST b)

& T 9@ Question Tag & 70 T= aMeIRd ® ot
Tgl TR BEHA (b) 'does she?' 1 RN 3T Bl

182. Haveyou ever been in New York?

(a) at (b) to

(c) with (d) No improvement

S.S.C. 9@ TR Iavs{ (10+2) W udiem, 2014

SR (b)
I HUFHA 'in' F WTE R [THA (b)'to’ BT WM IR
2l TF 'ever' I TAIN THRIES a1dd] Td T o 'if
F | UYH B ard aredl H a1 S g e ard
I - 'at any time'
S

Nothing ever happens here.

Don't you ever get tired.

Ifyou're ever in Miami, come and see us.

Have you ever thought of changing your job? "No,
never/No [ haven't.

Have you ever been to Rome? 'Yes, I have, actually.

Not long ago.'

TR (©)

q19 H UZH Preposition 'for' F WM TR 'on' F TIFT
Sfed 2l

185. When the li ttle girl losses her doll she began to
cry.
(a) losing herdoll (b) loss her doll
(c) lost herdoll (d) No improvement
S.S.C. Wga TR IavsN (10+2) W udie, 2014
TR (0)

NEifhd I § IF TR 36 () 'lost herdoll' 3
R S Bl

186. I brushed my teeth everyday at7 O' clockin the
morning.
(a) Ibrushes my teeth every day at 7 O'clock in
the morning.
(b) I brush my teeth every day at 7 O'clock in the
morning.
(c) Ibrush my tooth every day at 7 O'clock in the
morning.
(d) No improvement.
S.S.C. IgH TR JHos (10+2) WRIY uer, 2014
SR (b)

YEGhd IR F I TR ar@ fagey (b) 'T brush my
teeth every day at 7 O'clock in the morning' 9@ Td
R 1 g I SUPH Bl
187. More than 60% of India's population live under
the poverty line.
(a) live by the poverty line
(b) live below p overty line
(c) live beside the poverty line
(d) No improvement
S.S.C. ¥gH gAY JFosH (10+2) WRIF uler, 2014
SR b)

Y@fdd qrErer & M U” 3@ (b) 'live below

poverty line' &1 WarT ST Bl

183. Only me I can solve the problem.
(a) Only me can (b) Only I can
(c) Ican only (d) Noimprovement
S.S.C. 9ga TR Iavs (10+2) W uiem, 2014
SW b)

VEifhd aTAER § WM W) fdded (b) 'only I can' I
ER SRS

184. They congratulated mefor my victory in thedebate

compefition.
(a) about (b) at
(c) on (d) Noimprovement

S.S.C. WgE TR Iavs (10+2) WG usem, 2014

188. Why should yoube despaired of your successof
your undertaking ?
(a) you despair of the success of your undertaking
(b) you despair of success of undertaking
(c) you be despaired of the success of your
undertaking
(d) No improvement
S.S.C. IgHF FHS W (Tier-I) Tien, 2014
T ()

I F NEHT T BT AHA (a) F URAMT I o
IIF MY 81 I g1 S el aad ead g
Why should you despair ofthe success of your
undertaking.
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189. As Rees was going to town in the High Streeta
savagedog attadked himand bit him.
(a) going to town a savage dog attacked him and
bit him in the High Street
(b) in the High Street a savage dog attacked him
and bit him in the town

(c) going to town in the High Streeta savage dog
bit him and attacked him
(d) No improvement
S.S.C. 9gw 6 WRIA (Tier-T) udien, 2014
SR @)

YEIfHhd qEAY 6 &AM TR 'As rees was going to town

a savage dog attacked him and bit him in the high
street'. 1 TN IR BN, Kb WD K] B
qF B A G IR L

190. Something is pretty here that Vineeta can wear to

theparty.

(a) Something here is pretty

(b) Something is here pretty

(c) Hereis something pretty

(d) No improvement

S.S.C. 9gw e WRIA (Tier-T) usien, 2014

ST (©)
NEhd IR § ©F TR Ao (¢) 31 W SR Bl
3 R 9199 Fread BrT-
Here is something pretty that Vineeta can wearto the
party.

191. Thave dreamt all my lifeto own a beautiful maroon
coloured car.
(a) of owning (b) to owning
(c) at owning (d) No improvement
S.S.C. 9gw 6 wRIA (Tier-T) usien, 2014
STX @)

YEifhd Y F &AM TR 'of owning' BT TIFT 3faa
BrTIl

192. Sitting on the hill top, the sun wentdown watching
beforehim.

(a) he watched the sun go down.
(b) the sun went down with him watching.
(c) the sun went down when he watched.
(d) No improvement.
S.S.C. 9gw 6 WRIA (Tier-T) usien, 2014
TN @)

193. Theofficeis soon to beclosed.
(a) just to (b) about to
(c) immediaely to (d) No improvement
S.S.C. IgF FHE WM (Tier-I) Tien, 2014
SR (b)

N@ifhd aFaY 31 fadeq (b) ¥ 5o SR ®l oW
T 917 Faa g

The officeis about to be closed.

194. He has achieved nothing out of his way worth
mentioning.
(a) out of the way (b) by the way
(¢) in abig way (d) No improvement.
S.S.C. g FHE W (Tier-I) wdian, 2014
TR (@)

IR TR
He has achieved nothing out of the way worth
mentioning.

¥ I 7 B Swel v e wu ¥ Afde @ S

AT AT ¥ R IR B o TR S gan Bl

195. Iprevailed on himto voteforyou.
(a) to (b) at
(c) upon (d) No improvement.
S.S.C. IgH FHE W (Tier-I) wdian, 2014
ST (0)

&4 o ¥g Fweiagad i BR1 of ST 2 'Prevail'
EWQ'upon‘WWWW%,W@W‘@%%
"Prevail' & 1 'on' T TRAFT TR Bl I SR ‘¢’ vd 'd'
A €1 SR AT SSC 7 fIpad ¢! o1 81 I SR $
wq H ¥ & gl

"Prevail on' FT TETY BT B 'persuade (AF RT TN
G, IO a person to do something that they do
not wantto do; to succeed in persuading or including;
to use persuasion or inducement successfilly.

Ex. Can you prevail on himto go.

NEhd IRIY FT AHA (a) A URIT Sfad gl o
W A Feaa -
Sitting on the hill top, he watched the sun go down.

196. Eager top ass his finalexams, studyingwas the
students top priority.
(a) the student's top priority was studying.
(b) the student madestudying his top priority.
(c) the top priority ofstudying was made by the
student.
(d) No improvement.
S.S.C. g FHE W (Tier-I) wdian, 2014
ST (b)
NEihd IR B [AhA (b) A URRINT F- ¥ a1
YT 81 TG 3 el a9 Ead 8T
Eager to pass his final exams, the student made
studying his top priority.
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197. Mx Dev will notgo to the wedding reception without

being called.
(a) ifhe is not invited (b) till heisinvited
(c) unless he is invited (d) No improvement.
S.S.C. 9gw e wRA (Tier-T) udien, 2014
FTR (©)

W a3 AEHA (c) ¥ IGem IR | HEaqoT 8l
QM 3 FE 98 Fad -

Mr. Dev will not go to the wedding reception unless

heis invited.

198. Hitler was an absolute potentate.
(a) dictator (b) militant
(c) ruler (d) Noimprovement
S.S.C. WgE TR IavsN (10+2) W uem, 2014
ST (@)
@i RIS ¥ R {98 (a) 'dictator' (VHIURT;
TR, ETRIG) F1 TR Sfad gl

199. Having completion of the course, the stud ents left
college.

(a) Oncompletion of

(b) In orderto complete

(c) Down the completion

(d) No improvement

S.S.C. ¥gH TR JFosH (10+2) R wier, 2014

SR @)
WGhd T B faFed (a) 'On completion of ' 3
TR &1 H aed Hrayul 21 SIQl 3f: Fal ardd
faa grm-

On _completion of the course, the students lefi the

college.

200. Will you please give me a warm glass of water?

(a) Will youplease give mea glass of wamm water?
(b) Will you pleasegive I a warm glass ofwater?
(¢) Would you please give I awarm glass ofwater?
(d) No improvement
S.S.C. IR TR JFos (10+2) WRIY e, 2014
TTX (@)

YEhd @ B AP (a) I UfoReIfT &1 Sfad gl
3T e I BRI-

Will you please give me a glass of warm water.

201. Boil the potatoesand then crush ituntil soft.
(a) smash it (b) knead it
(c) mashit (d) Noimprovement
S.S.C. IgH TR JFos (10+2) WRIF wiet, 2014
SR (0)

GHd I § 3UF W QG () 'mash it' I T
S gl 3K e 91 BRT-

Boil the potatoes and then mash it.

202. They presented himabeautiful expensivedesigner

gold pen.
(a) an expensive designer beautiful gold

(b) a beautiful gold expensive designer
(c) adesigner gold beautiful expensive
(d) No improvement
S.S.C. WgE TR Iavs (10+2) W udia, 2014
SIR @)

IFI H GUR B! MaIDhAl el g

203. Renu ka availed herself of all the leave to her credit.
(a) availed of (b) availed
(c) availed to (d) No improvement
S.S.C. WgE AR @S (10+2) W uier, 2014
SR d)

e § PR b IERA T @ gO ¥ verbs § R
gwad Reflexive Pronouns & Y3FT 39T %A1 ST B;
SRF

absent, avail, pride, plume
SHEUE
1. He absents himself from the college without any

reason.

2. I availed myselfofcasual leave.

3. He prides himselfon his style.

A - avail &7 YA Passive voice ¥ &I 61 STl &
gafoe 1 availed mysel fofan offer &1 Passive voice —
The offer was availed of 3R] 2l

204. One of my friends are goingto Mumbai tomorrow.
(a) will (b) is
(c) has been (d) No improvement
S.S.C. ¥gE TR Iavs (10+2) W uiem, 2014
SW b)

Tg IR FERP BHA1 'are’ & IR 'is' BT TIRTSFIT BT

205. I want you to clearly understand that ex cuses will
notdo.

(a) You clearly to understand
(b) To clearly understand you
(c) You to understand clearly
(d) No improvement
S.S.C. ¥gH gAY JFosH (10+2) WRIF udler, 2014
SR d)

A H R B ATLFA T8l gl
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206. I sat down to domy assignment Instead of that, I
watched a movie.
(a) I watched a movie instead
(b) And I watched a movie
(c) Ibegan watching a movie
(d) No improvement
S.S.C. W@ TR Iavs (10+2) WG ue, 2014
SR @)

& T A Question Tag & wU H Bl $0F N@ihd
3 & M W fAFA (b) 'can one ?' I TN I Rl

212. The mother with her children were expected.
(a) was (b) will
(c) have (d) No improvement
S.S.C. ¥gE AR AavsI (10+2) W uler, 2014
TN ()

YEIHd I G UE TR AHA (a) 51 wAr ST grm
3T e IR Ead 2RT-

I sat down to do my assignment. ] watched a movie
instead.

207. Thetrain was late for fifty minu tes.
(a) behind (b) by
(c) around (d) Noimprovement
S.S.C. ¥gH TR JFosH (10+2) WRIF wier, 2014
SW b)

YEifhd aFATT H Preposition 'for' $ M W 'by' I
ERUISICERR |
208. Sohan is pleased atthe news yesterday.
(a) has been pleased (b) had been pleased
(c) was pleased (d) Noimprovement
S.S.C. 9@ TR Ievs (10+2) W uem, 2014
ST (©)

A aTRER & WH R 9 (a) 'was' I TN
SRR

213. An early bird catches the worm.
(a) Theearly bird (b) Acearly bird
(c) Early bird (d) No improvement
S.S.C. I FHNE WA (Tier-I) wdian, 2014
TR (@)

'"The early bird catches the worm' U# saying (®gldd)
- @ @@ 8- 'the person who takes the
opportunity to do somethin g befre other people have
an advantage over them.' I AR ERT NAIR BT Fal
T TN oY SSRT ST 399 U2l f& 3= =i Sy
a2l

VEifhd I & ™IF W) 36 (c) 'was pleased' I

A SR B

209. Shedid notlike themovie nor I1did.
(a) nordid L. (b) norl likeit.
(c) nordid I'likeit. (d) Noimprovement
S.S.C. WgE AR IS (10+2) TR e, 2014
TR ()

NEihd IR $ I WX f3F (a) 'nor did I' &7 TRAFT

Sfra Bl

210. Old habits die hardly.
(a) hard (b) too hard
(c) muchhardly (d) Noimprovement
S.S.C. WgE TR Iavs (10+2) WG uem, 2014
TTN @)
@ifhd q@dd ‘hardly' § 99 & (a) 'hard' W
RN ST gl
211. Onecannot beindiffernt toone's health, can't one
(a) can't be ?
(c) isn'tit ? (d) Noimprovement
S.S.C. 9ga TR Iavs (10+2) W uem, 2014
SR (b)

(b) can one ?

214. As thetenant was in deficit with his rent we were
forced to give him notice.
(a) behind (b) obligation
(c) difficulties (d) No improvement
S.S.C. YT FNE W (Tier-I) wdian, 2014
TR (©)

WEifhd aTER & @ W) fAFed () 'diffi culties' 3
RN ST 2Tl

215. Theengaged couple fell head overheelsin love.

(a) overhead his heels in love
(b) on his heels over head in love
(c) in love head overthe heels
(d) No improvement
S.S.C. WgE e WRIA (Tier-1) uiem, 2014
IR d)

7 H AR B JaIHAT &1 gl I8 Idioms/ Phrase 7
a1 a@d 8- 'loving somebody very much' (qoidn)

Ex. Heis fallen head overheels in love with his boss.

216. Nightclubs are open farinto night.
(a) into the night far (b) farinto the night

(c) into far night (d) Noimprovement
S.S.C. g FNE WA (Tier-I) wdian, 2014
QTR (b)
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'far' FT TR 'Time' F GSH BIT B~ 'a long time from
the present; fara large part of a particular period of
time; far into the something lateinto the night; until
very late.

IGHd IR 6 WE W Qe (b) &1 w3 3fa
EFTF

Sinceyour departure, nothing worthy ofnote has been

transpired here. &I WA Bl

Ex. Weworked farinto the night.

217. The Field Marshal knew that untrained troops
were no good tohim, he needed complete veterans.
(a) seasoned (b) defiant
(c) well-maintained (d) No improvement
S.S.C. IgH FHE WM (Tier-1) viem, 2014
TX (@)

222. Who can prevent you from getting married now
that you arewithin age?
(a) in (b) of
(c) on (d) Noimprovement
S.S.C. ¥gH FHE W (Tier-I) wdan, 2014
S (b)

YEifhd AT F WIF W 'seasoned' (BT arigm |
gwaN) @1 IR Sfad 2l

NEifhd IRATT A preposition 'within' & 997 AHa
(b)'of" A 'ofage' &1 TN 3
'ofage' — M be (over)21 years old.

218. Once onlydid she give herway toemotions.
(a) Only once did she give way to emotions.
(b) Only onceshe did give way to her emotions.
(c) Once only did she give way to her emotions.
(d) No improvement
S.S.C. 9gw Rd WRA (Tier-T) udien, 2014
TUX (@)

VEifhd 9@ B A6E (a) I TRRAMT F1 3T B
3T eI 9N BRT-

Only once did she give way to emotions.

223. Thedisparity of the GDP between therich and the

poor has broadened in the last somedecades.

(a) havewidened in the last some decades

(b) has widened in the last £w decades

(c) have broadened in the last few decades

(d) No improvement

S.S.C. g FHE WREA (Tier-) wian, 2013

ST (b)

i IR § WE U A% (b) § UgE e
F1 TN Sfaa Rl

219. Idon'tthink Harsh will beat Mohit at chess. Mohit
is onetoo much forhim.
(a) too much one (b) too many one
(c) one too many (d) No improvement
S.S.C. Jgw e WA (Tier-I) adier, 2014
TR (©)

Wb @ $ WM TR @& (c) 'one too many' I
A S Bl

220. Throughout history, both ancient and modem, men
were fond of waging war.
(a) had been (b) have been
(c) are (d) Noimprovement
S.S.C. 9gw e wRIA (Tier-T) usien, 2014
SWR b)

224. How is b eyond my und erstanding, the boy could
fall into theditdh.
(a) How the boy could fillinto the ditchis beyond
my understanding
(b) Beyond my understanding is how the boy
could fall into the ditch
(c) How could the boy fillinto the ditchis beyond
my understanding
(d) No improvement
S.S.C. IgH FHE WA (Tier-) wien, 2013
TN (@)

I F A FH AHA (a) Tl Bl

NGiibd arFIT & YT TR 'have been' 31 TAF Sferd

225. Thepioneer spacecraft went beyond Pluto.
(a) madeits way past (b) went across
(c) went afer (d) No improvement
S.S.C. IgHF S WRE (Tier-I) T<ian, 2013
SR @)

Bl

221. Sinceyour departure, nothing has been transpired

hereworth your notice.

(a) worthy of note has been transpired here.

(b) worthy of note has transpired here.

(c) worth your notice has transpired here.

(d) No improvement

S.S.C. 9gw b wRA (Tier-I) asien, 2014

SWR b)

@A aTEE & WIF W) 9T (a) 'made its way
past' &1 T Sfa B

226. Thefirm buy s frozn seafood in bu lk, packs it
into smaller pouches and then they sell themto
the local grocery stores.

(a) it sells them

(b) sell them

(c) they sell the pouches
(d) No improvement

S.S.C.
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S.S.C. 9gw 6 WRIA (Tier-T) usien, 2013
TN @)

b IR F I IR fa®ed (a) 'it sells them' &
TR 3 Rl

227. Thelearners areintended to read the sources at
home.

(a) are meant (b) are suggested
(c) are expected (d) No improvement
S.S.C. 9gw e wRIA (Tier-T) Tdien, 2013
SR (0)

NEihd IR § R IR f3FeT (c) 'are expected' o
EPRASTE R

228. Fuji's invention of supercomputer will beenable

to make Jap an supercede America in computer
technology.
(a) willmake Japan (b) will enable Japan
(c) can make Japan (d) Noimprovement
S.S.C. 9gw Fhd wRA (Tier-T) udien, 2013
SWR b)

NEiThd aTeaTer $ ¥ R fa%e (b) 'will enable Japan'
I Future Indefinite Tense & YA S Bl

229. 1 could never repay the debt I oweto my placeof

study.
(a) AlmaMater (b) Motherand

(c) Place of worship  (d) Noimprovement
S.S.C. ¥gad G W (Tier-1) wdem, 2013
TTX ()

VEifhd qEAY 6 UM WX (a) Alma Mater (3191 Bforot
a1 ferer, wig ¥Re) & Wi S R

230. Shecries all the time.
(a) mostly everytime

(b) day in and day out
(c) pretty frequently (d) Noimprovement
S.S.C. 9gw hd wRA (Tier-I) asiern, 2013
SR @)

IqFE H GIR BT AaEA Tal 2l

231. Fora weeklast month, the team's 20 players were
stranded because the Govemment-ssued passport

isnotup tointernational stand ards.
(a) Government-issued passports were not up to

international standards

(b) Government-issued passports are not up to
international standards

(c) The passport issued by the government were
not up to international standards

(d) No improvement

S.S.C. g FHE WA (Tier-) wien, 2013
TR (0)

VEhd IR & ©IF TR e (¢) 7 AU Ty areie
% TN S Bl

232. Since July 2008, our cus tomers will be able to
use the ATM network of BBY Bank, thebank that
was aqquired by us during thatyear.

(a) havebeen able to use
(b) were using

(c) will have been able to use
(d) No improvement
S.S.C. ¥ga e WRIA (Tier-I) udiem, 2013
SR @)

Nifbd aTedY $ ¥ R 'have been able to use' &
T SfUd § ®® a18d ¥ Past Tense &1 9d Uhe gl

gl 2

233. Thetoys he bou ght for Suzy aretoo good to be

cheap.

(a) are so good that to be cheap

(b) wereso good to be cheap

(¢) are so much good to be cheap

(d) No improvement

S.S.C. I FHS W (Tier-I) Ten, 2014

IR d)

T H GIR BT AaEA Tal Bl

234. 1 did one mistakein the dictation test today.
(a) Idid amistakein
(b) 1did amistakeat
(¢) Imadea mistakein
(d) No improvement
S.S.C. I FHNE WA (Tier-I) Tdian, 2014
FTX (©)

Nifhd I $ 99 'T made a mistake in' &1 TAM
I $ WA S ATIR IUYT gl

235. John has been detained ata meeting.
(a) onameeting (b) in meeting
(c) by the meeting (d) No improvement
S.S.C. Igw FHE WA (Tier-I) wdiem, 2014

IR @)

T H GIR BT AaTEA Tal Bl
'detain somebody' means 'to delay somebody or

prevent them from going somewhere.
Ex. I'm sorry - he'll be late, he's been detained at a

meeting.

S.S.C.
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236. The butler was as devoted as afaithful dog.
(a) a faithful pet (b) a faithful friend
(c) a faithful cat (d) No improvement
S.S.C. 9gw e wRIA (Tier-T) udien, 2014
SR @)

IR H GIR BT AaEd Tal gl

237. The government represen tative furnish ed the

reporters all details.

(a) furnished reporters all details

(b) furnished the reporters with all the details

(c) provided the reporters all details

(d) No improvement

S.S.C. 9gw 6 WRIA (Tier-T) Tdien, 2014

IR b)

YEihd aqIEid $ I UR furnished the reporters
with all the details' @ F¥T 32§ 'furnish something'
means 'to supply or provide somebody/something
with something; to supply something to somebody.
Ex. She furnished him with the facts surrounding the
case.

238. Itwas raining so heavily yesterday thatl could not
move out for myusual walk.
(a) Icould not move for my usual walk
(b) Icould not go to my usual walk

(c) Icould not go out for my usual walk
(d) No improvement
S.S.C. 9gw e WRIA (Tier-T) usien, 2014
SR (0)

Y@ifhd qEdY & I R ' could not go out for my
usual walk' &1 TN @maxoT 9 gfte 3 wifed Rl

239. Ram filled ink into his pen beforeleaving for

school.
(a) filled his pen with ink
(b) filled ink on his pen
(c) filledink in his pen
(d) No improvement
S.S.C. WgH FHE WA (Tier-1) wdiam, 2014
SR @)

YEifhd I 6 I R 'filled his pen with ink' T
RN 19 & AR 3fd 2
240. Thereis an error in grammar in this sentence.

(a) agrammar error
(b) agrammatical error

(c) awritten error
(d) No improvement

S.S.C. 9gw FR6 wWRIA (Tier-T) Tdien, 2014

¥R (b)

V@I Y % M R 'a grammatical error’ &1 TN

Sfra Bl

241. To his astonishment and admiration he gotthe
information thatit was onlythe picture of a curtain.
(a) saw clearly
(b) received the information
(c) found
(d) No improvement
S.S.C. g FHE WA (Tier-I) wdan, 2014
TR (0)

Vb IIEIY $ WM W 'found' 31 TN ST 2

242. Hedenied that he had not forged my sign ature.
(a) had forged (b) did not forge
(¢) wouldnot forge  (d) Noimprovement
S.S.C. IgH e WK (Tier-I) oiem, 2014
SR @)

IGHd I F I TR 'had orged' I WA 3T
2l

243. Theoffice is soon to be dosed.
(a) just to (b) about to
(c) where to (d) No improvement

S.S.C. IgF Fa6 WM (Tier-) Tan, 2014
IR b)

Ngiihd aTEET & ¥F TX 'about to' B AN Sfrd
grTI

244. Canyou please give me someleave?

(a) grant for me (b) grant me
(c) grant ffom me (d) Noimprovement

S.S.C. ¥y ¥ WA (Tier-1) uiem, 2014
X (b)

@i TR 'give me' $ XM TR 'grant me' FT TAFT
Sfd BrT WG S[THRT (leave) f&aT (give) ol STl
T 9fcd 33 9eM MAGRT ERT 'grant' 3RITT 'sanction’
(FSRT IS FRA) A1 ST gl Tl R Tg WeR A
(Verb) & w0 HUgda a1 RN g S1aid =1 (Noun) &
wu W g3aT 3 SE’ B B

245. The athletes who have won prizes are being

honoural.

(a) Theprize winning athletes

(b) The athletes who are given prizes
(c) The athletes who are winning prizes

(d) No improvement
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S.S.C. 9gw ¥ W (Tier-T) udien, 2014
TTN (a)

T H 'The' 31 W W@ifd a1 TR fdae9 (a) The prize
winning athletes &1 1IN ST BRI

246. Theteacherwas vary proficient in hissubject.
(a) expert (b) well versed
(c) proficient (d) No improvement
S.S.C. IgH FaF WA (Tier-1) udiem, 2014
SR d)

I H R BT AaEA ol 2l IS IR 'Profi-
cient' 31 I BRI & 'PI; G&l'| IT TR TS [IRWUT
(Adjective) B!

9% § A< g¢ S F fIU Verb, Past Indefinite
Tense ¥ TAM HIT ST &, ORF

The police had reached the spot before the thieffled.
PastTenseﬁW?ﬁHT@fﬁ"ﬁRﬁ%%NﬁﬂﬁW
F gl W ol & IR THRT IAF 91, I Ugd
qral Verb F g Past Perfoct Tense &1 WA IR 91
I Verb & foU Past Indefinite &7 YN 3G9y BT
TR 9 & Ml % fIT Past Indefinite Tense 3RraT
Past Perect Tense &1; SRF

I had reached the station befre the train had started.
I reached the station bePre the train started.

3 A S & 9 g gl

247. Therobbers fled before the police came.
(a) amrived (b) werecoming
(c) had come (d) No improvement

S.S.C. 9gw ¥ W (Tier-T) udien, 2014
SR (%)

248. The hosts were taken aback when many guests
who had beeninvited did notturn up forthe party.
(a) had been invited (b) had invited
(¢) was invited (d) No improvement
S.S.C. ¥gF Fad W (Tier-) wdan, 2014
R d)

I H R DI ATRFA Tal ol

faff=1 SmaAFT g1 U= w= H FReg U B uwgd
PR BT TN [RAR dedl S & & Ugd T U
2 TP IRV 7l T we I R 9 wERa B
R o U6 &8 9@ BF & 915 ORT $1 0
B 31 O Rl § forg 3Eol amgRvr # wse fm
T & uger 9 @9 dTd ¥ & foU Past Perfect
Tense Ud a5 § AT 29 did & & fIT Past
Indefinite Tense &1 YIFT BT aRTI S & R &
forg f&d1 U& Tense (Past Perct a1 Past Indefinite)
F WA IAYE AAT ST gl U 918 'The robbers
fled before the police came' ¥ Yg R F FFUTH
B B G & T Sl R 9@ ¥ Ugel € Ugel gU
BM (The robbers fled) @' Past Indefinite Tense H
TRGd AT TR R AR GIRA F foaw N 76w R
3T Ugel ¥ B 916 @R I e H IR vl Tel
& 'The robbers had fled' BT A1 a7 # g BRI (The
police came) % fIY Past Indefinite &7 TIFT g A
form ST 3R Y@ifda 2k 'came’ ®g 'No improve-
ment’ M G (d) I 929 Fx o STl SRRy
T IAMRAN J T T BT SR (a) R 'came' &
IM TR ‘arrived' fon 81 T8 f9gen g7 W= ogd 9@
F S 1 (U8l Td 9% H gU I1) Past Indefinite
Tense H B 9 ST f& WSl @R & gfte &
3RIg R &1 2as B THoRawy R RiseT Fa
"How to write correct English' & Verbs 3®I™ &1 37
el o1 -

IS Past Tense # & F1& TG &1 W B, Ol Ugof

249. Then with all his loothe sailed inwards Scotland's

shore.
(a) onwards (b) towards
(c) forward (d) No improvement

S.S.C. ¥gF Fad W (Tier-) wdian, 2014
TR b)

B AR F WE W AF (b) 'towards' ($1

aR; 1 R ¥) 31 TR IR B

250. Motorcars camry people from oneplace toanother.

(a) from place to place (b) about the place
(c) for travel (d) No improvement
S.S.C. IgF Fad W (Tier-) wian, 2014
TR (a)

T gY 1 & foIg Verb, Past Perfect Tense <RI

Orient Longman Dictionary ¥ 'carry' 316g & 3fRTd
Vehicle/Ship/Plane & TN @< gU 9 UHR d1EY
ENRIEY

Vehicle/Ship/Plane (Transitive) to take people or
things ffom one place to another. ... S T6R Meriam
Webster Dictionary H 95 'transport' &1 TR AT $d
g foran T %

Trasnport —: to carry (someone or something) from
one place to another.

S AT & SMER IR 5 U 1 SR 'd' 7 Al gl
el & Ao 'a' 31 M e W o H B e R 8
53 TP €1 U F 2 SR U@ U A Tal aF Ayl

IR TIF MIFT < 59 U9 &1 SR 'a' B 74 B
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251. Themaster aimed ablow to Oliver's head with the

ladle.
(a) athrow at (b) apunch in
(c) ablow at (d) No improvement

S.S.C. ¥gad 6 W (Tier-) wiem, 2014
SR (0
73T % W9 § I 3PN AR B STNSR a1
fEF1 & S ‘ 3ffferar feawe’ o go wig ufdq @l
N@iihd IR 'a blow to' § I WR fAded (c) 'a
blow at' &1 TIFT Sfed Bl

252. He found a wooden chair that has broken in the
room.

(a) wooden and broken chair
(b) broken wooden chair
(c) broken and wooden chair
(d) No improvement
S.S.C. Igw e WX (Tier-I) 9diem, 2014
SR (b)

el qIE G 9 (b) BF1- He found a broken
wooden chair in the room.

253. I'wish Iwas on avacation.
(a) am (b) were
(c) went (d) No improvement
S.S.C. 9gw ¥ W (Tier-T) udien, 2014
S (b)

FHANT T IR 71 30 IR TS 5 UL I
IR (d) I Bl SN & FAR 'T wish 1 was on a
vacation' U% g a7 gl I8 99 ¥ f& Singular
Subject % ART Singular Verb & WAN a1 T
aﬁﬁﬁ'l'%ﬁwa'was'mﬁmﬁﬂm%m
Y IUdle I gl U¥gd 918 Subject AR Verb &
AR 99 % Jaarg (Exception) Rl 4 dR
3UarE 98 § & Subjunctive Mood ‘@RI G 1
"TR B1 W@ 9Ge UR Singular Subject & 1T I
Plural Verb 1 TN a1 2l ‘ST A1 I’ I 9d
Wish, Condition, Supposition 3l I&I A HIE BRI
Bl e g & oRgd 9@ H T F e 'wish' @1 wAm
IS FAT B AT H1 S g I T wish'
& A FRTd wU A 'were' 31 WA BT T & 'was'
3T JHURGwI R.P. Sinha &d 'How to write Correct
English' U4 Thomas Eliot Berry gd 'The most com-
mon mistakes in english usage' @ Uil 1 |
Subjunctive Mood Y& TR M 168 H DRI Hed=1
I 9d (wish condition supposition) 3N 9 THS
2 WX SingularSubject & fdg 1 Plural Verb (Iga@=

# ) B TR Rear o R SRy

I wish I wereaking.

I'wish it were possible.

He commanded as if he were my master.

31 9/l 7 SingularSubject & @RI Plural Verb (3ga3+

31 fopan) @1 oA g T RIS STH VAT e

(wish) 3RIGT Gl (supposition) &1 W THT &I &

T Rredt gRT 21 U oRiva B o1 WU ® & 9/ A

PRI FAT T 9@ (fact i) THS W TR Rule of

Agreement 3T Subject 3R Verb ¥ ¥dfd S-S P —

P 1 a9 181 e ® 3R U1 uRReAf 7 Singular

Subject & ¥ 1 Plural Verb Ug& &A1 ST &l
Subjunctive Mood &1 TR g&aa: 31 Refcrll #

f&ar S & (1) e (wish) @ afreafed =g =

(2) a=afds aa F faudia gRRAM (condition) &t

e g SR

I wish he were there.

If he were here, he would help us.

3 IRV -

Incorrect : I wish I was as tall as my brother

Correct : [ wish I wereastall as my brother.

Incorrect : IfSheela was herenow, she would show

you how to cook.
Correct : IfSheela were herenow; shewouldshow

you how to cook.

254. Mumbai is bettertoany seaportin India.

(a) is better to any other seaport in
(b) was better to any of seaport in
(c) is better than any other seaport in
(d) No improvement
S.S.C. IgF Fad WM (Tier-) wdian, 2014
ST (0)

NEihd AT F XM WX fadeq (c) 'is better than
any other seaport in' &I A Sfd gl Ig e
'Degrees of Comparison' $ 3T gl STd I SRFH
ITITAT A I & eI o HI SR g o 'than' F

A &I S Bl

255. The poor man humbly was assuring him thathe
meant no hamn.
(a) insured (b) assured
(c) censured (d) No improvement
S.S.C. IgF Fad W (Tier-I) wian, 2014
SR b)

W I § I R fAeA (b) 'assured' (Past
Tense) &1 TN 3 BFTI
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256. By the time] receiving the letter, the date for the
interview was already over.

(a) Ireceived the letter
(b) I had receiving the letter
(c) I was to receiving the letter
(d) No improvement
S.S.C. 9gw ¥ W (Tier-T) udien, 2014
TTN (a)

S.S.C. IgH Fad W (Tier-I) wan, 2014
SR (d)

IR H GIR T AawEA Tal ol

NEifed TR & UM R faFed (a) '@ received the
letter’ (Past Tense) &1 TIRT 3frd BT

257. Despite seeing the danger mne sign the young
boys jumped over the fence.
(b) high risk zone
(c) protected zone (d) No improvement
S.S.C. ¥ga 6 W (Tier-) wdiem, 2014
ST

(a) restricted zone

I R DI FTREA Tal 2l

258. Aren't you tired of this never-ending rain?
(a) incessant (b) intermittent
(c) continuous (d) No improvement
S.S.C. 9gw ¥ WA (Tier-T) usien, 2014
TTX (a)

Niihd I § RMH IR fa®ed (a) 'incessant' 3RIT
FRE & v Sfa grml

262. You cannot avoid to speak to someone when you
both live in thesamehouse.

(a) speaking tosomeone when you bothlive in the
same house.
(b) speaking someone when you both live in the
same house.
(¢) speaking with someone when we both live in
the same house.
(d) No improvement
S.S.C. g Fad WM (Tier-I) wdian, 2014
TN (a)

NEihd IR § F R fAee (a) o1 AN Sfaa
BT 9/ # Infinitive (to + Verb) 3RIW 'to speak' &
M WX Verb ¥ Gerundial Form (Merb + ing) 'speak-

ing' &1 TR eI 2

263. As soon as the train left Kharagpur and reached
speed, aband of robb ersbrought out theirrevolvers
and daggers.

(a) Gained (b) Lost
(¢) Redoubled (d) No improvement
S.S.C. ¥gF Fad W (Tier-I) wdan, 2014
T (a)

259. The more they earn, that much theyspend.
(a) More they earn, more they spend.

(b) More they earn, the more they spend.
(¢) The morethey earn, the more they spend.
(d) No improvement
S.S.C. g w6 WA (Tier-T) Tdien, 2014
SR (9

SRS BRI & AR I a1d [P (o) 2l

260. I refreshed mysdf by acup of tea.
(a) was refreshed (b) was refreshing
(c) refresh (d) No improvement
S.S.C. 9gw ¥ W (Tier-T) udien, 2014
TTN (a)

V@i qIERT § I UR fdd (a) 'was refreshed’
P TN Sfad BFT G Ig a7 WA Passive
Voice 0 ¥ gl

261. There was no suggestion that the leader should
resign.
(a) expression (b) offer

(c) desire (d) No improvement

WA I (reached) $ I W faFeq (a) b
(Verb) 'gained’ &1 TN SUYFE BN b Jgi X
YSFTS T 1 H IQIa™T 1 91 B TS Bl

264. Aninstantlater pandemonium wasbroken out.
(a) had broken (b) was breaking
(¢) break (d) No improvement
S.S.C. IgF Fad WM (Tier-I) wdian, 2014
SR (a)

NGihd 9T 'was broken' Simple Past Tense &
Y™ WX 'had broken' I™ Past Perfect Tense &1 WA
Sfaa gl

265. 1, Nidhi Jain, is happy © express my views on the
topics"Types of Pollution and their effect’.
(a) I, Nidhi Jain, is happy to express my view on

the topic, "Types ofPollution and theirefects".
(b) I, Nidhi Jain, is going to be happy to express
my viewson the topic, "Type of Pollutions and
their effects".
(c) I, Nidhi Jain, am happy to express my views on
topic, "Types of Pollutions and their efects".
(d) No improvement.
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S.S.C. 9gw ¥ R (Tier-T) udien, 2014
TR (©)

B TR & ¥ TR {3 (b) 'registered' (T,
Toleg, Mag) o1 9 Sfd Bl

BRI @R [T § AR el ardd f9%e (c)
BT &A1 (Subject) 'T' $ IFAR FEIG BT 'am' AT
gaa 'topics' & 999 "topic’ 3R pollution Td effect
H — 5 TR S dgadd a1 el =l

266. Being tired, he lays under the banyan tree.

(a) Being tired, he laid under the banyan tree.
(b) Being tired, he lay under the banyan tree.
(c) Being tired, he lied under the banyan tree.
(d) No improvement.
S.S.C. ¥gad 6 W (Tier-) wdiem, 2014
SR b)

e # 'lays' & IO T537 'lay' ST TAF IR & AR
g B Il

267. Thetrain of thetiming aresub jectto change.
(a) The timings of the train has been subject to

change.
(b) The timings ofthe train have been subject to
change.
(c) The timings ofthe train are subject to change.
(d) No improvement.
S.S.C. ¥gad a6 W (Tier-) wdem, 2014
TR (©)

o 1 9@ e T Rl PG IR W A5 (o)
g 9% B

270. Heis on the brinkof financial ruin.
(a) periphery of (b) boundary of
(c) side of (d) No improvement
S.S.C. A SRS (M. T.S.) Tem, 2014
SR @)

IR F PR D ERHA T4l 7] NEihd TR
'brink of 1 1 ‘fHART 81 Bl 'on the brink of &
3f B ¥ I, HIFS U ST RAR F U Bl

gl

271. Prohibition is better than cure.
(a) Prevention (b) Preparedness
(c) Preventive (d) No improvement
S.S.C. A& SRGT (ML T.S.) Tem, 2014
SR (a)

@i 36 F YT UR fIFT (a) 'Prevention’ (J16TTH)
@1 TIFT SFId Bl 'Prevention is better than cure' Th
Proverb (Ferad) ® i@ 3Rt & ‘"W UH gl

Bl It is better to prevent a misfrtune if you can,

than to find a remedy forit afer it has taken place.

272. It was she, not me, who putforth the attractive
proposition.
(a) she, not I (b) her,not me
(¢) her,not I (d) No improvement
S.S.C. A& SRGT (ML T.S.) Tiem, 2014
T (a)

268. Thecloser I approached the valley, so moredense
became the vegetation.

(a) the vegetation became more dense
(b) the dense vegetation came
(c) the more dense became the vegetation
(d) No improvement
S.S.C. A SRGT (M. T.S.) Ten, 2014
TR (©)

NEiha I § R R 3% () 'the more dense
became the vegetation' ST TIRT 9147 ST SRIYY A

2l

269. He had not even seen her presencein the same

room.
(a) rejected (b) registered
(c) regretted (d) No improvement
S.S.C. 9 SiReT (M. T.S. ) T<iet, 2014
SR (b)

gfda a9 b 9o Fdl (Subject) & wU H
'she' {31 T 2, 996 IRI 'me' Nominative Case F
Pronoun &1 TR IRIG <€ 2rm dfcs fgda odl
(Subject) & T H 'me' & WIF W ' F M I
BT 3d: AP (a) she, not [ 31 AW E’W%I

273. Hewas able to manage the business in the absence

of his father.
(a) execute (b) explore
(c) carry on (d) No improvement

S.S.C. 9 SRET (M.T.S.) Tier, 2014
IR ()

I GSH & JTIR @b I= 'manage’ FT T
IRT B 3 PR FI MawEA T Bl

274. The teacher asked me what is your name?

(a) what was my name (b) what my name was
(¢c) what yournameis (d) Noimprovement
S.S.C. A SRbT (M.T.S.) uien, 2014
SR ()
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fer a1 9199 Indirect Speech%b’ wr ¥ Fame
I Direct Speech # Reported Speech TTTGad I
(Question Word) ™ What, Which, Who, Whom,
Whose, When, Where, How 3¢ & URY 8l 8 al
Indirect Speech # f&l a1 Connective 1 TIFT el
31 ST Bl ¥ 9 ¥ Connective 31 R IR &l
YIREE®S U ('What') $ T2a1d Sl (Subject) TFTHT
qaEEa™ a1 (Verb) &1 RN IRd ¥ o YEida
qIET | 'what is your name ?' (Interrogative) &1
T8l Assertive H A 'what your name is' H 951
Tedr Indirect Speech 910 @RI 'your' (Pos-
sessive Case) 1 'my' H TR TS {51 'is' 1 'was'
H 951 < & 3 fawed (b) W R

275. 1 then divested mysdf of my stinking clothes and
washed my shirt.

(a) in my stinking clothes

(b) ofmy stink clothing

(c) from my stinking clothes

(d) No improvement

S.S.C. A& SReT (MLT.S.) uien, 2014

ST d)
I | IR I SMTRHA Tal 2l 'Stink' BT T Bl
T 989 ; g0l 'Divest' 31 A B} & ‘BIS o,
QPRI UMl Divest & 9@ Preposition &1 WM {1
STl 2l

276. Thetrain may be late asithappened vesterday.

(a) as it had happened yesterday

(b) as happened yesterday

(c) as it was happening yesterday

(d) No improvement

S.S.C. A <RSI (MLT.S.) asien, 2014

SR b)
Niibd areRr 7 it' F1 sFaRsd wan & = gl
'as happened yesterday' &1 TaR 3fad Rl

277. Mydaughters will be disappointed unless I'mhome

by 7.00 pm.

(a) if I'm nat homeby 7.00 pm

(b) unless I have gone home by 7 pm

(c) unless I am going home by 7 pm

(d) No improvement

S.S.C. 9 STRGT (ML.T.S.) Tiet, 2014

ST (a)
95 O 9@ A9 ¥ R & wreRiE ve @
3 (Condition) Y& ¥ T TR 9N H IGF URUM
(Consequence) H adT2d B T A 'if, unless, in

case, supposing, provided, that, but for, one more,
were, should, had 3R and g1 &b &1 5Tl 21 (o
U 0 NG@Bd 98T ¥ 'unless' T 94 (Condition) &
| R, I TR W ‘unless' A if TG

IE B THRAS A1 <d X 'not’ FT AN IUKH 2l

278. The carpenter has been given a routine to finish
his job.
(a) framework (b) deadline

(c) limitation (d) No improvement

S.S.C. 9 SRET (M.T.S.) aer, 2014
SR (b)

@ifhd aTed® 'routine' 1 TR $ WeH H TR
IUYFE Tel gl 39 WM W faFed (b) 'deadline’

(i, st faRn) &1 wam st grml

279. Thelabourers arebent atgetting what is due to

them.
(a) bent for (b) bent upon
(c) bent in (d) No improvement
S.S.C. 9 SR (M.T.S.) Ter, 2014
ST (b)

@ifhd I § A U 'bent upon' I TR Sfad
2l 'bent upon' &l T BT & * 30 kI AT I &

fow ReR M1’ I ‘g8 Tha” |

280. Although the goal-kegper was responsible forthe
defeatin theimportant football match, nobod
blamed him.

(a) still nobody blamed him
(b) nevertheless nobody blamed him
(c) yetnobody blamed him
(d) No improvement
S.S.C. 7 SRS (M. T.S.) aer, 2014
SR @)

IR H GIR BT Aaed Tal gl

281. The children found the storyfunny.
(a) humorous (b) bad
(¢) ridiculous (d) No improvement
S.S.C. A SReT (M.T.S.) uien, 2014
SR @)

I AR B J@aIGA1 ol gl @I ek funny’
P 3R} 'gRISHS’ BT B

282. The cattleare fed on barley and grass.

(a) cattles are fed (b) cattles are feeding

(c) cattleis fed (d) Noimprovement
S.S.C. 7 SRbT (ML T.S. ) usler, 2014

IR ()
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A | GIR I @ISR &l 8l 'cattle’ U FHgAEH
5T (Collective Noun) ® Td S 9gaa (Plural) Y
RN &1 ST &l $8 Nouns U9 & R W2 9a1

9ggad (Plural) ¥ BT ¥ WM S@ § ¥ UHaad

286. The criminal was ordered to be hanged todeath.
(a) hung to death (b) hanged till death
(c) hungtill death (d) no improvement
S.S.C. ¥gh TR JBvs (10+2) W uden, 2013
SR b)

(Singular) TId 8K 8l —s A —es TR S© 9gaa
(Plural) &1 91T ST %, SR¥ Cattle; Cavalry;
Clergy; Gentry; Infintry; Nobility; Poultry; Peasantry;
Children. etc.

9E: Cattle; Swine; Mankind; Police Public S ok
SR &1 a9 (Numbers) H 9g® N Sk g Jefd g8
¥ SFIE 9941 § W9 Igd gl PP a8 add (Sub-
jed) 9gF@ (Plural) 91 (Noun) &, Id: STH HERIH
3 (Veib) 71 9gaad (Plural) €1 9g& 8H1 312K cattle
& T IR BA are' I WA A BT

283. The President shook hands with all thepersons

on thed ais.
(a) shook hands with all.
(b) shook hands with each of the persons.

(c) shook hands with everyone.
(d) no improvement.
S.S.C. IFwh gRR IBvs (10+2) WRIY e, 2013
SR (0)
BT qIER H AR F AE F JAFAR IG5 (c)
shook hands with everyone &1 W 3 Rl

284. The fronds of the coconut tree make a gentle
musical note when thewind blows.
(a) music note (b) music sound
(c) musical sound (d) no improvement

S.S.C. IFh TRR IBvs (10+2) WRIY e, 2013
TR (©)

Efebd AR 'musicd note' % 19 TR 'musicd sound'
1 TR S 3| T a1dd &1 99 Jg § B 19 a1 g_a
T T ART S T A AN A g, TAAT 'musical
note' % M TN 'musical sound' &1 YIRS 2FT

285. Theexpert was very interesting in this candid ate.

(a) was having interest (b) was very interested
(c) is having interest (d) no improvement
S.S.C. gh gRR IBUS (10+2) Wi gder, 2013
SW b)

RGP AT H AR F 9E F AFAR fIF (b)
hanged till death &1 TIFT SUYT

287.1If a man remains as careful as he is in the
beginning, there will be no failure.
(a) he at the beginning
(b) he was in the beginning
(c) he in the beginning
(d) No improvement
S.S.C. g gTRR IFUS (10+2) WM gder, 2013
SWR b)

GiHd a@dd b1 fdwed (b) 'he was in the beginning'
¥ ufoRenla $<1 Iugad R If one remains as

careful at the end as he was at the begining, there will

be no failure.

Nihd R H 9§ 96 b AR [h (b) 'was
very interested' &1 gepiic SERER] 2l

288. Complete the formalities of registration of the
workshop beforeyou enter the hall.

(a) formalities ofregistration for
(b) formalities to register for
(c) formalities to registering for
(d) No improvement
S.S.C. ¥gh TR JFvS (10+2) Wi e, 2013
TTX ()

GiHd qadd B faFeq (a) formalities of registration
for 3 URRIT IUFE

289. Sheis quitewell now, except aslight cold.
(a) except fora slight cold
(b) excepting a slight cold
(¢) except have a slight cold
(d) No improvement
S.S.C. UFwh TR JFUsI (10+2) WK udier, 2013
T ()
Eifda araate § MUY fAFe (a) except for a
slight cold ¥ WM ITFFT B

290. The commoners joined the king's army at
crushing the rebels.
(a) without (b) in
(c) into (d) No improvement
S.S.C. Ug®h TR JFUS (10+2) WA e, 2013
S d)

I H IR D) I B Tal B
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291. He argued endlessly with himon the subject.
(a) argued on and on
(b) arguedall thetime
(c) argued continuously
(d) No improvement
S.S.C. 9Fwh gRR Iavs (10+2) WRIF e, 2013
AR d)

296. In the desert, the sun is the master, all else re-
signs before its merciless rays.

(a) collapses (b) falls

(c) retires (d) No improvement
S.S.C. Tax Asst. T<ET, 2008

TN @)

Eed TEGE H GR B STaGdr T R

292. She sat on the tree to protect herself from the

rain.
(b) sat before
(c) sat under (d) Noimprovement
S.S.C. IFh gRR IBvs (10+2) WRIF i, 2013
SR (0)

(a) sat upon

@A A BT 'collapses' ¥ M IRadd w1 3faa

Bl 'collapses' T 3®f § A B S|

NEhd IR $ I Y [A®e (¢) sat under FT TR
JUYH g

297. They are bringing down the old bridgeto build a
new one.

(a) destroying (b) damaging

(c) demolishing

S.S.C. Wgh ¥RE WRE (Tier-11) wdiem, 2013

X (0)

(d) No improvement

293. I will be giving blood in the hospital at9.00 a.m.
tomorrow.
(a) exchanging (b) contributing

(d) No improvement

S.S.C. 7<) <fRpn adiam, 2011

(c) donating

TN (©)

NEifhd qEY B AHA () 'demol ishing' 3 HfeRenfa

N SR Bl

V@ifhd AN % IM TR 'donating' F1 WAM I Bl

294. Children with disabilities and special needs also
have the right to education just like normal
children.

(a) just as normal children do
(b) even as normal children are doing
(c) along with normal children
(d) No improvement
S.S.C. ¥gw FRe WRIA (Tier-11) Tdiam, 2013
TTX (@)

298. Allhis efforts to find his lost child werein vane.
(a) vein (b) wane

(¢) vain (d) No improvement

S.S.C. ¥t FRe wWRIA (Tier-11) asien, 2013

TR (©)

A  ¥d G JAJAR GIdd aEF B [AHA (c) vain

(f) ¥ TR HRAT SUYH Bl

Nifed aTede B faded (a) 'just as normal children

do' ¥ TRRRIMT B U 2

295. The difficulty level of this problemis ex tremely
great.
(a) perplexity (b) hindrance
(c) intricacy (d) No improvement
S.S.C. 9 SRGT (MLT.S.) Tiet, 2013
SId)

Eidhd areard gl oRf W IR T R, o GER @l
SIERETIIRRI

299. He came despite of his busy schedule.
(b) but for

(d) No improvement

(a) nevertheless
(c) in spite of
S.S.C. Igh FRE WRE (Tier-11) 9diem, 2013
TR (0)

YGihd Preposition 'despite of & M R fadeq (c)
'in spite of B TIFTIIYH &l

300. The receptionist asked the patient, '"Who
recommended you to Dr. Paulson ?"
(a) introduced (b) referred
(c) alluded (d) No improvement
S.S.C. 9gh ¥Re WA (Tier-11) wdiem, 2013
SWR b)

f& "™ 9@ Direct Speech # g WiHd aaRT 31
fa@e (b) referred (Ffdw) 3 ufiirena F<=11 Sugw 2
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301. I intend tolearn French nextyear.
(b) learn
(d) Noimprovement

S.S.C. Tax Asst. T<RT, 2008

(a) learning

(c) have learnt

IR ()

306. You cannotpass aslong as you study.
(b) unless
(d) Noimprovement

(a) provided
(c) less
S.S.C. Jgh I Wi (Tier-11) adiem, 2013
SWR b)

T3 BT ¥GIded 9T infinitive' (to + verb) ¥ ST ared
FI IMIRFIIIR SUYH © ol 9 97 H IR I
SICRICT IS I

302. I walked back home after the movie yesterday
night.
(a) last night
(c) that night
S.S.C. WY FRG WA (Tier-11) ater, 2013
SR @)

WiHd Y B fAFed (a) 'last night' I HRReNRT
FAT SUYH B

(b) previous night

(d) No improvement

303. The police needed him for armed robbery.
(a) liked

(c) werelooking to

(b) was afer

(d) Noimprovement
S.S.C. Tax Asst. U<k, 2008
W b)

NEifhd arddd @ fdFea (b) unless (9 0 &)

gfoRenli 1 SugH 2

NGfibd 9T & ¥ W 'was afier’ &1 AT 99 2

304. They have not spoken to each other sincethey
quarrelled.
(a) for
(c) ever since
S.S.C. 9g® FNe wRIA (Tier-11) Tdem, 2013
SR d)

(b) because

(d) Noimprovement

IqHE H IR BT FaeFA Tal gl

305. Thedemonstration passed away peacefully.
(b) passed

(d) No improvement

(a) passed out
(c) passed on
S.S.C. Ug® Fe WRIA (Tier-11) Tdem, 2013
SIRb)
VEifhd qEd B ™IF ) 36 (b) 'passed’ 1 TN
SUYH ¥

307. Last evening I went to the optician and bought

spectacles.

(a) a spectacle (b) two spectacles
(c) a pair of spectacles (d) Noimprovement
S.S.C. Jgh Fe WA (Tier-11) 9diem, 2013

TR (0)

@GP @ 'spectacles' § WM TR 'a pair of
spectacles' &1 W7 3fad Bl

308. Thereis no more roomforyou in this compartment.
(a) no more seat
(b) no more space
(c) no more accommodation
(d) No improvement
S.S.C. Tax Asst. T<eT, 2008
IR d)

IR H GIR BT AaREA Tal gl

309. Itis easy tosee why cities grew on the river banks
(a) along the river banks
(b) in the river banks
(c) upon the river banks
(d) No improvement
S.S.C. Tax Asst. T<ET, 2008
TTX ()

NEifhd MR § UM UR “along the river banks' (F
AR, & a97d ) &1 TN 979 B e 3R UeH
N Bl

310. Hekept us all in suspension regarding his future
plans.
(a) suspending (b) suspense

(d) No improvement

S.S.C. Al ST adian, 2011

(c) suspicion

SR b)

IF & Eifdd AW B 'suspense’ (M) I ufcRenfa
YT SRRHY Bl
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311. He returned the book after he read it.
(b) reading

(d) No improvement

S.S.C. 7 <R adlem, 2011

(a) was read
(c) had read

TR (©)

e $ NGidd 9FT B 'had read' I vieremg= i Bl
Riid 91T Past tense ¥ 2

312. As hewas abraveheart, Rakesh dedded to join the
ammy.
(a) Though he was a brave heart
(b) Although he was a brave heart
(c¢) While he was a brave heart
(d) No improvement

S.S.C. Wl SR Tdiem, 2011

AR d)

IqFE H GIR T AaeEd Tal ol

313. They sat by the river bank with their legs
remaining in thewater
(a) swimming (b) dangling
(c) washing (d) No improvement
S.S.C. Igh FNG WA (Tier-11) adier, 2013
IR b)

316. One of my neighbours will sell his house who is

going abroad.
(a) Oneofmy neighbours will who is goingabroad

sell his house.

(b) One who is going abroad of my neighbours
will sell his house.

(c) One of my neighbours who is going abroad
will sell his house.

(d) No improvement

S.S.C. ¥g® FRE R (Tier-11) Tsien, 2013
TR (©)

NEhd I B AHA (¢) I TR a1 Sfd 'l

317. 1 like tea and I like coffee.
(a) tea to cofee
(b) tea afer coffee
(c) both tea and cofee
(d) No improvement
S.S.C. Igh FRE WRE (Tier-1I) wdiem, 2013
SR (0)

Wihd @ & W W) @& (b)'dangling' (FAFT;
ASH) BT TR AT

NiThd G 'tea and 1 like cofee & 9 TR 'both

teaand cofee &1 TN SRIT Bl

314. Abuffalo cannotdefend abuffalo againstlion.
(a) A buffilo cannot defend another buffalo
against a lion.
(b) Buffalo cannot defnd bufalo against lions.
(c) Buflalo cannot defnd a buffalo against lion.
(d) No improvement
S.S.C. WgP FNG WA (Tier-11) 9dier, 2013
SR @)
Yo a1 B REA (a) A TRRING AT SR B
315. Isatdown on thebench to look at the trophy I won
as a prize.
(a) Isat down on the bench to look at the trophy I
had won as a prize.
(b) Isat down on the bench to look at the trophy I
have won as a prize.
(c) Isat down on the bench to look at the trophy I
hadto win as aprize.
(d) No improvement
S.S.C. ¥g®h FRe WRIA (Tier-11) Tdiam, 2013
TUx ()

VEifhd I B AEA (a) I TRRAMT F1 3T B

318. Maggietook a hotbath becauseshe was working
in the garden all afternoon.
(a) is (b) has
(c) had been (d) No improvement
S.S.C. ¥g® FRE R (Tier-11) Tsien, 2013
TR (©)

faU 17 aeg § Past Perfect Continuous Tense & g
fAfRa B, o1 fadeu (c) 'had been' &1 WA 3IRAT B

319. The countryfaced arainfall deficitof eightpercent
after the four month long southwestmonsoon.
(a) during the
(b) at the end ofthe
(c) for the
(d) No improvement
S.S.C. Igh FRE WA (Tier-11) 7diem, 2013
SWR b)

YGhd RIS F ¥ TR [AHA (b) 'at the end ofthe'
T TAF S ¥ % AFNE 9 BF $ 9IS o auf
F FH F g =GRl
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320. There are many spedes of parakeetsin India, the
recognizable being the Roseringed parakeet.
(a) morerecognizable (b) more recognized
(c) most recognizable (d) Noimprovement
S.S.C. WY FRG WA (Tier-11) uter, 2013
TTXN (©)

NEiihd aTeaTer$ I U faded (c) 'most recognizable
1 TR S Bl

321. Diamonds are eernal.

(b) forever
(c) imperishable (d) Noimprovement

S.S.C. A& SiRGT (MLT.S.) asien, 2013

(a) enduring

TN b)

Nifhd IEIY 'etemal' F IF TR 'forever I TAN
Sfa 2l

322. Thecooking soup on the stove got bumt.
(a) The soup cooking on the stove got burnt.

(b) The soup which has been cooking on the stove
gets burnt.
(¢) The soup which have been cooking on the
stove got burnt.
(d) No improvement
S.S.C. A SRS (MLT.S.) aien, 2013
ST (@)
NEThd IR G I WX fadeq (a) &1 W S gl A
fadeq (b) WM (¢) H has T have $ M WX had BrT
RUKCE ISR

323.1 have studied such charactas at dose hand.
(a) closeto hand
(c) close off hand (d) No improvement

S.S.C. 9 SR (MLT.S.) Tiet, 2013

(b) at close quarters

FAX (b)

Vb IR F M UR [AF (b) 'atclose quarters'
ERCESESE

324. He was tooglad tosee his friend.
(a) very glad (b) so glad
(c) to glad (d) Noimprovement
S.S.C. ¥gw e W (Tier-11) Tem, 2013
TTX (@)

YEifhd I 'too glad' & IF W 'very glad' @
AN S Bl

325. Seeing that she is very tired, I walked out of the
roomand let her sleep.

(a) seeing that she are very tired
(b) seeing that she was very tired
(c) seeing she is tired
(d) No improvement
S.S.C. ¥gw FRe WRIA (Tier-11) Tian, 2013
SWR b)

VEifhd aTER $ IM TR a6 (b) 'seeing that she
was very tired' &1 TN Sfad ® G 9180 I WA
clause Past Tense ¥ 2

326. She hurt her back while she worked yesterday.
(b) had worked

(d) No improvement

S.S.C. A SR adian, 2011

(a) worked out

(c) was working

TR (0)

qIET $ NGifdbd IR 1 'Past Continuous' I TfARemaT

qF B IRIS g7 B

327. I must quitthejobnow if Iprefer a better one.

(a) It's timeI quit the job ifl prefer abetter one
(b) It's timeI quite the better job ifl prefer
(c) It's time thejob quits me berel get the better
job
(d) No improvement
S.S.C. 9 SiRE (MLT.S.) Tdier, 2013
IR d)

I H GIR BT AaEA Ta gl

328. He is so intelligent that he could win the quiz

compefition.
(a) will (b) can
(c) should (d) Noimprovement

S.S.C. Igh WG WA (Tier-1I) 9diem, 2013
SR (b)
IGHd IR F WE W A (b) 'can' I TAN
Sfaa B

329. If theroom had been brighter Shweta would have
been ableto read fora while beforebedtime.

(a) Ifthe room was brighter, Shweta would have
been able to read for a while bebre bedtime.
(b) Ifthe room been brighter, Shweta would have

been able to read for a while befre bedtime.
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(c) Hadthe room been brighter; Shweta wouldhave
been able to read for a while before bedtime.
(d) No improvement
S.S.C. Igh FRG WRIA (Tier-11) adter, 2013
AN d)

NEihd IR F M ) e (d) 31 W Sfad Rl

330.He makes excdlent portraits.
(a) paints (b) portrays
(c) illustrates (d)No improvement

S.S.C. \icdl ST (MLT.S.) uslen, 2013

IR @)

39 qIE § R B aEA el g

331.The dog bitehim.
(a) beat him (b)bit him
(c) bitten him (d)No improvement
S.S.C. el Siffd T (MLT.S.) usier, 2013
SR (b)

335.Sinceshe directing the play for quite some time,

she knows the actors really well.
(a) Since she has directed
(b) Since she has been directing
(c) Since she was directing
(d)No improvement
S.S.C. wiccl Siffd1 (MLT.S.) uslen, 2013
SR b)

@i 3fe @ fddeu (b) IRIT Present Perfect

Continous Tense | AR AT IULH gl

336.She is sarutinising hard for thefinal examination.
(a) recollecting (b) recapitulating
(c) revising (d)No improvement

S.S.C. ¥edl ST (M.T.S.) aer, 2013
FX (¢)

N@idd IR F ¥AF TR {96 (b) 'bit him' FT 71T
I B

Eifhd T 'serutinising' % I TR 'revising' &
A A BN TR (exam) ¥ UE 'revise' (JIERT)
& S/ € 9 & recapitulate (Fe H I 1 I1:
Verb 'scrutinising' & M TR 'revising' &1 TRAIF 3fd

2R

332.Students will have to takethe test again tomorrow.
(a) apply the test (b) avoid the test
(c) retain the test (d)No improvement

S.S.C. Hec) SRET (MLT.S.) Tdier, 2013
SR d)

337.This is the late edition of the Shakespearean play
which wasoriginally published in 1603.
(a) later (b) latest
(¢) latter (d)No improvement
S.S.C. wiccl Siffd 1 (MLT.S.) uslen, 2013
SR (b)

NEiiHd 9 B fadeq (b) latest (T F1) I TioRemas

IR H GIR BT AaEd Tal gl

Sfra Bl

333.The innocence of the child was obliterated due to
hard labour.
(a) maintained (b) increased
(c) destroyed (d)No improvement
S.S.C. el SiRET (MLT.S.) Tdier, 2013

IR )

338.You can borrow my laptop aslong as you promise
notto misuse it.
(a) only long as (b)too long as

(c) so long as (d)No improvement

S.S.C. \icc! ST (MLT.S.) usien, 2013
SR d)

7 H IR B J@IHAT Fal gl 'Obliterated' F1 J1eY
“fafta = B g

I H R DI FARFA Tal ol

334.Hewas given alot of pressure tosign the deed.
(a) told (b) forced
(c) asked (d)No improvement
S.S.C. \ied! ST (MLT.S.) usier, 2013

339.0nreceiving his appointment letter; Ravi treated
us with asumptuous meal.
(a) treated us to (b) treated us for
(c) treated us by (d) No improvement
S.S.C. \iccl Siffd 1 (MLT.S.) uslen, 2013
T (a)

@i e @1 fAdwe (b) 'forced' W TRRRNT
HAT S B

Nihd AT F1 fddeq (a) 'treated us to' I TioRRTTT
3Ifra B
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340. Thevivid photos of majesticanimals and colourful
birds from thewilddife parkis agraphic depiction

344. Jackie has already gone to the airportshe will

meet us at the check-in counter.

of what is b eautiful in the continent of Africa.
(a) is a graphic depiction of what was beautiful in
(b) are graphic depictions of what is beautiful in
(c) is a beautiful and graphic depiction of
(d) No improvement
S.S.C. W e WX (Tier-I) udtem, 2013
S (b)

Jibd IS F 2RI TR e (b) ¥ Ry v i
31 w31 SRrd 2Tl 4f Subject 'photos’ Igae ¥,
I AERS fHAT are &1 wAN Sfad 2R

341. New hires in this laboratory should anticipate

excellent research opportunities and getting
valuable clinical ex perience.
(a) aswell as
(b) and also getting
(c) and obtaining
(d) No improvement
S.S.C. O e WA (Tier-1) wdiem, 2013
T (a)

(a) goneto the airport and Jackie will meet us
(b) gone to the airport and she will meet us
(c) gone to the airport, she ought to meet us
(d) No improvement
S.S.C. ¥gh FIe W (Tier-I) wdem, 2013
SR b)

NEihd IR & I IR [Ade (b)# iRy v aeaiy
1 TR 3G BATI Q1 91T B Siew 29 Conjunc-
tion 'and' &1 TIRT BRI

345. Theplaceat which the two roads med, you will find
a smalllog cabin.

(a) Where the two roads meet
(b) At the place where the two roads meet

(c) The place wherethe two roads meet
(d) No improvement
S.S.C. Wy e W< (Tier-T) udtern, 2013
SR (a)

NEihd qEY 6 M R @F (a) 7 Ry 0 gy
1 7A Sfid gl

NEihd IET § I U) 'as well as' &1 UIFT S
BT 'as well as' &1 T § - & LAY

342. Itis more better to take this route than the other
one.
(a) good (b) better
(c) more good (d) No improvement
S.S.C. Og® e W (Tier-1) wdiem, 2013
SR b)

Better &1 WA A1 @ 3Pl A much F AT AT
3% TUPFd BaT 7l Much better T& Grammatical

expression ¥ STdf& more better ungrammatical ex-

pression gl

343. Sheis absent; shemust be sickagain.

(a) She is absent; she has been sick again
(b) She is absent; she is sick again
(c) She is absent; she must have been sick again
(d) No improvement
S.S.C. Wgh e W (Tier-I) 9dtem, 2013
ST d)

Ry W Eidd 9@ # FE W R H snavEs
€I 2l She must be sick again shows that the illness
is happening now.

346. The Blue Whale, weighing morethan 150 tons,
the largest known animal on Earth.
(a) weighing more than 150 tons, it is

(b) weighing more than 150 tons, is the
(c) which weighs morethan 150 tons, being the
(d) No improvement
S.S.C. WG e W< (Tier-I) adtern, 2013
SR (b)

g I8 BT - The blue whale, weighing more than
150 tons, is the largest known animal on Earth.

347. Although I wasinitially apprehensive,1found the
eafing of snails tobe arather pleasantexperience.

(a) Tatethe pleasant snail's experience

(b) I found the snails experienced

(c) Ifound it to be a more pleasant experience

(d) No improvement

S.S.C. g FI6 WA (Tier-I) wdem, 2013

SR @)
ey @ g # &8 9 TR $ IR B navaed
&l gl |’y W g a1 B A orf g -
gTale gRY H W [T on, fés @l 31 @ @
T FIHI P gag ¥l
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348. Theman atean apple, an orange, and washed his

hands.

(a) an apple and an orange, and washed his hands
(b) an apple, an orange, washed his hands

(c) an apple, an orange and his washed hands
(d) No improvement

S.S.C. W e W< (Tier-T) udter, 2013

qE H fow rupees SUR TR T S WIEFT $T 1 IET ©
N fewmpeesﬁﬂﬁq?iﬁ[’ﬂéﬁwwgq’l 31
91 WM ' lend me a fw rupees' ST I B
oS W BUY’ & Wgl grTl

352. Fiveyears ago today, I am sitting in a small Japanese

cag driving across Poland towards Berlin.

TTN (a)

Y€ a3 BT - The man ate an apple and an orange,
and washed his hands.

(a) was sitting (b) sat

(c) havebeen sitting (d) Noimprovement

349. After we ate a spectacular nine-course dinner

three television shows werewatched byus.

(a) we were watching three television shows
(b) we engaged in the watching of three shows
(c) we watched three television shows

(d) No improvement

S.S.C. ¥ e W (Tier-1) wdiem, 2013

TR (©)

S.S.C. W e W (Tier-I) adten, 2013
TR (a)

el 5 99 Y4 3 F 2 fad I g 519 98 Fier o 39
TS & IR ST R Fed) oI el o1 O Refa
# fQU U a9 H IHE IR (Present Continuous)
1 AN HeTfd Sfed 7€ €, 3: Past Continuous
Tense &1 TN el BT

353. Hecould not look anythingin thedarkroom.

Y& q1E BT - Afier we ate a spectacular nine-
course dinner, we watched three television shows.

350. They left the hotel by car where they had been

(a) look at (b) see
(c) see through (d) No improvement

S.S.C. W e W< (Tier-I) adtern, 2013

staying.

(a) They lef the hotel where they had been staying
by cat

(b) They lef wherethey were staying in a hotel by
car.

(c) Ina car they lefft where they were staying in a
hotel.

(d) No improvement

S.S.C. W e W< (Tier-T) udter, 2013

SR b)

IR H UG look F YIFT IUYH SO el © S
TR TG Badl TP oo § ST § Seid 'see’
T AT w9 F /@ F 3@AdA 31 2l R T
Sentence Past Indefinite § Could ¥ 7 ¥ W 2l
3 seeBﬂchf%\’l

354. No one could explain how a calm and balanced

person likehim could penetrate such a mindless

TTN (a)

TR DIEed #9 TR 9, 3 R A BIS I 6
91 FE S & R, 9% (a) H 9@ W@ We A
¥R Bl mer: @R Principal clause § %9 7 They
lefi the hotel & 3R f Hotel &1 faRmar sad g

Where they had been staying by car W&l TN &l

351. Will you lend me fewrupees in this hour of need ?

acton his friends.
(a) perpetuate

(b) perpetrate

(c) precipitate

(d) No improvement

S.S.C. Wy e W< (Tier-T) udtern, 2013

(a) lend me a little rupees
(b) borrow me a few rupees
(c) lend me a few rupees
(d) No improvement

S.S.C. W FIae W< (Tier-T) udtem, 2013

SR (b)

f&T U Sentence 39 3R1 @1 e & T ¥ & UH
Wgferd 3R oid efdda aren e B T RRfe
P IJURET A FAF TR B FFT B, Perpetrate FT 31
B~ U0 A SN HRA

TR (©)
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355. Anyonewho would speak with authority onthepoet
of the Renaissancemusthavea broad acquaintance
with the writers of classical antiquity.

(a) Anyone who will speak

(b) Ifone would speak

(c) Anyone desirous for speaking
(d) No improvement

S.S.C. Wgwh e W< (Tier-T) udtem, 2013
SR (d)

IR R WE ¥ WE g AR B G PR H Soxd
& Bl

356. He found a wooden broken chairin theroom.
(a) wooden and broken chair

(b) broken wooden chair

(c) broken and wooden chair
(d) No improvement

S.S.C. W FIa W< (Tier-T) udter, 2013
TR b)

I IR H TS ol B F fAdr sl fRma g
& a8 T ¥l o T pattem F T

357. Thestarving and crawlingpeoplein thetelevision
programme looked morelike beasts than tiring

creatures.
(a) posed (b) resembled
(c) seemed (d) No improvement

S.S.C. W Fe Wi (Tier-I) 9dtem, 2013
X (©)

I8 UgE 39 b @ H W T AR e R o
Sl TR tiring creature $1 T STMAR A TS 2

358. I took the cycle which hebought yeterday.
(a) that he bought yesterday.
(b) which he had bought yesterday.
(c) that he has bought yesterday.
(d) No improvement

S.S.C. W Fe WX (Tier-I) adtem, 2013
R (b)

IET TR Past Perfect Sentence & TN & gRT 3 a8
LA A O S IR gU Bl ) o, SR Bl

359. Havingonly a fewhours left,she wondered as she
would finish theassignment.
(a) thatif (b) whether
(c) that (d) No improvement
S.S.C. W e W (Tier-I) 9dtem, 2013

IR—b)

FM YRT I ST TR A1 AT 91 BF & IR A
T N V&1 o1 & o 98 01 o g A H
T B | I T e faden B

360. She prefers teathan coffee.
(a) tea to

(¢) teamore than (d) No improvement
S.S.C. F.C.I. (Tier-IT) ud&m, 2013

(b) tea over

TN (a)

S8l UR Prefrs (G¥RT) &1 WM 81T & a&f gorl H
than &7 TIRT 7T BIHY to & TAT 2T 2

361. Mutual shakes of handswas exchanged.
(a) Both shakes ofhands was carried.
(b) The hand shakes were exchanged.
(¢) They shook hands with each other
(d) No improvement
S.S.C. F.C.I. (Tier-II) 9<%, 2013

TR b)
T e # S ORI § e B o]
SOTd IR B

362. Theincident madea deep impresion on me.

(b) profound

(d) No improvement
S.S.C. F.C.I. (Tier-II) ud&, 2013

(a) rounded
(c) slight

FR d)

IR H GIR T AaEd Tal gl

363. He, I, Sheand They coked thefood.
(a) 1, He, She and T hey cooked the food.
(b) They, I, He and She cooked the food.
(c) He, She, They and I cooked the food.
(d) No improvement
S.S.C. F.C.I. (Tier-II) 9<%, 2013

TR (©)

FAidT &1 %H Third person, Second and First person
F AR B B

364. Thenewspaper reportof theKkilling verified with

the police fin dings.
(a) authenticated (b) corroborated
(c) confirmed (d) No improvement

S.S.C. F.C.I. (Tier-II) 9<%, 2013
FTR (¢)

T 3 g 6 RS 8 gRw < ¥ g 2 73
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365. Thesaint said that men aremortal.
(a) said that men is mortal.
(b) advised men are mortal.

(c) said that men were mortal.
(d) No improvement
S.S.C. F.C.I. (Tier-II) u<em, 2013
SR d)

AR A IE 2

366. Thereis no altemate offered tous.

(a) way (b) solution
(c) choice (d) No improvement
S.S.C. F.C.I. (Tier-IT) T, 2013
TR (©)

g o R o1 Reca 81 foar T/l

371. Jatin's case against Jagatwas trivial.
(b) hammful
(d) Noimprovement

S.S.C. Tt <R Tdian, 2013

(a) insignificant
(c) tolerable

TR d)

Trivial &1 3R ®, AF@, g8 a1 TOF, ST AU W
ar % e ¥ Sugw B

372. How can one adjust among a passive lot?
(a) People who arecold and without feeling
(b) A lot ofcrowd
(c) Indolent people
(d) No improvement

S.S.C. Tt <R Tdian, 2013

367. The voluntary organization app ealed o the people
to come forward tohelp the victims and said that
each may contributewhat they can.

(a) each may contribute what he can
(b) each may contribute what they can
(c) each may contribute what each one can
(d) No improvement
S.S.C. F.C.I. (Tier-IT) T, 2013

TTN (a)

IR (d)

TN W1 ¥ IR WA § ogar e art %

9 TR gREd Bl

373. Her activities are limited only to cooking and
washing clothes.
(a) limitedby (b) limitedto
(c) notlimited to (d) No improvement

S.S.C. ued) <R adien, 2013

TS A 1 A F ATHY da1 < Al gl

368. Thereis no esape in the containerforthe waterto
flow
(a) outlet
(c) drainage

(b) inlet

(d) No improvement
S.S.C. F.C.I. (Tier-IT) T, 2013
TTX (a)

S ¥ ¥ a1 Foem & fov 9% &1 915 YRar 19l

369. Theproblem was so complicated tobesolved in a

day.
(a) too (b) very
(c) much (d) No improvement
S.S.C. F.C.I. (Tier-IT) 9<%k, 2013
TUx (a)

SR (b)

TET WX only B TN MG gl 3Wd Gerundial
expression ¥ to &1 TAN IUY gl

374. My sister doesn't have as much jewellery as my

mother.
(a) My mother has jewellery but not more than my
sister
(b) My sisterhas too much jewellery.
(¢) My mother has more jewellery than my sister
(d) No improvement
S.S.C. we<) efRe adiem, 2013
TR (©)

gl WX Jolicie Wehdd § Wofd: than &1 UAN
SRR

TR S Sed o 6 S8 e foT § gorman
ST | ol

370. The workers were bent atgetting their dues.
(a) bent for getting (b) bent upon getting
(c) bentin getting (d) No improvement
S.S.C. wiccl SRET udien, 2013
SR b)

A G B B B & fIU SRR B 'bent upon
getting' ¥ & HA T

375. Heproved himself unique forhe refused to go with
the tide.
(a) go inthe tide
(c) go by the tide (d) No improvement
S.S.C. w) eRe adiem, 2013

(b) go against the tide

IR )

Go with the tide T® Idiom § SR 31218, to Hllow

what every one elseis doing.
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376. The building you are talking about is notexisting.
(a) havenot been existing
(b) does not exist
(c) has not been existing
(d) No improvement
S.S.C. #et efRe aiem, 2013
S (b)

Existence 31 IR0y g R § 8 ¥ © 31 QleY
Gerund % YA & S 918 I Present Indefinite |
T S1B BT

377. His lecture was bann ed becauseof the bandh.
(a) called off
(b) disturbed
(c¢) interrupted

(d) No improvement
S.S.C. #ed) SRE uter, 2013
TN (a)

g W Bandh & IR O TSR A SoidT IR
TR Bl Werd: lecture B Tgel &1 Call off I TE &R
Q1 W G T 95K fawe B

378. Some people garner new experiences after

retirement.

(a) episodes

(b) events

(c) happenings

(d) No improvement

S.S.C. #e<t <fRen aiem, 2013

SR )
RETgRT & 915 e gl I HRST U IS
ufdar B S¥H Episode (3&1), Event (TT) 31 Hap-
penings (FRATY) BE Tz 7 B
379. Thedeaf man asked me to speak up.
(b) speak into

(d) No improvement

S.S.C. 9l SReT gdien, 2013

(a) speak in
(c) speak down

TR d)

I AT WIS g, el Gl § Bokd: a8 Sl
3t ¥ e $ frw sl speakupa?ﬁﬂﬁfl?@f
e Id: faded (d) anfee SR 2l

380. Modern medicine promote good h ealth.
(a) means (b) preaches about

(d) Noimprovement

S.S.C. A <R udien, 2013

(c) praises

IR ()

YT AW S @R BT Il <l 7l I AT
g B, B G guR & graeasar & R

381. Theeditor gaveme a time-line to finish thearfcle.
(b) deadline

(d) No improvement

S.S.C. ) <R gdien, 2013

(a) guideline

(c) decline

$X (b)

9 &4 R § fou MRTEd R ifcm ww e
ST & < 99 deadline I8 & o J&I SUYH ol

382. Despite having many other opportunities, he went

for Police Service.
(a) liked
(c) selected

(b) opted

(d) No improvement
S.S.C. wel SfReT wie, 2013
SR b)
g0 IR AHA Gol BF T 7 IR TF a1 gl
F g Uge g aTd1 9Piedd I Opt § I8 Perkct
Tense ¥ TN g &1: Opt BT Past Participle ©9 ERED
gam Bl

383. Presently, sheis busy composing the music for

hernext play.

(a) At the present

(b) In the present

(c) At present

(d) No improvement

S.S.C. we) SfReT e, 2013

TR (¢)

Presently 3 T fhaard, 90 3 Tl S/ At present
I 919 g H R, 3% SuIE Rl

384. Ilovehimbecauseheis a good man by heart.

(a) at heart (b) of heart
(c) in heart (d) No improvement
S.S.C. wet efRen Tiem, 2013
SR (a)
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At heart idiom 31 WM 9 IRRAMI/quaar & fog
61 S g S IS9P =P H BRI g, 9ol & aeR |
VT 9 Ud BT ®, S el SUYH 8l By heart I
ERRICHC S R DRI I

385. Ishall stand near youin wealand woe.

(a) stand by

(b) stand with

(c) stand close to

(d)No improvement

S.S.C. g ¥ WA (Tier-1T) adien, 2012
$TX (a)

IEifhd I 6 I UR Phrasal verb 'stand by' (‘to
remain, loyal to, aid or support; HFSRII HX; %{'HFIT)
P WA Sfad =l

386.In international and national affairs, itis tolerance

and not love thatis of supreme importance.
(a) matters (b) issues

(c) perspective (d)No improvement
S.S.C. ¥geh ¥ WA (Tier-1T) adien, 2012

JR d)

I H GIR BT AaTEA Tal Bl

387. Hehas seen many ups and downs in lifebuthe has

never been as much dejected as he is today.

(a) that much dejected

(b)so much in dejection

(c) so dejected

(d)No improvement

S.S.C. ¥geh ¥ WA (Tier-1T) adien, 2012
SR (9

389. Ndther the judgenor I amredy to announ ce who

is the winner.

(a) am ready to announce who the winner is.

(b) are ready to announce who the winner is.

(c) is ready to announce who is the winner

(d) No improvement

S.S.C. ¥gwh e W (Tier-II) udien, 2012
T (a)

99 Neither — nor @ TN Bl & o 99 TG Part of]
Speech G & d1& U® @ SR I aFl a1t dfdb
judge 3R IS Singular number # & 31: W& fHar
91 aid Subject & IFAR BRI T faFed (a) T

3% SugH 2l

390. The crowd was anomalous but orderly.

(a) clamorous

(b) indisciplined

(c¢) uncontrollable

(d) No improvement

S.S.C. Wgh e W (Tier-1T) T<ier, 2012
TR (a)

Y& ¥ Anomalous ¥ Ady M faog, sFRFE 7
TG Clamorous ¥ TGd ‘BlaReqy s’ | g I

gegaRerd o 3d: fased (a) 3o 2

391. Nosooner had I entered thehouse when thelights

watout.
(a) than (b) then
(¢) and (d)No improvement

S.S.C. Wgh e W (Tier-1T) T<ier, 2012
TR (a)

gl IR 35T (c) 'so dejected' FT TR TYRIT & Foram

Ty Re=1' Bl

388. Socrates had many disciples and the most gretof
them was Plato.
(a) the greater (b) the greatest

(c) greatest (d)No improvement

S.S.C. W e W (Tier-1T) u<ien, 2012
TR (©)

No sooner.. than $ TN § ST tenses ¥ g1 9197 BRI ©
TP Past Perect ¥ o TN Past Indefinite ¥ g

fageu (a) Sfaa Bl

392.Thelawyer of ten instigated arguments.
(a) solved (b) lost
(c) started (d) No improvement
S.S.C. ¥gwh e W (Tier-II) udien, 2012

Most great &1 AN I(GUYF T Hib great I
Superlative degree, greatest B ¥ 3R T
Superlative degree ¥ Ugcl 'the' &1 WIFT 3fd Bl =

3TN (©)

NEihd IR F M TR fAFe (¢) 'started' I RN
Sfa Bl
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393.After adequate delib erations the council can see
scarcely any valid reason for its reviewing the
request.

(a) cannot see scarcely any valid reason for its

(b) can see scarcely any valid reason for its

(c) can scarcely see any valid reason for its

(d)No improvement

S.S.C. W e W (Tier-1T) uen, 2012
SR (9

YEifhd gAY % YT UR 'can scarcely seeany valid
reason for its' &1 A IRIT BT RS scarcely U®d
adverb ¥ 3R S see (verb) $ A UYH Bl AR

394.The Vice Principal decided to resign when hewas
passed over for pronotion to Principal.
(a) passed by (b) passed off
(c) passed out (d)No improvement
S.S.C. W e W (Tier-IT) uien, 2012
SR )

Passed over ¥ AT ifefld X% 3T 31 WM QAT §
J1d: 917 H Vice-Principal $ $RI% & MU & =l

395.After several days' tour, webecame convinced that
the climate of this place was like Srinagar in
winter.

(a) in winter was like Srinagar
(b)was like that of Srinagar in winter
(c) was like Srinagar's in winter
(d)No improvement
S.S.C. W w0 W (Tier-IT) udien, 2012
S (b)

JorT H Tg TN SUYE @ Wod: ardd Afer several

days' tour we became convinced that the climate of

this place was like that of Srinagar in winter

396.0ur teamhas notyetariived. I wonderwhen itwill
arrive.
(a)itwill be ariving (b) it arrives
(¢) it can arrive (d) No improvement
S.S.C. W e W (Tier-1T) u<ien, 2012
SR d)

39 91 § YR & el 1o 2

397.If only I had known aboutyour arrival,  mighthave
cometo the station toreceiveyou.
(a) could have (b) should have
(c) would have (d)No improvement
S.S.C. Wy e W (Tier-IT) uden, 2012
S (9

VEifhd AT & N W) faded (c) 'would have 3
RN e 2

398.If he does not succeed this year, he would give the
examination again nextyear.
(a) would take
(c)will be taking (d)No improvement
S.S.C. ¥geh ¥ W (Tier-11) udien, 2012
TN (a)

T 4 A AT T BT TRRIVT oF ¢ 3fud I8 fadea
& 2 Give &1 YIFT fAuda < & armi

399.Unless the Pakistani
demolish the terorists' training camp, therecan

(b) would be giving

government does not

be no peace in the region.
(a) do not demolish (b) demolishes
(cywill not demolish (d)No improvement

S.S.C. W e W (Tier-1T) a<ier, 2012
TR b)

Unless 31 WM 3 & foU ¢ &1 & W B @
I I g 919 9% & 51 31 does not demolish
$ I TR 'demolish' &1 TIAFT IR Y &H 19 & G
AR TRIT DI T G T ol

400.A newand strongerIndian societyis growing attop
of the deep trenches left by centuries of colonial
repression.

(a) at the top ofthe deep trench

(b)on top ofthe deep trench

(c) at to the top ofthe deep trenches

(d)No improvement

S.S.C. ¥geh ¥ WA (Tier-11) udien, 2012
SR b)

Jgl U= On top ofthe deep trench A&l Wi aFﬂgGﬂT EiR]
T 2

401.Gemmany has more neighbours than all European

states.

(a) than any other European state

(b) rather than other European states

(c) rather than all European states

(d)No improvement

S.S.C. W e W (Tier-1T) T<ier, 2012
SR (a)

Germany has more neighbours than any other

European state S8 T Rl
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402. T always prefer staying indoors to go out on a
summaea day.
(a) than to go out (b) than going out
(c) to going out (d)No improvement
S.S.C. ¥geh Fe WA (Tier-1T) 9dien, 2012
TR (©)

IGIHd qEe & I R faged () 'to going out' &1
ERERSENIY

403. Were the politicians to assess themselves, they
would find that theyhave lost their credibilitylong
back ?

(a) havelost their credentials

(b) have been losing their

(c) had lost their credibility

(d)No improvement

S.S.C. g ¥ W (Tier-1T) adien, 2012
SR (0)

I F N@ied 3 B faFed (c) had lost their
credibility 31 URRe®T F=-T W &l

404. The opposition is very weak to pose any serious

challengein Uttar Pradesh.

(a) too weak

(b) very much weak

(c) rather too much weak

(d)No improvement

S.S.C. ¥geh ¥ WA (Tier-1T) 9dien, 2012
T (a)

i T s very weak' &% I TR 'too weak'
A Sfkag gl

405. Thegovernment has no choice than to curtil the
subsidies in orderto contain the increasing fiscal
deficit.

(a) other than to curtailing

(b) but to curtail

(c) only to curtail

(d)No improvement

S.S.C. W e W (Tier-1T) T<er, 2012
SR b)

IR & IR G B G 3feTal IIs Adheq a1 §
3 faweT (b) &1 TN IS Bl

406. Thereis no placein the bus, it is already over-

aowded.
(a) berth (b) vacancy
(c)room (d)No improvement

S.S.C. ¥y W W (Tier-II) udien, 2012
TR (©)

e, 99 1 W A g § T 9 @9 B no room
¥ ENT I&d a7 Sl @ 3d: e 9168 There is no

room in the bus, it is already overcrowded 2l

407. The man who will score the maximum points, will

camry the trophy.

(a) who would score the maximum points

(b) No improvement

(c) who scores the maximum points

(d) who the maximum points scores

S.S.C. Wgh e W (Tier-1T) T<ier, 2012
FR (¢)

U% & ¥gFd 9/@d ¥ & Clause Future Tense # aF
el Tl € 3F: UH B Present Tense § B8F1 Sfad 8

3: fa%e () SUFH sl

408. Japanesearmies effort todestioy the Allied forces
atImphal and invade India, but were driven back
into Burma.

(a) strengthened to destruct
(b) No improvement
(c) attempted to destroy
(d) experimented to destroy
S.S.C. =-ImpR (Fs-{[’ Td SrY) U, 2012
SR (9

A I WG Y B ST Wl ¥ YoTss (PR afddr
B FFPIG H I RSP R B AR IR AT o

ORY Attempted to destory ¥ 3BT T FX Tdd ol

409. Indiais oneof the mostvibrant democracie of the
wodd.

(a) lively democracies

(b) No improvement
(c) brightest democracy
(d) vibrant democracy
S.S.C. AR (Fe-A/’ Td ‘I’) e, 2012
SR b)

A H IR B AEIHAT Tl g
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410. Strangely enough, the candidates restricted

themselves to small rallies and kept away from

somerural areas.

(a) the candidates have restricted theirselves

(b)No improvement

(c) the candidates restricted theirselves

(d) the candidates were restricted to themselves
S.S.C. AR (I’ wd ‘Sr) wdew, 2012

SR b)

IqFE H GIR T AaeEd Tal ol

411. My teacher is the kinder of all.
(a) kindest (b) No improvement
(o) kind (d) kindly
S.S.C. IR (-’ Td Sr) uven, 2012
TTX (a)

gl WR Superlative degree 'kindest' &1 TIFT T &l

412. Theaccident occurred in the centre of the road.
(a) way (b) No improvement
(c) middle (d) path
S.S.C. AR (I’ wd ‘Sr) wdew, 2012
SR (9

TSH B TR I B B centre (b)) &I 3K
fagwed (c) wr Bl

413. Hardly had I reached the station when thetrain
started.
(a) since (b)No improvement
(c) then (d) than
S.S.C. WA (-8 wd Ir') e, 2012
SR (b)

39 91 § YR & sl T8 2

414. Heis wilful to help you.
(a) wilfully (b) No improvement
(cywillingly (d)willing
S.S.C. IR (-’ Td ‘SY) uven, 2012
TR d)

gl IR TST W Rl $ Hid BT A B TR Y
Willingﬁﬁﬁ%l

415. His fatherdied when he was very young.
(a) took off
(c) broke down (d) passed away
S.S.C. AR (J=-/ Td ‘I7) U, 2012
SR b)

(b) No improvement

IR H GIR B FLIHAT Tal gl

416. Hestopp ed to work an hour ago.
(a) working (b) No improvement
(c) worked (d) to have worked
S.S.C. =-ImpR (Fs-{[ Td ) uer, 2012
TTX (a)

I8 TR Infinitive $ M WX Gerundial explanation
TR B 31 fade (a) SR R

417. He has ldt for Lond on lastnight.
(a) was leaving (b) had left
(c) lef (d)no improvement
S.S.C. W@ FRR Jevs (10+2) W 9iem, 2012
TR (¢)

Simple Past &1 TN Yaaid 3 99~ gy &1 o1 9
Tef¥id ox= & foy foar oien B s/ fageu (o) W B

418. I hope wehave taught our children to know right
fromwrong.
(a) know right and wrong
(b) understand right and wrong
(c) see what is right
(d)no improvement
S.S.C. g FRR Jvs (10+2) W 91em, 2012
[ d)

IUYH 9@ H IR DI SMIEEA Tl g

419. Itis not wiseto do the work at the eleventh hour.

(a) on the eleventh hour

(b) at the moment
(c) at the end
(d)no improvement
S.S.C. ¥ga AR JwosH (10+2) WRF wdiem, 2012
SR @)

at the eleventh hour ¥ I ifdw ¥ ¥ 2 B“qgﬁ
Sentence YUR: Vel § o 9w f&dl R @
ARG Bl Bl
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420. Booksare ones best friends.
(b) once

(c) one's (d)no improvement
S.S.C. W@ TR AevsL (10+2) W 9iem, 2012
ST (9

VEifhd aT@ER § WM TR 3@ (c) one's I TN
SIECRY

(a) ones'

426. They objected to the plan on the grounds that it was
too ex pensive.
(a) declined
(c) refused

(b) disagreed

(d)No improvement
S.S.C. C.P.0. wiam, 2012
SR d)

JUFd Sentence ¥ fdFed (d) No improvement &1 TR

SUYH T

421. The Prindpal waspraised on his fiftieth birthd ay.
(a) rewarded (b) awarded
(c) honoured (d)no improvement
S.S.C. W@ FRR Aevs (10+2) W aiem, 2012
TX (¢)

JUYF Sentence H honoured I TN IuFH g

422. Heis on eof those who believe in God.
(a) of those who believes
(b) who believe
(c) who has believe

(d)no improvement
S.S.C. 9@ AR JHvsH (10+2) WRF e, 2012
SR d)

9 917§ GOR & el T8 2

423. This box of chocolates belonged to me.
(b) belongs

(c) is belonging (d)no improvement
S.S.C. W@ FRR AevsL (10+2) WM iem, 2012
SR b)

(a) belong

faU Y Sentence H belongs F1 TN IUYF 2l

424. Hewon'thear you provided you shout.

(a) in case (b) as long as
() unless (d)No improvement
S.S.C. C.P.O. u<iat, 2012
SR (0)

unless ¥ TRGY ‘S 6 Tl W g S SUYH
Sentence ¥ unless &1 T SERES] 2l

425. Theship isatthe anchor and thesailorsare nowat
ease.

427. Very little rice was found in the pot after all the
guests had eaen.
(a) remained
(c) stored

(b) was cooked
(d)No improvement

S.S.C. C.P.O. Tian, 2012
TTX (a)

Remained ¥ @y 9 I&71/dd V&1 ¥ § 3 SUYH
Sentence $ TRMET ¥ remained BT TAFT TET B

428.The policeman captured the first car that
approached and ordered the driver to take the
injured child to thehospital.
(a) commandeered (b) interrupted
(c) caught (d)No improvement
S.S.C. C.P.O. e, 2012
T (a)

f&U W Sentence § ¥gH § Commandecred, take
possession or control of (vehicles buildings etc.)

forcibly or for official purposes ¥ TN IUFH g

429. Thetrain left beforehe has reached the station.

(a) reaches (b) will reach
(¢) reached (d)No improvement
S.S.C. F.C.1. 93k, 2012
S (9

f&T U Sentence # reached F1 TN SUFH T

430. We must startnow unless itwill be too late.

(a) but (b) or
(c) until (d) No improvement
S.S.C. F.C.I 9, 2012
SR b)

&7 7T Sentence # or FT TAN SUYF BN Rfd =

R Sentence, Compound Sentence T 3R IPeUd Tl

431. Don't worry, there is less time for the train to

(a) at an anchor (b) at its anchor ariive.
() at anchor (d)No improvement (2) many (b) eno.ugh
S.S.C. C.P.O. wiam, 2012 (¢ymore (d)No improvement
TR (0) S.S.C. F.C.I. a<em, 2012
i NGHd MR B TH RO
z;:l?cf}rlg ;Tﬁ'\fl;l%;n i\:‘laﬂ'@[ 2l o @ JUYF Sentence H enough (TAT) HT AN IUYHA g
S.S.C. English Language
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432.1 was mad on him.

(a) at (b) towards
(c) for (d) No improvement
S.S.C. F.C.1. 93k, 2012
SR @)

39 aI@ H GuR S MaeEedl el gl

433.He decided to reveal the corruption in his
department to the media.
(a) expose (b) show

(d)No improvement

S.S.C. F.C.1. Tk, 2012

(c) disclose

TTN (a)

Expose ¥ T d96Md R, UHS I A g SF:

JUYF Sentence F UNET H expose B TIFT I 2

434. You shallhave attend ed if the courthad instructed
youtodoso.
(a) would have had to attend
(b) would attend

(c) would haveto

(d)No improvement
S.S.C. % R (Tier-I) usien, 2012
TTN (a)
Court 37 3T IRIBRI BT 8 3 fIT IU Sentence F
9RYe 3 would have had to attend &1 TaF ST 2

435. Therdics of Greece over which sucha greatdeal
of evidence has been collected should be preserved.
(a) from which (b) on which
(c) ascent which (d)No improvement
S.S.C. ¥ WRI (Tier-I) Tiem, 2012
ST (a)

Relics ¥ areqd ‘3@em’ I g DRRY T 70 Sentence ¥
from which &1 TIFT UG T

436. When the beveragewas ready, they drankpossibly
asmuch as they could.

(a) as much as they possibly could
(b) as much as possibly they could
(c) as much as they could possibly
(d)No improvement
S.S.C. % N (Tier-I) usien, 2012
TUx (a)

437. A citizen is expected to give allegiance to his
country of origin.
(b) loyalty
(c) obedience (d)No improvement
S.S.C. % W (Tier-I) udien, 2012

(a) homage

IR d)

Allegiance ¥ Trqd ey, o4fdd & 8 ot SuUGE

Sentence ¥ &l YR @1 aw@a &l gl

438. We were with daggersdrawn despite attempts to
understand each other.

(a)in (b)on
(c) at (d)No improvement
S.S.C. F% W (Tier-T) udlen, 2012
TR (¢)

with daggers drawn & 319 TR at daggers drawn &1
TN SUPH gl Idiom 'at daggers drawn' F1 3R ‘@R

NEC MG

439.The manager's role is to define and resolve

problems.

(a) identify and resolved

(b) defined and resolved

(¢) spot and resolved

(d) No improvement
S.S.C. g FRR Jevs (10+2) W 9iem, 2012
R d)

& a1 Sentence U WET B

440. Thelittle boy kickthe ball.
(a) have been kicked by the ball
(b) has been kicked the ball
(c) was kicked the ball
(d) kicked the ball
S.S.C. ¥ga AR JwvsH (10+2) WRIT Tem, 2012
SR @)

JUYFE Sentence  UNYUEI H I 31 Second form
"kicked the ball' T3 T&T 2

441. Playingcricket and football are his best hobbies.
(a) favourite (b) closest
(c) friendliest (d) worst

S.S.C. g AR AFvSY (10+2) W 91em, 2012

T T Sentence & TRR¥&T # 'as much as they possibly
could' &7 TN SUYK g

IR (a)

Hobbies (Sf=1) & faw favourite &1 A1 U B

S.S.C.
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442. Lauraforgot her friend's birthd ay, so she make
hera card when she finally remembered.
(a) bought her a card
(b) send her a card
(c) dispatch hera card
(d) e-mail hera card
S.S.C. W@ FRR AevSIL (10+2) WM iem, 2012
TTN (a)

Nifhd T 'make her a card' § I WX 'bought
hera card' &1 AW Ifra aM IS fAd (b) 7 'send'

P M TR 'sent’ BT A1 Tg A TR B

443. Rajan has got many friends because he has got

much money.
(a) alot ofmoney

(b) enough money
(c) bags ofmoney (d) very much money

S.S.C. W@ FRR Aevs (10+2) R iem, 2012

SR (a)

&g 7 Sentence & URMET H 'a lot of money' BT TIRT

STIH &l

444. Oneof my friend is an engineer.

(a) One of my friends

(b) One among my friends

(c) One of friend of mine

(d)No improvement
S.S.C. g TR AevsL (10+2) WM iem, 2012
TTN (a)

W A # W UP ONFRR B o1 SUYF Sentence F

¥ ¥ fded (a) SUFA B

@i TR "appraise’ $ IIF UR 'apprise’ 1 TN
I BNl I 'appraise’ B AT - HeAHT HRAT
T IR 'apprise’ B ARG B~ G AT Tg AR

F1 J AR & S IS BT Hrd FAT Bl

447. Thedriver drove slowly so as not toovertum his
load.
(a) in order that not to overturn his load
(b) that he may not overturn his load

(¢) not to overturn his load

(d) No improvement
S.S.C. W@ AR Javs (10+2) Wi uien 2012
T (a)

In order that § TG ‘%’ ¥ 7 3 SUYF fay M

Sentence & URUeT 7 fAHT (a) SRR 2l

448. Abird in ahand is worth two in thebu sh.

(a) hands (b) hand

(c¢) the hand (d)No improvement
S.S.C. ¥gW TR AHosT (10+2) R d1em, 2012
S (9

Ig TH Proverb (HgAd) & FORH a hand § M W)
f3%eU (c) the hand FT TANT W&T Bl S99 proverb 3T 3R]
T a sure advantage is better than a problematical
advantage, even though the latter promises to be

twice as good (3TN BT NI 31 i, 3NN Ig 7 AN

M)

445. Theconstitution of India guaranteed each citizzn
equal rights and privileges
(a) India gauranties (b) India guarantees
(c¢) India guarantys (d)No improvement

S.S.C. W@ FRR AevsL (10+2) WM 9iem, 2012
SR (b)

449. Henoblyacquittel himself in the battle.
(a) acquitted himselfnobly
(b) nobly acquitted in the battle
(c) acquitted nobly in the battle

(d)No improvement
S.S.C. ¥gW AR AevsTT (10+2) W 9em, 2012
TR (a)

YEiihd 3 & M W fdded (a) acquitted himself

nobly 1 TN SUFH &l

YRd 1 GRYH TS AFRSG I THH JAER AN
Ffaem U IRl § 3 SUYF Sentence § HEH H

fa@ea (b) SUg B

446. Do you appraiseany dif ficulty in your neighbourhood

after the recent theft ?

(a) apprise (b) approach

(c) apprehend (d)No improvement
S.S.C. W FRR Aevs (10+2) WA 9iem, 2012
TTX (a)

450. While atMumbai Istayed in a hotel and much of
mytimewas spent in interviewing people.
(a) spent much of my time

(b)I had spent much ofmy time

(c) much ofmy time had been spent

(d)No improvement
S.S.C. ¥gH TR AHvsT (10+2) R 1em, 2012
SR (a)

3T @ Sentence ¥ ufRMear 7 fd%e (a) 'spent much of
my time' $T T SUGH gl
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451. None as thebravedeserve the fair.
(a) though (b) but
(o) if (d) No improvement
S.S.C. g TR AHvSTN (10+2) WM 9iem, 2012
S (b)

NEifhd I $ UM TR f3F (b) but' &1 TN Sfd

2l None but the brave deserves the fir Ig TUH
Proverb (%g/ad) § ®TId! dad - Only a courageous

and gallant man deserves a beautiful woman, only the
best deserves the best. None but the brave means

only brave people.

452. Where had you been playing since we last played
together ?
(a) are you playing
(c) would you play
S.S.C. ¥ga FRR JFvsd (10+2) W wden, 2012
SR b)

(b) have you been playing
(d) No improvement

Yiihd MR @ fdFed (b) have you been playing 3
Ik %Id a7 el R

453. Heought not to have donethat, ou
(a) has he (b)did he
(c) ought he (d)No improvement
S.S.C. WgE AR AHvSIN (10+2) R 91em, 2012
TR (©)

tn'the?

VEifhd aTdER & WM ) 9@ () 'where' &1 TN
Sfad Bl I8 TS Proverb (F7G4) 3 SHHT @Y -
Ignorant or inexperienced individuals get involved in

situations that wiser persons would avoid.

456. Take an early breakfast and then you should start

your work.
(a) start your work

(b) you should start your work
(¢) you should then start your work
(d) No improvement
S.S.C. ¥ga AR JBvs (10+2) WRIF iem, 2012
ST (a)

JUYF Sentence MIRTAH & K: Sentence F TR
# start your work 31 TIFT IUYH gl

457. Thetorture could not malke the man recant.
(a) reckon (b) renew
(c) recur (d)No improvement

S.S.C. g FRR A0S (10+2) W 9iem, 2012
TR d)

Recant ¥ Oy W@ & dferd @)+, M &< I g
Sentence WEH & 3 &4 R H I@RHAT ol B

458. Let us make oursdves merry.
(a) make merry (b) make mery ourselves

(c) ourselves make merry (d) No improvement

S.S.C. g TR Jevs (10+2) W 9iem, 2012

JUFH Sentence THRTHF & 3 Question Positive 3
BT S9fTT ought not he & I TR ought he &1 TN

SUYH B

454. Heleapt at the opp ortunity thatcomein his way.
(a) came to his way (b) came his way
(c) came on his way (d)No improvement

S.S.C. ¥ga AR JHvs (10+2) W em, 2012
TR b)

9f& Sentence T Principal Clause Past Tense 3 ® 31:
Sub-ordinate Clause ¥ Past Tense ¥ 81T 31d: come in
his way & Y9 TR came his way WW&H Bl

455. Fools rush in when angelsfear to tread.
(b)if

(c) where (d) No improvement
S.S.C. W@ AR AHvSI (10+2) R 1em, 2012
TR (©)

(a) because

SN (a)

f&u W Sentence & URUET ¥ 'make merry' &1 WA
SIECRY

459. A humorous incident happened on the way to
college.
(a) amusing (b) dramatic
(¢) ridiculous (d)No improvement
S.S.C. W@ FRR AevsL (10+2) W aiem, 2012
S (9

JUYE Sentence & TRUET H ridiculous (FRIRTT) B
T SUYH 2

460. Myself Rajesh Mehta.
()l am (b) Myselves
(c) Myselfis (d)No improvement
S.S.C. ¥ga AR Jwvsd (10+2) WRIT qem, 2012
T (a)

Myself & TIF T 'Tam' &1 TAF UG gl
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461. The qualities which have supported Tilak and
given him his hard-eamed success have been rare
in Indian p olitics.
(a) have given (b) gave
(c) had given (d)No improvement

S.S.C. W@ TR AevsL (10+2) W 9iem, 2012

SWR b)

given & M TR gave F TR IUJH

462. Have you talen your breakfast ?

(a) done (b) had

(c) eaten (d)No improvement
S.S.C. ¥ga AR JH0sH (10+2) WRIF diem, 2012
SR b)

iihd 9 F1 AHE (b) ¥ HicRIT SUYE Bl

2008 TP Fif¥ad wHa § 9% IV since 31 WRIFT BFTI
AMFId: $9dT WA Present Perfect Continuous ¥

ok

467. Can any spiritually dead man beso as tohaveno

lovefor his native country ?

(a) Canany dead manbeso as to have no spiritual
love for his native country ?

(b) Can any manbe so spiritually dead as to have
no love for his native country ?

(c) Can any native man be so dead as to have no
love for his spiritual country ?

(d) No improvement

S.S.C. W VRS WRIA (Tier-I) T, 2012
SR b)

463. You can't getgood marks unless you don't work
hard.
(a) until you don't (b)till youdon't

(c) unless you (d)No improvement

S.S.C. ¥ga AR JHvsH (10+2) W diem, 2012
TR (©)

Unless @7 32 'Sd 9@ T8 261 8, ST 303 TR ©
Id: 3G A THRIES don't BT TAT &I BRI

464.1 am having two sisters.

(a) had (b) have had

(c) have (d)No improvement
S.S.C. W@ FRR AevsL (10+2) W aiem, 2012
TX (¢)

JUYF Sentence § 1 & 1 have F1 TN SUFd 2l

465. They will arrive today night.
(a) at night today (b) at night
(c) tonight (d) No improvement
S.S.C. WgW AR AHvsTY (10+2) W Ten, 2012
TR (©)

Today night T TN JJUIF 2l S W W tonight
1 TN SUYH

466. 1 am working herefrom2008.
(a) have been working here from

(b) have been working here since

(c) have worked here from

(d)No improvement
S.S.C. g TR AevsL (10+2) WM 9iem, 2012
S b)

fager (b) # & =1 9@, ar@ WRIT Td W@ F

it = @l

468. How can anyonesympathizewith you when what
yousay i hardly gullible ?
(a) credulous (b) credible
(¢) incredible (d)No improvement
S.S.C. Ogh FRe WA (Tier-I) udien, 2012
SR b)

@ H UPE died o 3 f9Fe (b) credible
(Treqir) ¥ UfoRen®d &1 e &l

469. John is wearing his jacketas itis getting very
oold.
(a) taking on (b) getting on

(c) putting on (d)No improvement

S.S.C. W VRS WRIA (Tier-I) uem, 2012
IR d)

A PR BT JTREA Tal 2l

470. I worked in this office since2005.
(a) am working
(b) have worked
(c) have been working
(d)No improvement
S.S.C. Ug® FRS WG (Tier-I) uden, 2012
TR (©)

fa%eT () &1 WAM INA W I Present Perfct
Continuous Tense ¥ 81 SQ &1 f& T 2
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471. Thehostoffered meteabutl denied it.
(a) refised (b) said no
(c) rejected (d)No improvement
S.S.C. Wgh FRS WRIA (Tier-I) Tlem, 2012
TTx (a)

9 916 H ORI $ died <7 W, I TER 6 gNT
o ) afda/emar St ueR @ T R S/ fawd (d)

SUGH B

Denial U1: Gently &1 9%, faaR a1 WeR 93 UM
F R 7 &I O ® Wold: f9gem (a) I1 WA
refised SUFH T

472. Hislifeis hanging with a thread.
(a) from (b) by
(o) to (d) No improvement
S.S.C. Wgh VRS WA (Tier-I) Tdem, 2012
SR (b)

476. Hehas lost hisnearly all many pets.

(a) all his nearly many pets
(b) his many pets nearly all ofthem
(c) nearly all his many pets
(d)No improvement
S.S.C. ¥gw FRS W (Tier-I) T, 2012
IR (0)

I & @B I with a I by ¥ 5o W Tg TH
Idioms &1 3% <71 fRFT a8 'to be in a very
precarious position or condition; (of person's fate)

depend on something small; to be in imment danger;

I # R Y a1 B AHA () nearly all his
many pets ¥ TRRTA a6 91 ARAMG Ud WA
ERIGI

to beready to fall.

473. After twenty years of exile,the prisoner was in the
end of his tether.
(a) on (b) though
(c) at (d)No improvement
S.S.C. Wgh FRS WRIA (Tier-1) Tlem, 2012
TTX (©)

47]1. My foot is paining.
(a) aching
(c) hurting
S.S.C. Ugwh AR JBus (10+2) wRr adem, 2011
SR @)

(b) ailing

(d) no improvement

A H R I FTRFA Tal ol

478. Thelight went out whileIread.
(a) was reading
(c) had read (d) no improvement

S.S.C. g AR JFvS (10+2) Wi wdien, 2011

(b) am reading

qH GBI T in I at F 95 TR Ig UH [dioms
o R o g aad § ST a1 aeEr
TRa

TR (a)

474. Grandfatheris often so tired that he drops of in his
armdhair.
(a) slides away (b) falls out

(c) slips in (d)No improvement

S.S.C. W FRd WA (Tier-I) Tiem, 2012
SR d)

A sentence ST 'while' connective ¥ IS g Al
T4 I Ugl 9 Past Indefinite § ® A HRT 16

Past Continuous ¥ BT Bl

ey H Ug« Phrase 'drop off &1 AR fallinto alight
sleep; doze; nap (IFHT o) 31 WHE (d) FLT =l

479. She said meabout herholiday in Kerak.

(a) told about (b) said about

(c) told me about (d) no improvement
S.S.C. Ugwh AR JBus (10+2) wRr adem, 2011
SR (9

TET told me about T TIN TET 2

475. Thecourtwas forced to respect the profundity of
thelearned judge's knowledge.
(a) probity (b) proximity
(c) prodigality (d)No improvement
S.S.C. Wgh VRS WA (Tier-I) udlen, 2012
SR d

480. Why do you prefer the theatre than the dnem?
(a) for
(c) to
S.S.C. g AR IS (10+2) W gden, 2011
SR (9

(b) against

(d) no improvement

Prefr &1 916 ¥ R M W to &1 T 2 2l

S.S.C.
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481. Heis the onlyman I know who can laugh athimsdf.
(a) whose (b) whom
(c) which (d) noimprovement
S.S.C. IFh AR JBus (10+2) R uen, 2011
SR @)

487. Enlightenment were astateof relax ed awareness.
(a) had (b) has
(c) is (d) no improvement
S.S.C. IFh TAR IBusI (10+2) W ger, 2011
SR (9

= I | o uRacq & sravgedr a8 Bl

N 9T @1 is' I IRRAT 1 S Bl

482. Thecheapest electronicgood are manu factured in

China.

(a) electronical good (b) electrical good

(c) electronic goods  (d) no improvement
S.S.C. ¥gF gAY JFUS (10+2) W wden, 2011
SR (9

488.1 complimented him for his success in the

examinafion.
(a) about (b) on
(c) at (d) no improvement

S.S.C. IFh TR IBvs (10+2) W uden, 2011
IR b)

'electronic goods' I T AHF; SUGV H g 3F:

oo (o) W =l

T I H or § W W) Preposition 'on' &I TR

sfaa =l

483. I have beenliving in Delhi from 1989.

(a) eversince (b) since

(¢) in (d) no improvement
S.S.C. UFwh AR JBus (10+2) W udem, 2011
SR b)

489. He should nothad ignored his friend.

(a) should not have  (b) should have not

(c) should not has (d) no improvement
S.S.C. IFh TAR IBusY (10+2) W ger, 2011
SR (a)

&8 Afdag 997 a1 A o1 e <1 & {IT since
&1 TR SR B Bl

484. Heis adescendant from the Mugh al royalty.

(a) of (b) in

(c) for (d) no improvement
S.S.C. g AR JFvS (10+2) Wi wden, 2011
SR (a)

T UF IS 99 g, SR S I fF 3l
ignore &I BT ANRY AT T I ignore I

3 Il 'should not have &1 TN SERET 2l

gl TR Preposition 'of' & TAN IUJH gl

485. Mary would not goto themarketunlessI go with

her.

(a) shall go (b) went

(c) would go (d) no improvement
S.S.C. g AR IFUS (10+2) W Tden, 2011
SR b)

490. The judge asked the lawyer tobe consistent with
proof in the case.
(a) comroboration (b) testimony

(c) evidence (d) no improvement

S.S.C. IFh TAR IBus (10+2) W ger, 2011
TR (¢)

NEBd 3 B 'evidence (TR THAI) J TS

IS 3l

i IS Verb 'go' (Simple Present Tense) &
M WX 'went' (Simple Past Tense) &1 TN Srd BFT

491. Raju requested me to his birthd ay party tomorow
(a) indulged (b) invited
(c) inspired (d) no improvement
S.S.C. IFh TR IBvs (10+2) W uen, 2011
SR b)

NEihd 9 B invited' W IS THIIT B

FT$ 17 Past Tense (would) # Bl

486. Flowers embellishment the beauty of our

surround ings.

(a) replenish (b) enhance

(c) destroys (d) no improvement
S.S.C. ¥gF gAY JFUS (10+2) W wden, 2011
SR b)

Pl AIAERYT &1 Hd GeI & 3 Enhance (IGTH1) &1
TN SR R

492. Theprice cannot be quoted_ex cept weareallowed

toexamine thesample.

(a) if (b) unless

(c) because (d) no improvement
S.S.C. UF™ TR IFUS (10+2) wWRE gden, 2011
SR b)

T TR TH FR BT K3 AN & IO B TR 99a
3 39 UPR & Conditional 918 ¥ 'unless' &7 WA
Sfod ® RRter I ‘9 o & R

S.S.C.
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493. If1 hadn 'tseen the car oming. I might have been
killed.
(a) IfI had seen the car coming

(b) When I hadn't seen the car coming
(c) Sincel hadn't seen the car coming
(d) No improvement
S.S.C. ¥ AR JFUS (10+2) W Tden, 2011
SR )

i qrETR § QR H STREA Tl B

494. If you can afford anew cag your business mustbe

looking up.
(a) flourising (b) improving
(¢) increasing (d) no improvment

S.S.C. g™ AR IFUST (10+2) W wden, 2011
$TX (a)

Business & ag4@l fdaa @ ‘flourishing' && ST &l

495. The police would be enployed atall places o beef
up security.

(a) deployed (b) appointed
(c) encouraged (d) no improvement

S.S.C. g™ AR IFUST (10+2) WRI Ter, 2011
TTN (a)

ol 31 S W AT deployed Fgadm STl 2

496. "Gulliver's Travels" are an interesting novel.

(a) were (b) was

(c) is (d) no improvement
S.S.C. ¥ AR JFUST (10+2) W wdten, 2011
SR (9

"Gulliver's Travels" U J&i$ g 3 singular num-
ber § M $ HRYT TG (HIT is &1 YA SFd Bl

497. A large number of people have fallen victim to

denguefever
(a) of (b) from
(c) with (d) no improvment

S.S.C. W™ AR IFUST (10+2) W Tdten, 2011
SR d)

IR H GIR BT AaEd Tal gl

498. Thestranger asked the little gid whatis hername.
(a) what hernameis (b) what her name was
(c) what was hername (d) no improvement

S.S.C. IFh AR IBus (10+2) R Ten, 2011
TR b)

T WR TH Interrogative word ¥ 3MRH Direct &
Indirect 3fId ¥ 18T ARIRT &ATdd T 91 &1 Xl 8
3R WY T Past Tense &1 WA I8 Bl

499. She scoffed on theidea of revolution.
(a) for (b) at
(c) about (d) no improvement
S.S.C. ¥gH TR JFvS (10+2) wRIT wdien, 2011
SR (b)

Nifbd dTEel Preposition 'on' $ WM TN 'at' @I
P

T SR 2

500. Besideb eing apoet, he is also afamous singer.
(a) Besides being
(b) Besides becoming
(c) Beside becoming
(d) No improvement
S.S.C. Ugwh AR JBus (10+2) wRr adem, 2011
T (a)

gl IR Besides being (% IIdm@r) &1 TIN Fel gl

501. Work at the request of your conscience.
(a) behest (b) desires
(c) orders (d) no improvement
S.S.C. Ugwh AR JBus (10+2) wRr adem, 2011
T (a)

TgT Behest (M3 ; 31Ms) &1 WA Sfad 2

502. Itis high timeyou started revising your lessons.
(a) start (b) had started
(c) will start (d) no improvement
S.S.C. C.P.O. w<iam, 2011
SR d)

I H IR I MTEHA Tal 2l It is high time' &
UYRY 8 dlcl 9181 H Past Subjunctive (Igf 'started')

F1 & TIAN HAT S T I SR fAFed (d) Ry B

503. With theseextrapeopleyou can workeasily with

this job.
(a) deal (b) improve
(c) cope (d) no improvement
S.S.C. C.P.O. v, 2011
ST (a)

NiThd IR 'work' & YU TR 'deal’ &1 TN S
gl

S.S.C.
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504. I visited my aunt just before a week.
(a) a week bebre (b) aweek earlier
(d) no improvement

S.S.C. C.P.O. wer, 2011

(c) a week ago

TR (©)

qIE 6 QP 3T 'beorea weak' I 'a week ago'
Y ufoReme 95 2

505. Foreigners often come across with serious
difficultiesin studying English.
(a) haveto come across with
(b) come cross with

(c) come across
(d) no improvement
S.S.C. C.P.0. u<iat, 2011
S (9

Ry M7 qrem # YGfda IR B FHA (¢) W IS
Sfa Rl

506. He workhard will succeed.
(a) who will workhard
(b) who will be working hard
(c) who works hard
(d) no improvement

S.S.C. C.P.0. wiam, 2011
TR ()
4 IR F @b R F 9% 9191 = Simple
Future # ¥ 3AfdU Yw@ifdd 311 1 AfiRees 'who
works hard' (Simple Present Tense) ¥ %=1 IfId 2l

507.Theman whom Ithought was thoroughly honest
proved o be a swindler.

(a) The man whom I thought was thoroughly
honest proved a swindler.

(b) The man whol thought was thoroughly honest
proved to be a swindler.

(c) The man to whom I thought was thoroughly
honest proved to be a swindler.

(d) No improvement

S.S.C. F.C.I. u<ke, 2012
IR d)

(c) Hardly had the dividend been declared than
the notices were sent out.
(d) No improvement
S.S.C. F.C.1. a3k, 2012
ST (0)

BRI oM AR 9% B Fal %4 f9ed (c) B

509. Riding up on his horse, the tigerjumped at him.

(a) Ridingupon the tiger, the horsejumped athim.
(b) The tiger jumped at him while he was riding
upon his horse.
(c) Thetigermde at him whilehe was jumping upon
his horse.
(d) No improvement
S.S.C. E.C.L <k, 2012
SR b)

g A € IR WERY A gl 3% Aged

F T 2g 'While' F1 TR SR 2

510. Iinblackand white musthavevour terms down.

(a) Imust have inblackand white your terms down.
(b) Imust have your terms inblack and white down.
(c) Imust have your terms down in black and white.
(d) No improvement.
S.S.C. F.C.1. a3k, 2012
SR (9

qH FT 9 U H GG TeI ol SUh T FH B
AR faweu () 31 v SR vd 96w B

511. When we came out of the restaurant it was half

pasteleven.
(a) When we had come out of the restaurant
(b) Afler we came out ofthe restaurant
(c) When we have come out of the restaurant
(d) No improvement
S.S.C. F.C.I. a<e, 2012
R d)

39 a1 4 GUR I Maedl el ol

39 IR § R $ aFA Ta g

508. No soonerhad thedividend been declared, the
notices were sent out.
(a) The company had hardly declared the dividend
till the notices were sent for mailing.
(b) They had no sooner declared the dividend then
the notices were sent out.

512. Your answerbook will be_answered with the help of

a computer.
(a) judged (b) tested
(c) evaluated (d) seen

S.S.C. EC.I. Tk, 2012
TR (¢)

30 4 SR gRAT & qRieT § YN B AT IH
Hewd B Wi BT 8 o [aed@ () SRA 2
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513. In the hot afternoon, after a long walk, I rested
underthe shadow of atree.

(a) shelter (b) shade
(c) cool (d) no improvement
S.S.C. F.C.I. u<ke, 2012
SR (b)

f =g ¥ W ¥ o o % faw e @ sRn
JUYH 7 3 v (b) w9 g
514. He throwed itout of the window.

(a) threw (b) throw
(c) thrown (d) no improvement
S.S.C. F.C.I. u<ke, 2012
SR (a)

T W TP WU throwed JFRIG g WRA wAM
3% (a)'threw' Bl

515. Marconi assembled theradio.

(a) discovered (b) made

(c) invented (d) noimprovement
S.S.C. E.C.I. a<kE, 2012

TR (©)

AHA A FSA FT SMATHR B o srve R
fageT (o) B

516. Heshowed great kind to his friend.

(b) kind heart

(d) no improvement
S.S.C. F.C.1. a<ke, 2012

(a) kindness
(c) kind hearted

TR (a)
¥ W kind  9ETHG WU abstract form I TN
fade (a) wga Bl
517. Officials were asked to examine the likelihood of
providing banking facilitiesin the area.
(a) probability (b) possibility
(c) profit (d) no improvement
S.S.C. E.C.L e, 2012

$TX (a)

519. Beinga rainy day, weh ad toabandon the match
(a) Having been a rainy day
(b) It being arainy day
(c) It been a rainy day
(d) No improvement
S.S.C. F.C.1. a<e, 2012
SR b)

W TA It being a raining day g

520. Rahul gave me an old scissor.
(a) an old scissors
(b) a pair of old scissors
(c) apairofold scissor
(d) no improvement
S.S.C. F.C.1. a3k, 2012
TR (a)

NiHd 39 FT B (a) 'an old scissors' I TioReTTT

SEAUSEE]

521. The teacher was angry with Paul as he had not
done the homework.

(a) at (b) on
(c) from (d) no improvement
S.S.C. F.C.1. a3k, 2012
SR d)

angry % J¥aI WIA: Preposition 'with' &1 TN T
ST 2l T8l UR gHd WANT e gl

522. A taller Sikh rushed forward than any of his
comrades.
(a) A Sikh, taller than any ofhis comrades, rushed
forward
(b) A Sikh rushed forward taller than any of his
comrades
(c) A Sikh wshed forward than any ofhis comrades
taller
(d) No improvement
S.S.C. ¥ R (Tier-1) wdien, 2011

TN (a)

39 3% H Adjective @1 Degree & AR ?Tﬁ%ﬁ
R IR AN AT TR Rl

likelihood & TRATTEY # probability &Y THTAY
NN

518. The shortage of fuel has obstacled interstate
transportation.
(a) facilitated
(c) burdened

(b) hampered

(d) no improvement
S.S.C. F.C.1. a<ke, 2012
SR b)

obstacled ™ TR ST B A TgT AT hampered
Y ® s Rl u9iad $-+1 2K B

523. An author in thereign of Queen Anne who was

famous of QueenAnnelivedin a cottage.

(a) An author in the reign, who was famous, of
Queen Anne lived in a cottage

(b) Inthe reign ofQueen Amne, an authorlived ina
cottage, who was famous

(c) Anauthor who was imous inthe redgn ofQueen
Annelived in a cottage

(d) No improvement

S.S.C. F% W< (Tier-I) e, 2011

IR (©)
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Qe $ AR RN YaTd (Adjective clause)
TR TA § e IRgd 6 K R

524. In the absence of your support, he would havelost

the election.

(a) Lacking your support, he would have lost the
election

(b) But for your support, he would havelost the
election

(c) Hewould have lost the election, ifyou had not
supported him

(d) No improvement

S.S.C. ¥ WK (Tier-I) ulen, 2011
TR (©)

In the absence of your support & §&al If you had
not supported him & TAFT IR Bl

525. Mvuncleis enoughrich to buy a ar.

(a) My uncle s rich enough to buy a car
(b) My uncle is richer enough to buy a car
(c¢) My uncleis enough richer to buy a car
(d) No improvement
S.S.C. ¥ W (Tier-I) e, 2011
TTN (a)

Enough FTWAF Adjedive 'rich' & 918 3feid STIH ol

526. Walking along theroad, an old man ran overthe

lorry.
(a) Walking along the road, an old man ran behind
the lorry

(b) Running along the road, the lorry ran over an
old man
(c) The lorry ran overan old man walking along
the road
(d) No improvement
S.S.C. & R (Tier-I) uen, 2011
SR (9

I B AT Aaiaid B gfte I i SugH Bl

527. We generally select one of the most intelligent
student of theschool for this awand.
(a) One of the most intelligent students of the
school
(b) One of the intelligent most students of the
school

(c) Oneofthe intdligent most studernt ofthe school

qIE & MDA T D AHA (a) o URAMT Fw
SRREN BT

528. My friend lives in a nearby street whose name I

have forgotten.
(a) The nameofwhich (b) Whichname
(¢c) Ofwhich name (d) No improvement
S.S.C. ¥% R (Tier-I) e, 2011
SR @)

A H R BT ATRFA Tal ol

529. Heboth won a medal and a scholarship.
(a) Hewon amedal and a scholarship both.

(b) Both he won a medal and a scholarship.
(¢) He won both a medal and a scholarship.
(d) No improvement
S.S.C. ¥% WX (Tier-I) e, 2011
FX (¢)

IE N Fel FH H I X AFd (c) I T 39

530. Hehas for good left Ind ia.
(a) Hehas leff for good India.
(b) Hehas left India for good.
(c) Good he has left India.
(d) No improvement
S.S.C. ¥ W (Tier-I) e, 2011

X (b)

39 1@ 3 fAFe (b) ¥ URRING =T 918

HIEYYT Td R 91T 2

531. We are credibly informed that the murderer has
given himself up.
(a) Weare informed that the murderer has credibly
given himselfup.

(b) We are informed that the murderer has given
credibly himselfup.
(c) Weare informed that credibly the murderer has
given up himself.
(d) No improvement
S.S.C. ¥ W (Tier-I) e, 2011
R d)

39 IR § R & Sl T4 o

532. Theincreasing sale of luxuries is an index of the
country's prosp erity.

(a) appendix (b) pointer

(d) No improvement (¢) mak (d) no improvement
S.S.C. ¥ WX (Tier-I) e, 2011 S.S.C. A SIRAT gdet, 2011
TR (a) SR )
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& ¥a@ifdd o5 'index' (YF® ; &) vowel i' A
R B § 3R FIA9ER a, €, 1, 0, u I URY M a1
T § Ug<l article 'an' I IR fHA1 9T B, o =9
A H GIR BT AaEd Tal gl

533. When are you starting to writeto your friend ?

(b) going
(d) no improvement

S.S.C. 7t iR adlern, 2011

(a) wanting
(c) thinking

X (b)
T IR going & YA ¥ AT HI IER WCIHRY B

534. If 1 wasyou I would notsign the document.

(a) IfI havebeen you (b) IfI wereyou
(c) IfT had been you (d) Noimprovement
S.S.C. 7 efReT adiem, 2011
SR (b)

TE TP AANG a0 § N IG@hd I & ' If T were
you' ¥ UfcRerfiE $RA FRAgaR Jaie 2l

535. I prefer toride than to walk.

(a) rideto walk (b) riding than walking

(c) ridingto wdking  (d) no improvement

S.S.C. 7t <iRe aiem, 2011

X (©)
ATE ¥ Prefr &1 TAM BN X than &1 SUAN -T2l 2 &

536. They were astonish ed through hisfailure in the

examination.
(a) from (b) at
(c) with (d) no improvement
S.S.C. Y SRS aen, 2011
SR b)

T W at 31 7AW FTHRE B

538. TheWomen's E mancipation Bill was sent backto
the Lok Sabha by the President for further
examinafion.

(a) further scrutiny (b) further reading
(c) further perusal (d) no improvement
S.S.C. Igh e W T (Tier-1T) 9diem, 2011
SR b)

Y@ifhd T B 'further reading' ¥ iR @R

RRFY Bl

539. The Finan ce Minister said thathe would work for
the impartial distribution of wealth.
(a) equitable (b) just
(c) fair (d) no improvement
S.S.C. Igh e W A (Tier-1T) adiem, 2011
TTX (a)

I UR 'impartial' & Gl 'equitable’ ¥ AGIRA &

AU 3 B

540. Will you lend mefewrupees in this hour of need ?
(a) borrow me a few rupees
(b) lend me any rupees
(¢) lend me a fow rupees
(d) no improvement
S.S.C. IgP e WA A (Tier-11) 9iem, 2011
S (9

Few rupees ¥ a9y Negligible 9 8 31Ud lend me a
fow rupees I TN 3 =l

541. After the heavy rains last week, the water in the
lake raised another two feet.

(a) would raise another two feet
(b) raise another two feet

(c) rose another two feet

(d) no improvement

S.S.C. Igh e W = (Tier-1T) wdiem, 2011

537. Theground waswet outsidewhen I gotup inthe
morning yesterday. It had beenraining allin the
night.

(a) rainedall in
(b) been raining all through
(c) raining all in
(d) no improvement
S.S.C. 9gw e WREA J& (Tier-1T) wan, 2011
SR (b)

'Through'%ﬁ = ¥ ﬁ[?ﬁf ELl H?IE{%E\@ T, ST
TUH

IR (€)

qIRY P IRIFRTHY ST WR & Ple 9a1, gl IR
passive voice & AN & JELIGAT el Bl

542. Unless you work hard, you will notpass.
(a) Aslong as you work hard
(b) Till you workhard
(¢) Until you work hard
(d) No improvement
S.S.C. Igh e W = (Tier-1T) wdiem, 2011
SR d)

39 a1 § GUR I Maedl el ol
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543. Theminister was removed froma key post.
(a) thrown out (b) rusticated
(c) ousted (d) no improvement
S.S.C. Ig™ Fe W g (Tier-11) wdien, 2011
SR (0

NEiibd RPN 'removed' ¢ ¥IF WR Verb 'ousted'
(Jeae o=, e <1, GRS oF) 31 TN
Sfaa 2l Verb 'oust' &1 I - BT Ug e W
I SaRA|

544. Audacity is the motherof invention.
(a) Tenacity
(b) Necessity
(c) Paucity
(d) No improvement
S.S.C. ¥gP e WA T (Tier-11) 9diem, 2011
S (b)

ARG MABR B ST 2, 3 I@iidbd 3T F
M WX 'Necessity' &1 TINT 3T B

545. Professionals must continuously improve their
skills.
(a) hone (b) fine tune
(c) explore (d) no improvement
S.S.C. 9gh e W 9= (Tier-1T) wdian, 2011
T (a)

N@iibd 37T B 'hone' (PRI @ FRaR AR W
TR F--11 SFIa B

546. Mr Raj has been asked tosubmit details of his tax
returns.
(a) give
(b) furnish

(c) disclose

(d) no improvement
S.S.C. Ig Fe W g (Tier-11) wdien, 2011
SR (b)

9138 ¥ 'live under the poverty line' % 39 T 'live
below the poverty line' ("R & & N3

S99 $R1) BT TIFT 3 2

548. Sinceweareliving in Bangaloreforfive years, we
arereluctant to move to another dty.
(a) Sincewe were living
(b) Being that we have been living
(c) Being that we living
(d) Sincewe have been living
S.S.C. Igh e W = (Tier-1T) 9diem, 2011
TR d)

qrdg Present Perfect Continuous Tense (Sub + have
been + verb + ing) ¥ BFI ARV | (RfF a7 |
Point oftime &7 TAFT f&a1 7/ B)!

549. Being too costly for him, he could not b uy the coat.

(a) It being too costly for him

(b) Hebeing too costly

(c) Being it too costly

(d) No improvement

S.S.C. IgP e W 7= (Tier-11) 9iem, 2011

SR (a)
Nifdd 31T 31 'It being too costly for him' ¥ FRRIMd
FAT Fel ® Wb Y@ifbd 39 F Sub 'it' FT IR T
e wrr el

550. No sooner has she agreed to marry him than she
started having terrible doub ts.
(a) She no sooner had agreed
(b) No sooner had she agreed

(c) No sooner did she agreed

(d) No improvement
S.S.C. IgP e W T (Tier-11) 9iem, 2011
TR (b)

No sooner had she agreed S&I TN &l

551.1 didn't need to water the flowers. Just after I

NGied 3BT B 'furnish' (TR IR) W IS SRRER o

547. More than 60percent of India's population live
underthe povertyline.

(a) live below the poverty line
(b) stay below the poverty line
(c) stay under the poverty line
(d) live beside the poverty line
S.S.C. Igh e W g (Tier-1T) wdian, 2011
TTX (a)

finished it started raining.
(a) Ididn't waterthe plants.
(b) Ineedn't water the plants.
(c) Ineedn't have watered the flowers.
(d) No improvement
S.S.C. IgP e W T (Tier-11) 9iem, 2011
TR (©)

ifhd 3T F 'I needn't have watered the flowers' &
A S R
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552. Heconplained of having tortured by the police.
(a) having been tortured
(b) tortured
(c) been tortured
(d) no improvement
S.S.C. Igh e WA g (Tier-11) wiem, 2011
ST (a)

@b 39 @1 'having been tortured' W TRRMIR
SIECR

553. The orphans havebeen damouring for nutritious
food fromthe pasttwoweeks.
(a) for past
(c) for the past (d) no improvement
S.S.C. Igh e WRA g (Tier-1T) wdian, 2011
TX (¢)

(b) since the past

ITE T GER & JMaIeeal Fal & W | B I e
so far, uptil now, ever UF g3 ?, d verb & form
Present Perfect Tense ¥ 2 T 94 fau W a& ¥ dq
¥ 5o far 3 T AN STF TS I have adopted 3T LSl
Present Perfect Tense # Bl Id: I YE =

557.1 grew up in atiny town called Alwar.
(a) aminute town (b) a humongous town
(c) asmall town (d) no improvement
S.S.C. AR (IS | wd L) e, 2011
TR (¢)

ifhd 3T Bl 'asmall town' I UfaRena a1 a1ed
P AH T 2

558. Heasked meif I had adisease.
(a) was unwell (b) is unwell
(c) have disease (d) no improvement

S.S.C. =R (s A’ Tl SYY) uden, 2011

N@ifed 39 & 'for the past' (Period of Time & forg
"for' &7 TRIRT i B) W ufavem sfad B

554. The good fortune of being vour studentin my
youngerdays has helped me greatly in my life.
(a) ofmy being your student
(b) of my myselfbeing your student
(c) ofmy having been your student
(d) no improvement

S.S.C. 9gw e WRA g (Tier-1T) wan, 2011
TR (©)

Ofmy having been your student J&] 731 g

555. He should not had doneit.
(a) should had not (b) should not have
(c) should have (d) should had
S.S.C. 3g e WK g (Tier-11) 9diem, 2011
SR b)

Modal auxiliary verb 'should' & Future Perfct form
H W 3fRa B

556. I will nowdeal with him in amanner differentfrom

theone I have adopted so far.
(a) 1 adopted
(b) I was adopting
(c) I havebeen adopting
(d) No improvement
S.S.C. Igh s WR g (Tier-1T) wdian, 2011
SR d)

SR d)

NEifhd qIERl H GuR 6 MavEddl el ol

559. The stud ent who will score themaximum marks,

will beawarded a certificate.

(a) who scares the maximum marks

(b) who would score the maximum marks

(c) who would be scoring the maximum marks

(d) no improvement

S.S.C. AR (IS | wd L) wdew, 2011

TR (a)

i Y@ifdd areRl $ 9% diel g Future Indefi-
nite Tense ¥ & ST NWifhd a@0i9 fA39d: Present

Indefinite Tense & BRI

560. She congratulated him on his success in the

examination
(a) about (b) for
(c) at (d) no improvement

S.S.C. =R (I /[’ wd ‘) e, 2011
SR d)

V@i qIERl H GuR & SMavddl el ol

561. The team has been practising from the past two
months.
(a) since the past (b) for the past
(c) for past (d) no improvement
S.S.C. R (IS | wd L) e, 2011
SR b)

Y@ifhd AT B for the past’ I TRRMT @R
SIECRY
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562. Her brother mayhave aged when shelastsaw him.
(a) since shelast saw him
(b) from when she last saw him
(c) bebre she last saw him
(d) no improvement
S.S.C. R (s A/’ Tl ‘IY) g, 2011
T (a)

VT I THE (a) A UCRAMNT S SRR Bl

563. She isreally looking forward to interact with the

po«t.

(a) looking forward for interacting

(b) looking forward to interacting

(c) looking forward towards interacting

(d) no improvement

S.S.C. =R (s /M wd ‘) v, 2011
SR (b)

Eed I @ BeE (b) ¥ IRRRINT A wEA Bl

564. Frank stood besideto Har1y.
(a) beside (b) besides
(c) besides to (d) no improvement
S.S.C. =R (I {/’ Td ) e, 2011
SN (a)

NEifhd 9T B TG beside' (¥ T H) A GG
Sl

565. If you putyour hearttoit, you willbea winn er.
(a) init (b) intoit
(c) onit (d) no improvement
S.S.C. wHaImmR (IS M wd L) wdew, 2011
ST (b)
T AR A into it' W TG FIWGR B
566. If Iwill go there, I shall buy thebook.
(a) I went (b) Ishall go
(c) Igo (d) No improvement
S.S.C. =R (s /M wd ‘) v, 2011
TR (©)

568. He pleased the directors and this completed his

reportin good time.
(a) He pleased the directors in good time and this

completed his report.

(b) He completed his report in good time and this
pleased the directors.

(c) He pleased the directors and completed his
report and this in good time.

(d) No improvement.

S.S.C. Fe WA usie, 2011
SR b)

I T RAKE 7 I TRIR B o oy fderes g

B NI 39 UGR Ig I BT & 5 Bl

569. Thecourtiers used to tdl the king how efidentan

administrator he was all day long.

(a) Thecouttiers all day long used to tell the King
how efficient an administrator he was.
(b) The courtiers used all day long to tell the King
how efficient an administrator he was.
(c) The courtiers used to tell the King all day long
how efficient an administrator he was.
(d) No improvement.
S.S.C. ¥ WA uier, 2011
SR (0

T a/ 3Rf BT ALHAT UG Rl § I fasad (c) o

TR 98 2l

A 'if' F AU IR g a7 B §RT Clause Future
Tense § 21 d 'If' Clause 9T Present Tense ¥ gl

570. Every Saturday I go out forshopping.

(a) for shops (b) to shopping

(c) for shop (d) No improvement.
S.S.C. ¥ WRIg g, 2011
SR d)

567. What do you forgo to school?
(a) For what do you go to school ?

(b) What do you go for to school ?
(¢) What do you go to school for ?

(d) No improvement.
S.S.C. ¥ WRIg g, 2011
T (©)

9 917 § YR & Tawad T8 2

what do you go to school for? &l a/®T 3l

571. Wehad a grand party and we enjoyed verymuch.

(a) Wehad a grand party and enjoyed very much.
(b) Wehad a grand party to enjoy very much.
(c) Wehada grand party sad we enjoyed ourselves
very much.
(d) No improvement.
S.S.C. Fe WA usie, 2011
TR (©)

S.S.C.
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7 B & enjoy & 918 Reflexive Pronoun &1 TaM
JMMaTTSF g b object el f&aT Bl 31 N@iidbd q@aa
¥ WM W 'we had a grand party and we enjoyed
ourselves very much' g I 2l

572. Toget into the building I'll disguise as a reporter.
(a) disguise to be (b) disguise as one

(c) disguise myself (d) No improvement

S.S.C. FIe W g, 2010

TN (©)

Y@ifhd WRT 'disguise’ & UM TR 'dis guise my self
' WM 3T B 'Disguise’ 31 3R} BH A gRI
I BT B

573. Hedenied that he had not forged my signature.
(b) had forged

(d) No improvement

(a) would not forge
(c) did not forge
S.S.C. FIe W g, 2010
IR b)

NEiHd HRT &SRO 9@ &1 919 'double negative' &
w0 ¥ udHc B QB Sl T § RS arRRe 7 8
T®d negative (denied) @1 T Eﬁﬂjﬂ 2l 3 @i
AN $ M W 'had forged' &7 TAFT 3fd Bl

574. If 1 had played well,  would have won thematch.
(b) Iplay well

(d) No improvement

(a) Iplayed well
(c) ITamplayingwell
S.S.C. e W< gdien, 2010
SR @)

IR H IR T FaRFA Tal ol

575. Since the records aremissing, the possibility of
paying more than one compensation for the same

pieceof land cannot be ruled aside.

(a) out (b) off
(c) away (d) No improvement
S.S.C. ¥ wXH gdien, 2010
SR @)

qR F GBI 9 ‘aside’ BT 3R TH IR BR, AFT
T B % 3Qdd 9 % WH IR 'out’ BT TANT T B

576. A callous system generates nothing but a
misanthrope.
(a) develops (b) induces

(d) No improvement

S.S.C. e W< g<len, 2010

(¢) produces

TR (©)

SR IIEIRT & N@iidd 9T 3RITT 'generates’ & SIF

U produces @1 T Sfa 2l
577. The brown shirt wants washing.

(a) hasto wash
(b) is in need to a wash
(c) requires a wash
(d) No improvement
S.S.C. e W uie, 2010
ST ()

39 Wibd qIEIRT § UM TR 'requires a wash' B
T SUYh &l
578. You areasked to copy this lettar word by word.

(a) word for word
(b) word with word
(¢) word to word
(d) No improvement
S.S.C. e W 9iem, 2010
TR (@)

9 Y@iibd arE B 'word for word' ¥ dorgT SfAd
2l 'word for word' T I BT T— TSI

579. The weak man is aslave to his sensuous pleasures.
(a) sensory (b) sensual

(c) secondary (d) No improvement

S.S.C. e W uie, 2010

QTR (b)

39 NEied iRl § WM R 'sensual' (SAAGY,
v, ATIRP) Teg &1 UIRT A6 BT S I 2

580. Obviously heisn't cutup o be a good teacher.

(a) cut out (b) cutin
(¢) cut for (d) No improvement
S.S.C. ¥ W 9iem, 2010
TTX ()

39 @ifhd AT 3 'cut out 3RIW 'specially fitted to
be' I URINT BT SRRAR Bl
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581. Power got with money is the mostcraved for today.
(a) sought afer
(b) wished for
(c) welcomed for
(d) No improvement
S.S.C. e WRE gter, 2010
SR d)

Tg Wb aredie ey B AHAT UG ) @l Bl
3 IR Bl MawEd Tal gl

582. 1 sent him a letter to reurn the car by registered

585. They takether children foradrive in the charming

coun tryside around Bangalore always.

(a) They take their children for a drive always in
the charming countryside around Bangalore.
(b) They take their children always for a drive in
the charming countryside around Bangalore.
(¢c) They always take their children for a drive in
the charming countryside around Bangalore.
(d) No improvement
S.S.C. Tax Asst. T<ET, 2007
TR (©)

post.
(a) Isenthim aletter by registered post asking him
to return the car
(b) Isent by registered post him a letter to return
the car
(c) Isent him a letter by registered post to return
the car.
(d) No improvement
S.S.C. Tax Asst. USET, 2007
TUx ()

e qred B ERAT Fe Tl & o9 a1 1 el 59
faweu (a) BT

583. Coveral with grease, the watar did notseemunduly

cold to the swimmer.

(a) As he was covered with grease, the water did
not seem unduly cold to the swimmer.
(b) As it was covered with grease, the water did
not seem unduly cold to the swimmer.
(c) As it was covered with water, the grease did
not seem unduly cold to the swimmer.
(d) No improvement
S.S.C. Tax Asst. USET, 2007
TUx (@)

e 'covered with grease & Ugel 'As he was' F1 TN
St =l

584. The old woman gaveher dog biscuits.
(a) The old woman gave biscuits to her dog.

(b) The old woman was given biscuits by her dog.
(c) She gavethe old woman dog biscuits.

(d) No improvemert.
S.S.C. Tax Asst. T<eT, 2007
TTX ()

33 I T HReT §RT dog @ Biscuits BRI 701E 716 dog |

I H e FH AP (¢) T B

586. Toprevent head cads, use anebulizer to sprayinto
your noseuntilitdrops down into your throat.

(a) To prevent head colds, use a nebulizer to spray
into your nose until the drug drops down into
your throat.

(b) To prevent head colds, use a nebulizer to spray
into your throat until it drops down into your
nose.

(c) To prevent head colds, use a nebulizer to spray
into your nose until your throat drops down
intoit.

(d) No improvement.

S.S.C. Tax Asst. U<eT, 2007
TR ()

I H 'it' F WUF W 'the drug' A D1 JAYU G1T B
G & nebulizer AT it' T& S Ifed 9
'nebulizer' ¥ ¥RI g8 eIl 'the drug' 1% 3 ST

587. My father lives on Delhi.
(a) in Delhi (b) atDelhi
(c¢) insideDelhi (d)  Noimprovement
S.S.C. C.P.O. u<E, 2010
S (a)

9T § TR 'on Delhi' & 1 OR 'in Delhi' &1 907
Sferd BF Ifd el Ta a1 WM 21 gl B9 |
PTG AT O™ A Bl ST 'in' (Prepositi on) &
TR Faiferd greml

588. He will come instantaneously.
(a) just now (b) presently

(c) instantly (d) No improvement.

S.S.C. C.P.O. u<e, 2010

FTX ()

39 G IR § WM W 'instantly'  (TFH) FT
TR S grl

S.S.C.
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589. Thestrong breee blew his hat away.

(a) Thestrong air

(b) The strong breath

(c) Thestrong wind

(d)No improvement

S.S.C. C.P.O. u<H, 2010

TR (¢)
Breeze strong & Bkl gl <MY <ol BT H BT S AHA!
H

590. The Japanese are hardly workin g people.

(a) ahard working people
(b) a hardly working people
(c) hard working people
(d) No improvement
S.S.C. C.P.O. u<e, 2010
S (c)

@ifhd aTedel & I U 'hard working people R

591. The monkey was seated at the foot of a tree.

(a) bottom (b) end
(c) root (d) No improvement
S.S.C. C.P.O. 938, 2010
S (a)

G AT oot' F M TR 'bottom' (¥el) BT TART
Sfaa gl

592. I complimented Raju for his promotion.

(a) with (b) on
(c) about (d) no improvement
S.S.C. Sedion off. a<¥EN, 2006
SR b)

WAfed ITHI & IFF U preposition 'on' a1 RAFTSHAT BNl
593.Thefood tastes deliciously.

(b) delicious

(d) no improvement
S.S.C. Section off. Tk, 2006

(a) delicacy
(c) badly

SR b)

39 9@ ¥ 'deliciously’ TRE &1 WA IGRAT & RTH
Transitive verb (¥&H& A1) 'Tastes' $ 3T object
(PRS) BT BF JAH Bl gl 3d: 'delicious' BT TAFT
3T B

594. I have seen much of the plays of Shakespeare
acted.

(a) a ow (b) many
(c) most (d) no improvement
S.S.C. Section. of f. Tie1, 2006
SR b)

39 Y@ Y § I TR 'many’ &1 TR T 2

595. I have bought this house in 1970 for Rs. Two
Lakhs.

(a) had bought
(b) bought
(c) have been bought

(d) no improvement
S.S.C. Sedion off. I¥ET, 2006

SR (b)

I bought T WA 3 BFTI

596. Thechild died from jaundice.

(a) with (b) of
(c) by (d) no improvement
S.S.C. Sedion off. a<EM, 2006
SR (b)

39 V@b TG F WM TR Preposition 'of F1 TR
Sfra Bl

597. I will phone you afterl shall arrive.
(a) afier I shall havearrived
(b) afferI arrive
(c) afferI amrived
(d) no improvement
S.S.C. Section off. I, 2006
SR b)

after I arrive 31 T2 St 2FT

598. It's high time you cometoa decision.

(b) had come

(d) no improvement
S.S.C. Sedion off. T<ET, 2006

(a) came

(¢) have come

TN (a)

came I TAT ST 2RI

S.S.C.
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599. She teaches us grammar, isn't it ?

(b) doesn't she?

(d) no improvement
S.S.C. Sedtion off. T<&N, 2006

(a) isn't she?

(c) doesn't it?

39 919 # 'was working' & I WX 'has been working'
1 TN Sf@ B P Fg 9T Present Perfct

Continuous Tense ¥ gl

qIFT § IQfdd e 'isn't it' B ¥ IR doesn't she BT
A St 2l

600.The struggle for independence is gaining
movement everyday.
(a) motion (b) movement

(d) no improvement

S.S.C. Sedion off. T¥ET, 2006

(c) momentum

TR (©)

TR T @B Tg 'movement’ I WAV I &I 7
9oP SUP WIF TR 'momentum’ R ‘TR’ I WA
Sfaa grml

601. Sheis quite without affection and has no false
pride.
(a) admimation (b) affliction
(c) affectation (d) no improvement
S.S.C. Sedion off. T<E, 2006

X (©)

‘afectation' 3RIT @@ @ I 1 wAW 9rEd B
IRANT BN B

602.Did there bus comeon time ?
(a) their's (b) theirs
(c) their
S.S.C. W@ TR IS (10+2) W uier, 2010
X (¢)

(d) No improvement

604. Every morning I getup at 4 O' clodk, but today I get
up at7 O' dock.
(a) gotup
(c) am getting up
S.S.C. ¥ga AR IBUS (10+2) R uien, 2010
SW (a)

(b) was getting up

(d) No improvement

get F I WX got B TIRT IUYcH B

605. Most children areliking ice-cream.

(a) likes (b) like

(c) wereliking (d) No improvement
S.S.C. WgH AR ABUS (10+2) WA ter, 2010
S b)

9 19 ¥ 'are liking' & 3TN TR 'like' T WM 34 R

39 18 | 'there & M WR 'their' ¥ WIFT ST 2l

606. Supposingif he comes, what should Ido ?

(a) Ifhe comes

(b) Incase he will come

(c) In the event ofhis being come

(d) No improvement
S.S.C. ¥gH AR ABUS (10+2) WA Ther, 2010
TR (a)

Ifhe comes &1 TN IuYh BFTI

607. All the candidates will give ateston Friday.
(b) take

(d) No improvement

(a) appear

(c) accept
S.S.C. IgH AR JBusI (10+2) W ger, 2010
S (b)

603. Mayank was working overtime for the last two
weeks.
(a) is warking
(b) is being working
(c) has been working
(d) No improvement
S.S.C. ¥ga AR IS (10+2) R wder, 2010
TR (c)

I H G Hd TS 'give' F I TR 'take’ I BT AN
I B

608. He was so afraid that his knees knocked one
another.
(a) one against
(c) both
S.S.C. g gRR AFos (10+2) W uder, 2010
SR b)

(b) each other

(d) No improvement

S.S.C.
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qIE H GPT I 'one another' F IIF R each
other T T 3f@ 2l

609. She had read Oliver Twist when she had been
fourteen years old.
(a) had become
(b) has become
(c) was
(d) No improvement
S.S.C. ¥gw AR JFUs (10+2) W uter, 2010
X (¢)

IEifdHd oeg &b WM R 'One another' & WIRT
3fer@ 811 R$ 'Each and other' &1 TRANT 31 =IHIT
&% fau & 11 ® S19: 'one another & WANT
gder 3o 2

613.Nisha is more funnier than Natasha.
(a) funnier (b) funniest
(c) quite fanny (d) No improvement

S.S.C. ¥ga AR IBUS (10+2) R uien, 2010
TR (a)

e § N@iibd 9% 'had been' & ¥ TR 'was' BT TN
Sfra Bl

610. Children like to eat sweets, isn't it?

(a) dothey ? (b) isit?

(c) don't they ? (d) No improvement
S.S.C. ¥ga TR JFvS (10+2) TR wder, 2010
TX (¢)

VR 3 % ®H W 'Funnier & TAF GRN Sk
=l

614. Either Vijay or Vimal are going to beselected for
thematch.
(a) has (b) is
(c) have been (d) No improvement

S.S.C. ¥ga AR IBvs (10+2) Wi uien, 2010

STg 1 TR BT U UATEd 99 g O R # Afg
T I FIRIG g ol TeHarad THRIAS arTl GRl
€I 9= Plural number ¥ g ol S fT “it” & 9o
‘they’ &1 R SR Bl

611. He took disadvantage of the situation and cheated
many people.
(a) chance (b) advantage
(c) disapproval (d) No improvement

S.S.C. U@ AR IS (10+2) W uler, 2010
W b)

e H NEiTdd 96 'dis advantage' (1) % I U
'Advantage' ‘<49’ @1 N Sfid § @i aRRefT
P ¥ (Advantage) SoTal W@l g <1 f& gify

(disadvantage)l

612. The office staff members wished eachand otheron
New Year's Day.
(a) one other (b) one another
(c) each another (d) Noimprovement

S.S.C. W@ TR IHUSY (10+2) W uier, 2010
SR (b)

SN (b)

“Either- or’ &1 AN 8 R UdHdad & &l & I TH
Jo B G fHAT ‘is’ I TART IUYH @

615. Myuncle presented me the more ex pensivewatch.
(a) much (b) mere
(c) most (d) Noimprovement

S.S.C. WgH AR ABUS (10+2) WA gher, 2010
TR (©)

'more' (comparative degree) 1 TN &1'F 1 B ol
F fou fHar S ® 6 I8 N e 7 uSr %
T Superlative degree 'most' T TR 3 gr I

616. The two brothers shared the property beside

themselves.
(a) among (b) between
(c) amidst (d) No improvement

S.S.C. WgH AR JBUS (10+2) WA uter, 2010
TR (b)

1 & 9/ share H T I¥G F Y between' 1 WA
SUYH B

S.S.C.
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617. Both the mother-in-laws welcomed the newly weds
with garlands of flowers.
(a) mothers-in-laws (b) motherin-law

(c) mothers-in-law (d) Noimprovement

S.S.C. (STe1Tgl JmRex) g, 2009
TR (©)
NGB TR S YIH TN Mothers-in-law’ &1 TIFT RGN

T TG 99 # <1 W™ F1 JUA ¢ 359G Y Igaad
T TN T B

618. Theworkers looked run down.
(a) happy (b) relaxed
(c) exhausted (d) No improvement
S.S.C. (STe1 gl JmRex) g, 2009
ST (0)

NEifdd I B “exhausted’ I ufoRenfa s Sfud
2l ‘run down’ @ dIGY ‘in a low state of health’
(tired) 31 B

619. Thereatives comforted theold man whosewife

had died.

(a) sympathized with

(b) pitied

(c) consoled

(d) No improvement

S.S.C. (STe1 g JERex) g, 2009

TR (©)

YEihd qIER 'was broadcasted” $ ¥IF WX 'was
broadcast’ &1 YA 3T 1 Verb broadcast &1 I
AN I form T 24 8, 31 'was broadcasted' &
M TR 'was broadcast' &1 TA Ifad BRI

622. He was released from the hospital yesterday.
(a) let out (b) discharged
(¢) dismissed (d) No improvement
S.S.C. (STl Jmex) ydien, 2008
SR b)

NEifhd A (released) & I UR 'discharged' &1 WIRT

I N IRIG 1T 2l

623. The cdours softened as the sun wentdown.
(a) brightened
(b) deepened
(c) mellowed
(d) No improvement
S.S.C. (STl Tdl JMRex) e, 2008
TR (¢)

YGihd AR (soffened) & %M R 'Mellowed' (sof
and rich in colour) &1 TN IUYH &l

NGB AT H UGeh I “combrted” F WM W “con-
soled’ &7 TN SRRAY 2

620. They obtained the top-secretin formation by wrong

means.
(a) clever (b) fraudulent
(c) bad (d) No improvement
S.S.C. (STe1 Ugl JMReR) gde, 2009
SR b)

624. Thenew manager is soft-spoken and is consider-

able to all.

(a) conceited

(b) considerate

(c) constricted

(d) No improvement

S.S.C. (STl Tl JmRex) e, 2008

SR b)

TYch N ¥Rg 'considerable’ & IR 'considerate’
SRIG ‘&M Y@ ardl’ Wk B WAM A1 I HIed
ERIGIR

Wrong & %19 WX fraudulent &1 TA 3 gF

621. His speech was broadcasted over the radio last

Thursday.

(a) was broadcast

(b) had been broadcast

(c) has been broadcast

(d) No improvement

S.S.C. (STe1 gl JmRex) g, 2009

TUx (a)

625. He hanged his portraitin themain hall.
(a) hang (b) hung
(c) had hanged (d) No improvement
S.S.C. (STer Ul 3mRex) uen, 2008
SR b)

@GP 2T 'hanged' § M TR ' hung' &1 AT
ST B

S.S.C.
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626. Wewere unable tocal on you because of the rains.

(a) help (b) invite
(c) visit (d) No improvement
S.S.C. (SE1 g} ImRe) Tda, 2008
SR @)

S 9188 ¥ Phrase 'call on' 1 TR 918 & IR Fel
T 3 9T H GUR B ravadl Tal gl

627. Thework you have submittedis not tothe mark.
(a) As the (b) Fromthe
(c) Upto the (d) No improvement
S.S.C. RAIHR g, 2010
ST (¢

Up to the 3T TAFT 3T Bl

628. Itis important not towonry.

(a) Todon't worry
(b) To not worry
(c) Don't worry

(d) No improvement

S.S.C. RAmmR gdian, 2010
SR d)

39 91 § YR & el T8

629.Theproblems of traffic aowding will notdisappear
soon.
(a) congestion (b) concentration
(c) intensification (d) No improvement

S.S.C. AR gdian, 2010
TTX (a)

congestion T TAFT 3fd Rl
630. Likeforexample, a postofficecan have a customer

care centre.
(a) Forexample (b) Like example
(d) No improvement

S.S.C. R gdian, 2010

(c) Foran example

TTN (a)
For example &1 TaI 3fed gl

631.His brother neverhas and never will be depend able.
(a) Never had (b) Never has been

(¢) Was never being  (d) Noimprovement

S.S.C. R gsien, 2010
TR b)

‘never has been’ &7 TIF SR 2l

632. The advan cements in medical science has proved
tobe aboon forall of us.
(a) has proven (b) had proven

(d) No improvement

S.S.C. =AY g, 2011

(c) have proved

TR (¢)

have proved & TART 3fad ¥ FAfb Subject 'advance-

ments' Igaa 4 gl

633. Educational facilities in und erdeveloped nations
areoften limiting.
(a) limited (b) limitless

(c) ddimiting (d) No improvement

S.8.C. AR uien, 2011

SR (a)

Nied oeg H 'limiting' 1 TN Sfad T 90 3%

I WX 'limited' &1 TR S8R I

634. Dodtors areknown for their illegible hand writing.
(a) indigible

(b) eligible

(c) incorrigible 1

(d) No improvement
S.S.C. wAImHR e, 2011
STX d)

39 a1 H GUR & Il Tal ol

635. He cited a number of reasons for his absence.
(a) sited (b) recited
(c) sighted (d) No improvement
S.S.C. AR gdien, 2011
R d)

39 a1 H GUR & Mavedl Tal ol

636. He received many praises for his latest invention.
(a) great many praises
(b) much praise
(¢) too much praises
(d) No improvement
S.S.C. AR gdien, 2011
SR b)

"Praise’ & Ul Adj of quality FT TN IRIT &1 Bl *1ch:
"Praise' $ Igol Much 1 TRFT IRIT 2

S.S.C.
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637. Hemaybe p cor nowbuthe appearstobe rich.

(b) rich to be

(c) to have beenrich  (d) Noimprovement
S.S.C. Tax Asst. T<eT, 2009

(a) to seem rich

Siad(i)

39 91 § YR & el 1o 2

638. The suspected couple was taken away from theair-
portthrough a side entrance to the p olice station

forinterrogation.
(a) whisked (b) rushed
(c) guided (d) No improvement
S.S.C. Tax Asst. T<eT, 2009
SR @)

642. Thave notfinished topaint the door.
(a) painting (b) the paint of
(c) the painting (d) Noimprovement

S.S.C. wed) <fRbT adien, 2011
TN @)

@A AN § I TR 'painting' FT AN IR R

643. She usually does not leave for work, until she
finished all her chores.
(a) finishes
(c) had finished

(b) has finished

(d) No improvement
S.S.C. #ed) ST uter, 2011
TN @)

g6 MM F ¥ TR 'whisked' 3RIT *remove swifly';
taken away quickly and suddenly 3Rf@ gil ¥ o
ST B TR g

639. Sheleft the room feeling contrite.
(a) sorry for what she had done
(b) ratherill
(c) extremelyirritated
(d) No improvement
S.S.C. Tax Asst. U<ET, 2009
AN d)

S QR B gead el Bl

640. The transport workers have organised a strike

asking for more salary.
(a) demanding
(b) begging
(c) requesting
(d) No improvement
S.S.C. Tax Asst. U<ET, 2009
TTX (@)

VEifhd AN 6 I U 'demanding' 3RI ‘A FAT
31 M 9 B

641. The only way to solve the racial problem is by

education.

(b) thanks to

(d) No improvement
S.S.C. Tax Asst. T<eT, 2009

(a) because of

(c) on account of

SR d)

Nifbd AN % M WX finishes 31 7AW 98 2

644. Thearficle should not exceed morethan hundred

words.

(a) exceed beyond

(b) exceed than

(c) exceed

(d) No improvement

S.S.C. #e<t <SfRa Ttem, 2011

TR (©)

GiHd AT B 'exceed' ¥ RN a1 SUYH gl
‘exceed’ B I BIT B, W % Bl

645. Geetasaid thatshehad neverviewed acioss abook
sheliked somuch.
(a) come across (b) come through

(c) comeround (d) No improvement

S.S.C. T <iRp gdiem, 2011
TN @)

VEfHd W7 $ W TN 'come across' BT TR
e gl

646. Dueto emergency conditions, the army was asked
tostand up.

(a) stand out (b) stand in

(c) stand by (d) Noimprovement

S.S.C. A SR gian, 2011
SR d)

39 1@ H GuR S IEeIHAl &l o

I H GIR B MaTEA Tal Bl

S.S.C.
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